

APP-CSE 2022 FORM  
ANNUAL PROCUREMENT PLAN - COMMON-USE SUPPLIES AND EQUIPMENT (APP-CSE) 2022 FORM

**Introduction:**  
This form contains the common-use supplies and equipment (CSE) carried in stock by the Procurement Service – Department of Budget and Management (PS-DBM) that may be purchased by government agencies. Consistent with the DBM Circular No. 2018-10 dated 08 November 2018, the APP-CSE shall serve as the agency's annual procurement request for all its CSE requirements. Only agencies with uploaded APP-CSE in the Virtual Store will be able to purchase CSE from the PS-DBM. Note that the items listed on this form have been arranged in accordance with the United Nations Standard Products and Services Code (UNSPSC) in preparation for integration of the APP-CSE template in the Modernized Government Electronic Procurement System (MGEPS).

- Annexes:**
- 1.0 The APP-CSE form must be accomplished using Microsoft Excel format. The APP-CSE shall be deemed incorrect or invalid if the form used is other than the prescribed format which is downloadable from the Virtual Store.
  - 2.0 All information must be provided accurately.
  - 3.0 Kindly refer to the CSE catalogue on the PS-DBM website ([www.ps-philsops.gov.ph](http://www.ps-philsops.gov.ph)) for the detailed technical specifications and sample photo of the items.
  - 4.0 Do not delete, add, or revise any items or rows on the PART I of this template otherwise the form will be deemed invalid.
  - 5.0 Additional rows for other items may be inserted in PART II, if necessary. Note that this is only available in the PART II of the form.
  - 6.0 Once signed and approved by the Property/Supply Officer, Accountant/Budget Officer, and Head of the Agency/Office, kindly upload the soft copy of the APP-CSE in Microsoft Excel format as well as the original signed copy in Portable Document Format (PDF) to the agency's Virtual Store account on the PS-DBM website.
  - 7.0 Should there be changes in the agency's CSE requirements, the agency may edit their uploaded APP-CSE directly on their Virtual Store account. However, the agency must ensure that a signed and approved copy of the supplemental APP-CSE form is available. Note that all CSE requirements in excess of the quantities indicated in the original APP-CSE form will not be served if not covered by a supplemental APP-CSE.
  - 8.0 For further assistance or clarification, agencies may contact the Marketing and Sales Division of PS-DBM at (02) 8-689-7750 local 4004, 4005, 4019, or visit the PS-DBM website ([www.ps-philsops.gov.ph](http://www.ps-philsops.gov.ph)) for the guide on how to fill-out the APP-CSE.

Note: Consistent with Memorandum Circular No. 2021-1 dated 03 June 2021, issued by AO 25, the APP-CSE for FY 2022 must be submitted on or before **31 August 2021**.

Department/Bureau/Office: CITY GOVERNMENT OF TAGUIG Agency Code/UACS: \_\_\_\_\_  
 Region: National Capital Region Organization Type: \_\_\_\_\_  
 Address: \_\_\_\_\_ Contact Person: ATTY. LYLE C. PASCO  
 Position: City Administrator  
 E-mail: \_\_\_\_\_  
 Telephone/Mobile Nos: 555-7800

Item # Specifications	Unit of Measure	Monthly Quantity Requirement																Total Quantity for the year	Price Catalogue (as of 30 April 2020)	Total Amount for the year						
		Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct				Nov	Dec	Q4	Q4 AMOUNT		
<b>PART I. AVAILABLE AT PS-DBM (MAIN WAREHOUSE AND DEPOTS)</b>																										
<b>PESTICIDES OR PEST REPELLENTS</b>																										
1	10191509-IN-ACS	INSECTICIDE, aerosol type	can	125	79	81	285	39,717.60	88	79	81	248	34,561.28	89	79	81	249	34,700.64	87	79	80	246	34,282.56	1,028.00	139.36	140,262.08
<b>PERFUMES OR COLOGNES OR FRAGRANCES</b>																										
2	53131626-HS-MS	LIQUID HAND SANITIZER, 500ml	bottle	289	126	130	545	82,529.35	287	128	129	544	82,377.92	287	127	129	543	82,226.49	288	126	129	543	82,226.49	2,175.00	151.43	329,360.25
<b>ALCOHOL OR ACETONE BASED ANTISEPTICS</b>																										
3	12191801-AL-MS	ALCOHOL, Ethyl, 68%-72%, 500 ml	bottle	2894	58	58	3010	200,345.60	2894	58	58	3010	200,345.60	2394	58	58	2510	167,065.60	2394	58	58	2510	167,065.60	11,040.00	86.58	734,822.40
4	12191801-AL-MS	ALCOHOL, ethyl, 68%-72%, 1 Gallon	gallon	589	81	83	753	292,103.76	587	83	81	751	291,327.92	589	81	83	753	292,103.76	587	83	81	751	291,327.92	3,008.00	387.92	1,196,803.36
5	53471901-AL-MS	ALCOHOL, Isopropyl, 68%- 72%, 500ml (-5ml)	bottle	165	43	43	251	10,938.58	165	43	43	251	10,938.58	165	43	43	251	10,938.58	165	43	43	251	10,938.58	1,004.00	43.58	43,754.32
6	53471901-AL-MS	ALCOHOL, Isopropyl, 68%-72%, scented, 3.785 liters	gallon	63	40	37	140	63,700.00	61	42	35	138	62,790.00	63	40	37	140	63,700.00	61	37	40	138	62,790.00	556.00	453.00	252,846.00
7	53471905-PO-MS	POVIDONE IODINE, 10 % solution, 120 ml	gallon	11	2	2	15	3,116.25	11	2	2	15	3,116.25	11	2	2	15	3,116.25	11	2	2	15	3,116.25	60.00	207.75	12,465.00
<b>COLOR COMPOUNDS AND DISPERSIONS</b>																										
8	12171703-ES-MS	INK, for stamp pad	bottle	290	35	38	363	11,441.76	201	34	34	269	8,478.88	258	41	36	335	10,559.20	186	36	32	254	8,006.08	1,221.00	31.52	38,485.92
<b>FILMS</b>																										
9	13111201-AC-MS	ACETATE	roll	21	5	5	31	26,282.42	9	5	5	19	16,108.58	9	5	5	19	16,108.58	9	5	5	19	16,108.58	88.00	847.52	74,808.18
10	13111201-CP-MS	CARBON FILM, A4	box	77	40	45	162	35,802.00	41	40	45	126	27,846.00	42	45	45	132	29,172.00	41	40	45	126	27,846.00	546.00	221.00	130,866.00
11	13111201-CP-MS	CARBON FILM, legal	box	83	41	45	169	35,239.88	44	41	45	130	27,107.60	45	46	45	136	28,358.72	44	41	45	130	27,107.60	565.00	208.52	117,813.80



PAPER MATERIALS AND PRODUCTS																										
12	14111525-CA-A01	CARTOLINA, assorted colors	pack	132	10	12	154	12,892.88	35	10	12	57	4,772.04	132	10	12	154	12,892.88	31	10	13	54	4,520.88	419.00	83.72	35,078.68
13	14111506-CF-L11	COMPUTER CONTINUOUS FORM, 1 ply, 280 X 241mm	box	24	0	0	24	21,181.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	882.55	21,181.20
14	14111506-CF-L12	COMPUTER CONTINUOUS FORM, 1 ply, 280 X 378mm	box	24	0	0	24	24,710.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	1,029.60	24,710.40
15	14111506-CF-L22	COMPUTER CONTINUOUS FORM, 2 ply, 280 X 378mm	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,528.80	0.00
16	14111506-CF-L21	COMPUTER CONTINUOUS FORM, 2 ply, 280 X 241mm	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	906.36	0.00
17	14111506-CF-L31	COMPUTER CONTINUOUS FORM, 3 ply, 280 X 241mm	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	884.00	0.00
18	14111506-CF-L32	COMPUTER CONTINUOUS FORM, 3 ply, 280 X 378mm	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,508.00	0.00
19	14111609-LL-C01	LOOSELEAF COVER, legal	bundle	11	10	10	31	24,643.76	11	10	10	31	24,643.76	11	10	10	31	24,643.76	11	10	10	31	24,643.76	124.00	794.96	98,575.04
20	14111514-NP-502	NOTE PAD, stick on, 50mm x 76mm (2" x 3") min	pad	328	58	62	448	16,502.88	328	53	53	434	16,084.04	328	53	57	438	16,232.28	328	53	53	434	16,084.04	1,754.00	37.06	65,003.24
21	14111514-NP-504	NOTE PAD, stick on, 76mm x 100mm (3" x 4") min	pad	428	87	89	604	35,805.12	164	87	87	338	20,036.64	428	87	89	604	35,805.12	164	87	87	338	20,036.64	1,884.00	59.28	111,883.52
22	14111514-NP-503	NOTE PAD, stick on, 3" x 3"	pad	98	82	91	271	14,655.68	98	62	87	247	13,357.76	98	82	91	271	14,655.68	98	62	87	247	13,357.76	1,036.00	54.08	56,026.88
23	14111514-NB-501	NOTEBOOK, stenographer	piece	97	116	76	289	3,479.56	67	46	46	159	1,914.36	97	116	46	259	3,118.36	67	46	46	159	1,914.36	866.00	12.04	10,426.64
24	14111507-PP-M01	PAPER, MULTICOPY, A4, 80 gsm	reams	668	563	578	1809	247,217.94	668	563	578	1809	247,217.94	668	563	578	1809	247,217.94	668	563	578	1809	247,217.94	7,236.00	136.66	988,871.76
25	14111507-PP-M02	PAPER, MULTICOPY, Legal, 80gsm	reams	678	563	588	1829	233,581.59	678	563	578	1819	232,304.49	678	563	568	1809	231,027.39	678	563	568	1809	231,027.39	7,266.00	127.71	927,940.86
26	14111507-PP-C01	PAPER, Multi-Purpose, A4, 70 gsm	reams	1069	1049	1069	3187	313,154.62	1069	1049	1069	3187	313,154.62	1069	1049	1069	3187	313,154.62	1069	1049	1069	3187	313,154.62	12,748.00	98.26	1,252,618.48
27	14111507-PP-C02	PAPER, multi-purpose, legal, 70gsm	reams	1908	1888	1938	5734	675,249.64	1908	1788	1938	5634	667,403.64	1188	1068	1088	3344	396,130.24	1218	1268	1088	3574	423,376.04	18,286.00	118.46	2,166,159.56
28	14111531-PP-R01	PAD PAPER, ruled	pad	137	83	81	301	8,765.12	137	83	81	301	8,765.12	137	83	81	301	8,765.12	137	83	81	301	8,765.12	1,204.00	29.12	35,060.48
29	14111503-PA-P01	PAPER, parchment	box	187	116	129	432	42,357.60	179	114	129	422	41,377.10	162	107	112	381	37,357.05	162	107	112	381	37,357.05	1,616.00	98.05	158,448.80
30	14111618-TH-P02	Thermal Paper, 55GSM (-5%) ,1/2 Core, 216mm x 30m	roll	56	0	0	56	3,115.84	56	0	0	56	3,115.84	56	0	0	56	3,115.84	56	0	0	56	3,115.84	224.00	55.64	12,463.36
31	14111531-RE-B01	RECORD BOOK, 300 PAGES, size: 214mm x 278mm min	book	490	312	308	1110	78,499.20	382	292	273	947	66,971.84	498	322	278	1098	77,650.56	376	286	267	929	65,698.88	4,084.00	70.72	288,820.48
32	14111531-RE-B02	RECORD BOOK, 500 PAGES, size: 214mm x 278mm min	book	486	288	299	1073	109,380.16	383	301	271	955	97,333.60	474	288	269	1031	105,079.52	377	265	265	907	92,441.44	3,966.00	101.92	404,214.72
33	14111704-TT-P02	TOILET TISSUE PAPER, 2-ply, 100% recycled	pack	422	264	314	1000	86,840.00	386	264	314	964	83,713.76	386	264	314	964	83,713.76	381	259	309	949	82,411.16	3,877.00	86.84	336,678.68
34	14111704-TPFT01	TISSUE, interfolded paper towel	pack	107	89	87	283	9,859.72	173	89	87	349	12,159.16	173	89	87	349	12,159.16	166	82	80	328	11,427.52	1,309.00	34.84	45,605.56
35	14111704-TT-P04	TOILET TISSUE PAPER, Interfolded Paper Towel	pack	474	124	124	722	24,403.60	144	124	124	392	13,249.60	474	124	124	722	24,403.60	141	121	121	383	12,945.40	2,219.00	33.80	75,002.20
BATTERIES AND CELLS AND ACCESSORIES																										
36	26111702-BT-A02	BATTERY, dry Cell, size AA	pack	819	413	418	1650	59,895.00	810	413	418	1641	59,566.30	808	413	418	1639	59,495.70	808	413	418	1639	59,495.70	6,569.00	36.30	238,454.70
37	26111702-BT-A01	BATTERY, dry Cell, size AAA	pack	733	413	452	1598	31,528.54	496	443	422	1361	26,852.53	526	413	452	1391	27,444.43	496	443	422	1361	26,852.53	5,711.00	19.73	112,678.03
38	26111702-BT-A03	BATTERY, dry Cell, size D	pack	325	123	116	564	54,256.80	325	123	116	564	54,256.80	325	123	116	564	54,256.80	325	123	116	564	54,256.80	2,256.00	96.20	217,027.20
MANUFACTURING COMPONENTS AND SUPPLIES																										
39	31201610-GL-301	GLUE, all purpose	jar	212	38	89	339	24,238.50	189	38	89	316	22,594.00	196	38	89	323	23,094.50	191	38	89	318	22,737.00	1,296.00	71.50	92,664.00



40	31151804-SW-H01	STAPLE WIRE, heavy duty, blinder type, 23/13	box	564	188	181	933	18,436.08	289	185	181	655	12,942.80	289	185	181	655	12,942.80	289	185	179	653	12,903.28	2,896.00	19.76	57,224.96	
41	31151804-SW-S01	STAPLE WIRE, standard	box	822	204	192	1218	27,295.38	477	204	199	880	19,720.80	332	214	202	748	16,762.68	332	214	199	745	16,695.45	3,591.00	22.41	80,474.31	
42	31201502-TA-ED1	TAPE, electrical	roll	242	62	60	364	6,795.88	136	60	63	259	4,835.53	136	62	60	258	4,816.86	136	60	60	256	4,779.52	1,137.00	18.67	21,227.79	
43	31201503-TA-M01	TAPE, masking, 24mm	roll	528	174	200	902	49,249.20	312	204	167	683	37,291.80	387	189	200	776	42,369.60	312	204	167	683	37,291.80	3,044.00	54.60	166,202.40	
44	31201503-TA-M02	TAPE, MASKING, 48mm	roll	494	178	184	836	89,117.60	376	158	182	716	76,325.60	366	178	183	707	75,366.20	373	158	182	713	76,005.80	2,972.00	106.60	316,815.20	
45	31201517-TA-P01	TAPE, packaging, 48mm	roll	552	168	200	920	20,571.20	402	198	168	768	17,172.48	433	169	198	800	17,888.00	431	207	176	814	18,201.04	3,302.00	22.36	73,832.72	
46	31201512-TA-T01	TAPE, transparent, 24mm	roll	578	209	289	1077	10,866.93	439	209	256	904	9,121.36	489	209	239	937	9,494.33	399	206	308	914	9,222.26	3,832.00	10.09	38,664.88	
47	31201512-TA-T02	TAPE, transparent, 48mm	roll	712	285	256	1253	25,022.41	379	284	254	917	18,312.49	644	285	256	1185	23,664.45	379	284	254	917	18,312.49	4,272.00	19.97	85,311.94	
48	31151507-TW-P01	TWINE, plastic	roll	90	62	62	214	12,463.36	92	62	62	216	12,579.84	92	62	62	216	12,579.84	94	62	62	208	12,113.92	894.00	58.24	49,736.96	
<b>HEATING AND VENTILATION AND AIR CIRCULATION</b>																											
49	40101604-EF-G01	ELECTRIC FAN, Industrial, ground type	unit	26	3	5	34	37,729.12	0	0	0	0	0.00	1	0	1	2	2,218.36	0	0	0	0	0.00	36.00	1,128.88	39,948.48	
50	40101604-EF-C01	ELECTRIC FAN, ceiling mount, orbit type	unit	15	12	4	31	42,460.08	0	2	0	2	2,739.36	0	2	0	2	2,739.36	0	0	0	0	0.00	35.00	1,389.88	47,838.80	
51	40101604-EF-S01	ELECTRIC FAN, stand type	unit	354	4	15	373	319,608.78	0	0	0	0	0.00	330	0	1	331	283,620.88	0	0	0	0	0.00	704.00	856.88	803,225.44	
52	40101604-EF-W01	ELECTRIC FAN, wall mount, plastic blade	unit	40	7	0	47	31,723.12	0	4	0	4	2,699.84	0	4	0	4	2,699.84	0	0	0	0	0.00	55.00	674.88	37,122.80	
<b>MEDICAL THERMOMETERS AND ACCESSORIES</b>																											
53	41112224-TG-T02	THERMOGUN	piece	84	4	9	97	245,642.80	0	0	0	0	0.00	16	0	0	16	40,518.40	0	0	0	0	0.00	113.00	1,832.40	286,181.20	
<b>LIGHTING AND FIXTURES AND ACCESSORIES</b>																											
54	39101628-LT-L01	LINEAR TUBE, Light Emitting Diode (LED), 18 watts	piece	42	10	30	82	16,877.24	20	10	10	40	8,232.80	20	10	10	40	8,232.80	20	10	5	35	7,203.70	187.00	205.82	40,346.54	
55	39101628-LB-L01	LIGHT BULB, Light Emitting Diode (LED)	piece	32	0	25	57	4,683.12	10	0	5	15	1,232.40	10	0	5	15	1,232.40	10	0	5	15	1,232.40	102.00	82.18	8,380.32	
<b>MEASURING AND OBSERVING AND TESTING EQUIPMENT</b>																											
56	41111604-RU-P02	RULER, plastic, 450mm	piece	485	32	32	549	9,706.32	41	20	32	93	1,644.24	112	20	27	159	2,811.12	36	20	27	83	1,467.44	884.00	17.88	13,629.12	
<b>CLEANING EQUIPMENT AND SUPPLIES</b>																											
57	47131812-AF-A01	AIR FRESHENER, aerosol type	can	542	170	170	882	79,574.04	225	120	120	465	41,952.30	456	120	120	686	62,783.12	222	120	120	462	41,861.84	1,925.00	80.22	238,021.10	
58	47131804-BR-S01	BROOM, soft, tambo	piece	175	95	92	362	49,318.88	56	29	35	120	16,348.80	85	45	42	172	23,433.28	94	29	33	116	15,803.84	770.00	126.24	104,304.80	
59	47131804-BR-T01	BROOM, stick, ting-ting	piece	148	82	88	318	5,787.60	59	35	35	129	2,347.80	99	35	35	189	3,075.80	98	35	33	129	2,347.80	746.00	18.20	11,339.20	
60	47131829-TB-C01	CLEANER, toilet and urinal	bottle	123	100	85	308	12,812.80	77	34	35	146	6,073.60	61	34	35	130	5,408.00	62	34	36	132	5,481.20	718.00	41.80	28,785.60	
61	47131805-CL-P01	CLEANSER, scouring powder	can	113	92	100	305	7,295.60	63	42	50	155	3,707.60	63	42	52	157	3,795.44	61	42	48	151	3,811.82	788.00	23.82	18,370.38	
62	47131811-DE-B02	DETERGENT BAR, 140g	piece	154	110	112	376	3,120.80	119	110	112	341	2,830.30	149	110	111	370	3,071.00	118	110	111	340	2,822.00	1,427.00	6.30	11,944.10	
63	47131811-DE-P02	DETERGENT POWDER, all-purpose, 1kg	pack	213	125	191	529	28,608.32	143	125	186	454	24,552.32	193	125	128	446	24,119.88	143	125	133	401	21,686.38	1,830.00	94.08	98,966.40	
64	47131803-DS-A01	DISINFECTANT SPRAY, aerosol type	can	243	124	132	499	64,351.04	231	124	129	484	62,416.64	231	124	129	484	62,416.64	231	124	129	484	62,416.64	1,861.00	128.96	251,600.96	
65	47131801-DU-P01	DUST PAN, non-rigid plastic	piece	197	73	90	360	8,938.80	100	73	81	254	6,306.82	159	73	86	318	7,895.94	180	73	81	334	8,280.22	1,286.00	24.83	31,434.78	



46	51241352-SH-785	SODIUM HYPOCHLORITE, 3.785 liters	gallon	136	60	60	256	33,600.00	61	60	60	181	23,756.25	136	60	60	256	33,600.00	61	60	60	181	23,756.25	874.00	131.25	114,712.50
47	73201612-HS-LRN	LIQUID HAND SOAP, 500mL	bottle	458	185	188	831	85,559.76	227	185	188	600	61,776.00	227	185	188	600	61,776.00	225	183	786	1194	122,934.24	3,225.00	102.96	332,046.00
48	47131802-FW-FW2	FLOOR WAX, paste type, red	can	64	2	7	73	22,612.48	14	2	7	23	7,124.48	14	2	7	23	7,124.48	14	2	7	23	7,124.48	142.00	309.76	43,985.92
49	47131830-FC-AG1	FURNITURE CLEANER, aerosol type	can	136	63	68	267	32,072.04	74	63	68	205	24,624.60	74	63	68	205	24,624.60	74	63	68	205	24,624.60	882.00	120.12	105,945.84
50	47121804-MP-805	MOP BUCKET, heavy duty, hard plastic	unit	124	8	7	139	318,032.00	10	4	4	18	41,184.00	18	4	4	26	59,488.00	10	4	4	18	41,184.00	201.00	2,288.00	459,888.00
51	47131813-MP-H22	MOPHANDLE, heavy duty, screw type	piece	170	26	32	228	28,454.40	33	25	32	90	11,232.00	42	26	29	97	12,109.60	36	27	26	89	11,107.20	504.00	124.80	62,899.20
52	47131819-MP-801	MOPHEAD, made of rayon	piece	217	64	70	351	43,439.76	83	64	64	211	26,113.36	153	65	64	282	34,900.32	82	65	63	210	25,989.60	1,054.00	123.76	130,443.04
53	47131501-RG-CB1	RAGS, all cotton	bundle	230	88	96	414	22,281.48	108	88	96	292	15,715.44	156	88	96	340	18,298.80	104	84	89	277	14,908.14	1,323.00	53.82	71,203.86
54	47131602-SC-M01	SCOURING PAD	pack	186	49	49	284	31,898.88	86	49	49	184	20,686.88	136	49	49	234	26,282.88	86	49	49	184	20,686.88	886.00	112.32	99,515.52
55	47121701-TB-F04	TRASHBAG, GPP specs, black, 940mmx1016mm	pack	461	197	198	856	115,286.08	407	199	197	803	108,148.04	439	197	196	832	112,053.76	409	197	196	802	108,013.36	3,293.00	134.68	443,501.24
56	47121702-WB-P01	WASTEBASKET, non-rigid plastic	piece	317	29	51	397	11,100.12	84	19	12	115	3,215.40	104	17	17	138	3,858.48	82	19	12	113	3,159.48	763.00	27.96	21,333.48
<b>INFORMATION AND COMMUNICATION TECHNOLOGY (ICT) EQUIPMENT AND DEVICES AND ACCESSORIES</b>																										
77	43211507-DSK001	DESKTOP FOR BASIC USERS	unit	33	0	15	48	1,190,092.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	48.00	24,793.80	1,190,092.80
78	43211507-DSK002	DESKTOP FOR MID-RANGE USERS	unit	238	15	5	258	10,936,723.20	5	5	5	15	635,856.00	7	5	5	17	720,636.80	5	5	5	15	635,856.00	305.00	42,390.40	12,929,072.00
79	43211503-LAP001	LAPTOP FOR MID-RANGE USERS	unit	159	10	5	174	7,202,208.00	5	5	5	15	620,880.00	7	5	5	17	703,664.00	5	5	5	15	620,880.00	221.00	41,380.00	9,147,632.00
80	43201827-HD-X02	EXTERNAL HARD DRIVE, 1 TB	piece	181	11	25	217	563,948.28	40	6	5	51	132,540.84	43	5	5	52	135,139.68	40	5	5	50	129,942.00	370.00	2,988.84	961,570.80
81	43202010-FD-U01	FLASH DRIVE, 16 GB	piece	638	93	70	801	134,119.44	106	33	10	149	24,948.56	123	30	10	163	27,262.72	86	30	10	126	21,067.44	1,239.00	167.44	207,458.16
82	43211708-MO-O01	MOUSE, OPTICAL, USB connection type	unit	290	20	50	360	40,068.00	50	18	20	88	9,794.40	107	18	20	145	16,138.50	50	18	20	85	9,480.30	678.00	111.30	75,461.40
83	43211708-MO-O02	MOUSE, WIRELESS, USB	unit	212	10	30	252	36,808.00	140	10	10	160	24,640.00	145	10	10	185	25,410.00	140	10	10	160	24,640.00	737.00	154.00	113,498.00
84	43212102-PR-D02	PRINTER, impact, dot matrix, 24 pins, 136 columns	unit	0	0	10	10	381,009.70	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	38,100.97	381,009.70
85	43212102-PR-D01	PRINTER, impact, dot matrix, 9 pins, 80 columns	unit	1	0	0	1	9,191.52	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	9,191.52	9,191.52
86	43212105-PR-L01	PRINTER, laser, monochrome	unit	121	5	15	141	102,208.08	5	5	5	15	10,873.20	5	5	5	15	10,873.20	5	5	5	15	10,873.20	186.00	724.88	134,827.88
87	43212105-PR-L02	PRINTER, laser, colored	unit	104	10	11	125	987,375.00	15	10	10	35	276,465.00	17	10	11	38	300,162.00	15	10	10	35	276,465.00	233.00	7,889.00	1,840,467.00
<b>OFFICE EQUIPMENT AND ACCESSORIES AND SUPPLIES</b>																										
88	44121710-CH-W01	CHALK, white enamel	box	13	1	1	15	444.60	11	1	1	13	385.32	12	1	1	14	414.96	11	1	1	13	385.32	55.00	29.84	1,630.20
89	44122105-BF-C01	CLIP, backfold, 19mm	box	338	115	117	570	4,993.20	204	120	112	436	3,819.36	212	112	117	441	3,863.16	207	118	109	434	3,801.84	1,881.00	8.76	16,477.56
90	44122105-BF-C02	CLIP, backfold, 25mm	box	340	122	121	583	8,873.26	209	125	116	450	6,849.00	217	117	121	455	6,925.10	212	122	114	448	6,818.56	1,936.00	15.22	29,465.92
91	44122105-BF-C03	CLIP, backfold, 32mm	box	333	118	114	565	12,633.40	204	118	114	436	9,748.96	216	108	117	441	9,860.76	205	113	110	428	9,570.08	1,870.00	22.36	41,813.20
92	44122105-BF-C04	CLIP, backfold, 50mm	box	335	120	116	571	31,176.60	202	118	114	434	23,696.40	212	110	119	441	24,278.80	205	115	110	430	23,478.00	1,878.00	94.80	102,429.60
93	44121801-CT-R02	CORRECTION TAPE, 8m	piece	540	410	405	1355	15,826.40	420	405	410	1235	14,424.80	420	405	410	1235	14,424.80	417	405	408	1230	14,388.40	5,093.00	11.68	59,042.40
94	44111515-DF-B01	DATA FILE BOX	piece	618	119	115	852	65,774.40	369	112	128	609	47,014.80	369	112	128	609	47,014.80	344	116	128	588	45,383.80	2,698.00	77.20	205,187.60



95	44122011-DF-F01	DATA FOLDER	piece	632	302	297	1231	84,495.84	383	147	142	672	46,126.08	383	152	142	677	46,469.28	373	157	142	672	46,126.08	3,252.00	68.64	223,217.28
96	44121506-EN-D01	ENVELOPE, documentary, A4	box	618	115	134	857	583,569.03	279	119	131	529	356,064.61	306	119	131	556	374,238.04	275	115	134	524	352,699.16	2,476.00	673.09	1,666,570.84
97	44121506-EN-D02	ENVELOPE, DOCUMENTARY, for legal size document	box	623	115	138	876	812,192.16	284	120	133	537	497,884.92	309	121	133	563	521,991.08	280	121	138	539	499,739.24	2,515.00	927.16	2,331,807.40
98	44121506-EN-X01	ENVELOPE, expanding, kraft, legal	box	551	122	133	806	595,150.40	212	121	128	461	340,402.40	245	124	133	502	370,676.80	182	121	128	431	318,250.40	2,200.00	738.40	1,624,480.00
99	44121506-EN-X02	ENVELOPE, expanding, plastic	piece	627	221	135	983	29,971.67	319	171	135	625	19,056.25	279	321	135	735	22,410.15	279	171	135	585	17,836.65	2,928.00	30.49	89,274.72
100	44121506-EN-M02	ENVELOPE, mailing	box	150	86	86	322	121,780.40	121	87	85	293	110,812.60	142	86	85	313	118,376.60	171	86	85	342	129,344.40	1,270.00	378.20	480,314.00
101	44121504-EN-W02	ENVELOPE, mailing, with window	box	114	53	53	220	95,409.60	88	53	53	194	84,133.92	88	53	53	194	84,133.92	88	53	53	194	84,133.92	802.00	433.68	347,811.36
102	44111912-ER-B01	ERASER, FELT, for blackboard/whiteboard	piece	112	61	61	234	2,410.20	84	61	61	206	2,121.80	104	61	61	226	2,327.80	84	61	61	206	2,121.80	872.00	10.30	8,981.60
103	44122118-FA-P01	FASTENER, metal, non-sharp edges	box	592	186	185	963	80,323.83	266	185	183	634	52,881.94	532	186	185	903	75,319.23	266	185	183	634	52,881.94	3,134.00	83.41	261,406.94
104	44111515-FO-X01	FILE ORGANIZER, expanding, plastic, legal	piece	177	92	72	341	29,339.64	80	72	72	224	19,272.96	100	96	72	268	23,058.72	77	62	72	211	18,154.44	1,044.00	86.04	89,825.76
105	44122018-FT-D01	FILE TAB DIVIDER, bristol board, for A4	set	450	60	68	578	6,433.14	204	60	65	329	3,661.77	450	60	65	575	6,399.75	204	60	65	329	3,661.77	1,811.00	11.13	20,156.43
106	44122018-FT-D02	FILE TAB DIVIDER, legal	set	400	35	14	449	6,389.27	154	35	10	199	2,831.77	400	35	10	445	6,332.35	154	35	10	199	2,831.77	1,292.00	14.23	18,385.16
107	44122011-FO-F01	FOLDER, fancy, with slide, A4	bundle	171	72	75	318	85,987.20	84	72	71	227	61,380.80	117	72	71	260	70,304.00	87	72	71	230	62,192.00	1,035.00	270.40	279,864.00
108	44122011-FO-F02	FOLDER, fancy, with slide, legal	bundle	530	75	78	683	213,014.04	87	75	74	236	73,603.68	467	75	74	616	192,118.08	88	75	66	229	71,420.52	1,764.00	311.88	550,156.32
109	44122011-FO-L01	FOLDER, L-type, A4	pack	90	35	18	143	24,514.49	25	35	14	74	12,685.82	25	35	14	74	12,685.82	26	35	14	75	12,857.25	366.00	171.43	62,743.38
110	44122011-FO-L02	FOLDER, L-type, legal	pack	157	18	21	196	47,675.04	58	18	17	93	22,621.32	61	48	17	126	30,648.24	28	48	17	93	22,621.32	508.00	243.24	123,565.92
111	44122027-FO-P01	FOLDER, pressboard	box	157	14	10	181	172,427.84	20	11	10	41	39,058.24	105	14	10	129	122,890.56	20	11	11	42	40,010.88	393.00	952.64	374,387.52
112	44122011-FO-T03	FOLDER, with tab, A4	pack	73	31	14	118	32,922.00	20	32	10	62	17,298.00	21	31	11	63	17,577.00	20	31	10	61	17,019.00	304.00	279.00	84,816.00
113	44122011-FO-T04	FOLDER, with tab, legal	pack	96	14	36	146	46,918.56	24	14	13	51	16,389.36	45	14	33	92	29,565.12	24	14	13	51	16,389.36	340.00	321.36	109,262.40
114	44122008-IT-T01	INDEX TAB, self-adhesive, transparent	box	409	28	12	449	25,449.32	84	28	8	120	6,801.60	349	28	8	385	21,821.80	84	28	8	120	6,801.60	1,074.00	56.68	60,874.32
115	44111515-MF-B02	MAGAZINE FILE BOX, large	piece	517	37	40	594	24,710.40	167	37	40	244	10,150.40	507	37	40	584	24,294.40	167	37	40	244	10,150.40	1,666.00	41.60	69,305.60
116	44121716-MA-F01	MARKER, fluorescent	set	136	75	78	289	10,594.74	123	80	78	281	10,301.46	128	78	75	281	10,301.46	138	85	90	313	11,474.58	1,164.00	36.66	42,672.24
117	44121708-MW-B01	MARKER, whiteboard, black	piece	1000	500	542	2042	27,321.96	667	480	554	1701	22,759.38	745	480	530	1755	23,481.90	679	480	542	1701	22,759.38	7,199.00	13.38	96,322.62
118	44121708-MW-B02	MARKER, whiteboard, blue	piece	822	432	433	1687	22,572.06	501	432	433	1366	18,277.08	567	432	433	1432	19,160.16	501	420	433	1354	18,116.52	5,839.00	13.38	78,125.82
119	44121708-MW-B03	MARKER, whiteboard, red	piece	794	393	411	1598	21,381.24	473	381	411	1265	16,925.70	539	393	411	1343	17,969.34	473	381	411	1265	16,925.70	5,471.00	13.38	73,201.98
120	44121708-MP-B01	MARKER, permanent, black, bullet type	piece	1028	578	613	2219	19,926.62	695	578	613	1886	16,936.28	761	578	613	1952	17,528.96	785	566	613	1964	17,636.72	8,021.00	8.98	72,028.58
121	44121708-MP-B02	MARKER, permanent, blue, bullet type	piece	825	469	432	1726	15,499.48	492	469	432	1393	12,509.14	558	469	432	1459	13,101.82	558	457	432	1447	12,994.06	6,025.00	8.98	54,104.50
122	44121708-MP-B03	MARKER, permanent, red, bullet type	piece	786	422	410	1618	14,529.64	489	410	410	1309	11,754.82	555	422	410	1387	12,455.26	555	410	410	1375	12,347.50	5,689.00	8.98	51,087.22
123	44122104-PC-G01	PAPER CLIP, vinyl/plastic coated, 33mm	box	532	133	128	793	6,153.68	202	137	144	483	3,748.08	272	132	138	542	4,205.92	268	136	134	538	4,174.88	2,356.00	7.76	18,282.56
124	44122104-PC-J02	PAPER CLIP, vinyl/plastic coated, 50mm	box	549	136	152	837	11,533.86	200	137	141	478	6,586.84	279	134	144	557	7,675.46	286	137	141	564	7,771.92	2,436.00	13.78	33,568.08
125	44121706-PE-L01	PENCIL, lead, with eraser	box	917	517	528	1962	40,789.98	545	518	536	1599	33,243.21	641	517	537	1695	35,239.05	651	516	526	1693	35,197.47	6,949.00	20.79	144,469.71



126	44122037-RB-F10	RING BINDER, plastic, 32mm	bundle	416	73	83	572	137,159.88	76	73	73	222	53,233.38	180	73	78	331	79,370.49	81	73	78	232	55,631.28	1,357.00	239.79	325,395.03	
127	44122101-RU-B01	RUBBER BAND, No. 18	box	495	122	129	746	74,637.30	134	122	125	381	38,119.05	155	119	132	406	40,620.30	137	120	125	382	38,219.10	1,915.00	100.05	191,595.75	
128	44121905-SP-F01	STAMP PAD, felt	piece	402	78	84	564	19,711.80	124	73	78	275	9,611.25	298	78	84	460	16,077.00	122	73	78	273	9,541.35	1,572.00	34.95	54,941.40	
129	44121612-BL-H01	BLADE, for general purpose cutter / utility knife	piece	325	67	22	414	6,135.48	52	17	25	94	1,393.08	151	67	22	240	3,556.80	52	17	25	94	1,393.08	842.00	14.82	12,478.44	
130	44121612-CU-H01	CUTTER/UTILITY KNIFE, for general purpose	piece	242	11	27	280	9,360.40	25	22	12	59	1,972.37	101	15	32	148	4,947.64	25	7	12	44	1,470.92	531.00	33.43	17,751.33	
131	44103202-DS-M01	DATING AND STAMPING MACHINE	piece	329	0	10	339	153,892.44	11	0	1	12	5,447.52	138	1	0	139	63,100.44	10	0	0	10	4,539.60	500.00	453.96	226,980.00	
132	44121619-PS-M01	PENCIL SHARPENER, manual, single cutter head	piece	339	20	28	387	78,433.29	28	22	25	75	15,200.25	130	20	25	175	35,467.25	26	20	25	71	14,389.57	708.00	202.67	143,490.36	
133	44101602-PU-P01	PUNCHER, paper, heavy duty	piece	361	16	21	398	60,018.40	23	18	18	59	8,897.20	125	18	18	161	24,278.80	25	14	20	59	8,897.20	677.00	150.80	102,091.60	
134	44121618-SS-S01	SCISSORS, symmetrical	pair	624	63	46	733	26,730.48	63	42	43	148	6,002.88	230	38	43	311	12,614.16	67	38	47	152	6,165.12	1,344.00	40.56	54,512.64	
135	44121615-ST-S01	STAPLER, standard type	piece	691	65	54	810	113,724.00	93	35	47	175	24,570.00	496	37	47	580	81,432.00	88	40	47	175	24,570.00	1,740.00	140.40	244,296.00	
136	44121615-ST-B01	STAPLER, heavy duty, binder type	unit	299	1	5	305	278,837.10	1	6	0	7	6,399.54	170	0	0	170	155,417.40	1	0	0	1	914.22	483.00	914.22	441,568.26	
137	44121613-SR-P01	STAPLE REMOVER, plier type	piece	432	130	51	613	15,263.70	204	50	46	300	7,470.00	257	50	46	353	8,789.70	204	50	46	300	7,470.00	1,566.00	24.90	38,993.40	
138	44121605-TD-T01	TAPE DISPENSER, table top	piece	383	23	30	436	27,991.20	27	27	27	81	5,200.20	224	27	27	278	17,847.60	24	25	29	78	5,007.60	873.00	64.20	56,046.60	
139	44101602-PB-M01	BINDING AND PUNCHING MACHINE, 50mm binding capacity	unit	205	0	0	205	1,994,617.60	0	0	0	0	0.00	1	0	0	1	9,534.72	0	0	0	0	0.00	206.00	9,534.72	1,964,152.32	
140	44101807-CA-C01	CALCULATOR, compact	unit	288	24	56	368	127,640.80	22	20	18	60	20,811.00	25	20	18	63	21,851.55	22	20	18	60	20,811.00	551.00	346.85	191,114.35	
141	44101714-FX-M01	FACSIMILE MACHINE	unit	36	0	0	36	203,112.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	36.00	5,642.00	203,112.00	
142	44101601-PT-M01	PAPER TRIMMER / CUTTING MACHINE, table top	unit	189	4	7	200	1,898,520.00	2	2	2	6	55,785.60	2	2	2	6	55,785.60	2	2	2	6	55,785.60	218.00	9,297.60	2,026,876.80	
143	44101603-PS-M01	PAPER SHREDDER	unit	143	2	5	150	854,880.00	2	2	3	7	39,894.40	3	2	2	7	39,894.40	2	2	2	6	34,195.20	170.00	5,699.20	968,864.00	
<b>PRINTER OR FACSIMILE OR PHOTOCOPIER SUPPLIES</b>																											
144	44103109-BR-D05	DRUM CART, BROTHER DR-3455, Black	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	5,947.20	0.00
145	44103105-BR-B04	INK CART, BROTHER LC67B, Black	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	910.00	0.00
146	44103105-BR-B05	INK CART, BROTHER LC67HYBK, Black	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	1,601.60	0.00
147	44103109-BR-D06	Drum Cart, Brother DR-451CL, high yield 30000 pages	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	6,760.00	0.00
148	44103103-BR-B16	Toner Cart, Brother TN-456 BLACK, high yield 6500	Cart	3	0	0	3	15,241.20	3	0	0	3	15,241.20	3	0	0	3	15,241.20	3	0	0	3	15,241.20	12.00	5,080.40	60,964.80	
149	44103103-BR-C03	Toner Cart, Brother TN-456 CYAN, high yield 6500	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	8,569.60	0.00
150	44103103-BR-M03	Toner Cart, Brother TN-456 MAGENTA, high yield	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	8,569.60	0.00
151	44103103-BR-Y03	Toner Cart, Brother TN-456 YELLOW, high yield 6500	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	8,569.60	0.00
152	44103103-SA-B03	TONER CART, SAMSUNG ML-D2850B, Black	Cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	5,116.80	0.00
153	44103105-CA-C04	INK CART, CANON CL-741, Colored	cart	5	5	5	15	14,835.60	5	5	5	15	14,835.60	5	5	5	15	14,835.60	5	5	5	15	14,835.60	60.00	989.04	59,342.40	
154	44103105-CA-C02	INK CART, CANON CL-811, Colored	cart	93	8	8	109	112,226.40	83	8	8	99	101,930.40	83	8	8	99	101,930.40	82	8	8	98	100,900.80	405.00	1,029.60	416,988.00	
155	44103105-CA-B04	INK CART, CANON PG-740, Black	cart	10	10	10	30	22,620.00	10	10	10	30	22,620.00	10	10	10	30	22,620.00	10	10	10	30	22,620.00	120.00	754.00	90,480.00	



156	44103105-CA-B02	INK CART, CANON PG-810, Black	cart	393	13	13	419	326,820.00	63	13	13	89	69,420.00	393	13	13	419	326,820.00	63	13	13	89	69,420.00	1,016.00	786.00	792,480.00
157	44103105-EP-B17	INK CART, EPSON C13T664100 (T6641), Black	cart	340	10	10	360	89,856.00	10	10	10	30	7,488.00	340	10	10	360	89,856.00	109	10	10	129	32,196.40	879.00	249.50	219,396.40
158	44103105-EP-C17	INK CART, EPSON C13T664200 (T6642), Cyan	cart	340	10	10	360	89,856.00	10	10	10	30	7,488.00	340	10	10	360	89,856.00	10	10	10	30	7,488.00	780.00	249.50	194,588.00
159	44103105-EP-M17	INK CART, EPSON C13T664300 (T6643), Magenta	cart	340	10	10	360	89,856.00	10	10	10	30	7,488.00	340	10	10	360	89,856.00	10	10	10	30	7,488.00	780.00	249.50	194,588.00
160	44103105-EP-Y17	INK CART, EPSON C13T664400 (T6644), Yellow	cart	340	10	10	360	89,856.00	10	10	10	30	7,488.00	340	10	10	360	89,856.00	10	10	10	30	7,488.00	780.00	249.50	194,588.00
161	44103105-HP-B40	Ink Cartridge, HP C2P04AA (HP62) Black	cart	10	10	10	30	23,212.80	10	10	10	30	23,212.80	10	10	10	30	23,212.80	10	10	10	30	7,488.00	780.00	249.50	194,588.00
162	44103105-HP-T40	Ink Cartridge, HP C2P06AA (HP62) Tri-color	cart	10	10	10	30	28,516.80	10	10	10	30	28,516.80	10	10	10	30	28,516.80	10	10	10	30	23,212.80	120.00	773.75	92,851.20
163	44103105-HP-B09	INK CART, HP C9351AA, (HP21), Black	cart	3	3	3	9	7,160.40	3	3	3	9	7,160.40	3	3	3	9	7,160.40	3	3	3	9	28,516.80	120.00	950.95	114,067.20
164	44103105-HP-T10	INK CART, HP C9352AA, (HP22), Tri-color	cart	3	3	3	9	8,283.60	3	3	3	9	8,283.60	3	3	3	9	8,283.60	3	3	3	9	7,160.40	36.00	795.60	28,641.60
165	44103105-HP-P48	Ink Cartridge, HP C9397A (HP72) 69ml Photo Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	8,283.60	36.00	920.40	33,134.40
166	44103105-HP-C48	Ink Cartridge, HP C9398A (HP72) 69ml Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
167	44103105-HP-M48	Ink Cartridge, HP C9399A (HP72) 69ml Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
168	44103105-HP-Y48	Ink Cartridge, HP C9400A (HP72) 69ml Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
169	44103105-HP-G48	Ink Cartridge, HP C9401A (HP72) 69ml Gray	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
170	44103105-HP-B46	Ink Cartridge, HP C9403A (HP72) 130ml Matte Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
171	44103105-HP-B17	INK CART, HP CC640WA, (HP60), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,016.00	0.00
172	44103105-HP-T17	INK CART, HP CC643WA, (HP60), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	759.50	0.00
173	44103105-HP-B35	INK CART, HP CD887AA, (HP703), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	366.08	0.00
174	44103105-HP-T35	INK CART, HP CD888AA, (HP703), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	366.08	0.00
175	44103105-HX-C40	INK CART, HP CD972AA, (HP 920XL), Cyan	cart	120	0	0	120	77,001.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	941.58	77,001.60
176	44103105-HX-M40	INK CART, HP CD973AA, (HP 920XL), Magenta	cart	120	0	0	120	77,001.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	941.58	77,001.60
177	44103105-HX-Y40	INK CART, HP CD974AA, (HP 920XL), Yellow	cart	120	0	0	120	77,001.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	941.58	77,001.60
178	44103105-HX-B40	INK CART, HP CD975AA, (HP 920XL), Black	cart	120	0	0	120	161,616.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	1,346.80	161,616.00
179	44103105-HP-B20	INK CART, HP CH561WA, (HP61), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	758.08	0.00
180	44103105-HP-T20	INK CART, HP CH562WA, (HP61), Tricolor	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	931.84	0.00
181	44103105-HP-B49	Ink Cartridge, HP CH565A (HP82) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,344.80	0.00
182	44103105-HP-C49	Ink Cartridge, HP CH566A (HP82) Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,539.20	0.00
183	44103105-HP-M49	Ink Cartridge, HP CH567A (HP82) Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,539.20	0.00
184	44103105-HP-Y49	Ink Cartridge, HP CH568A (HP82) Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,539.20	0.00
185	44103105-HX-B43	INK CART, HP CN045AA, (HP950XL), Black	cart	2	2	2	6	10,720.32	2	2	2	6	10,720.32	2	2	2	6	10,720.32	2	2	2	6	10,720.32	24.00	1,786.72	42,881.28
186	44103105-HX-C43	INK CART, HP CN046AA, (HP951XL), Cyan	cart	2	2	2	6	7,956.00	2	2	2	6	7,956.00	2	2	2	6	7,956.00	2	2	2	6	7,956.00	24.00	1,326.00	31,824.00



187	44103105-HX-M43	INK CART, HP CN047AA, (HP951XL), Magenta	cart	2	2	2	6	7,956.00	2	2	2	6	7,956.00	2	2	2	6	7,956.00	2	2	2	6	7,956.00	24.00	1,326.00	31,824.00
188	44103105-HX-Y43	INK CART, HP CN048AA, (HP951XL), Yellow	cart	2	2	2	6	7,956.00	2	2	2	6	7,956.00	2	2	2	6	7,956.00	2	2	2	6	7,956.00	24.00	1,326.00	31,824.00
189	44103105-HP-B36	INK CART, HP CN692AA, (HP704), Black	cart	22	22	22	66	24,161.28	27	27	27	81	29,652.48	27	27	27	81	29,652.48	27	27	27	81	29,652.48	309.00	366.08	113,118.72
190	44103105-HP-T36	INK CART, HP CN693AA, (HP704), Tri-color	cart	21	21	21	63	23,063.04	24	24	24	72	26,357.76	24	24	24	72	26,357.76	24	24	24	72	26,357.76	279.00	366.08	102,136.32
191	44103105-HP-B33	INK CART, HP CZ107AA, (HP678), Black	cart	48	48	48	144	52,715.52	48	48	48	144	52,715.52	48	48	48	144	52,715.52	48	48	48	144	52,715.52	576.00	366.08	210,862.08
192	44103105-HP-T33	INK CART, HP CZ108AA, (HP678), Tricolor	cart	43	43	43	129	47,224.32	43	43	43	129	47,224.32	43	43	43	129	47,224.32	43	43	43	129	47,224.32	516.00	366.08	188,897.28
193	44103105-HP-B42	INK CART, HP CZ121A (HP685A), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	312.00	0.00
194	44103105-HP-C33	INK CART, HP CZ122A (HP685A), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	256.88	0.00
195	44103105-HP-M33	INK CART, HP CZ123A (HP685A), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	256.88	0.00
196	44103105-HP-Y33	INK CART, HP CZ124A (HP685A), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	256.88	0.00
197	44103105-HP-T43	Ink Cartridge, HP F6V26AA (HP680) Tri-color	cart	637	312	307	1256	509,433.60	637	312	307	1256	509,433.60	637	312	307	1256	509,433.60	637	312	307	1256	509,433.60	5,024.00	405.60	2,037,734.40
198	44103105-HP-B43	Ink Cartridge, HP F6V27AA (HP680) Black	cart	611	286	281	1178	477,796.80	611	286	281	1178	477,796.80	611	286	281	1178	477,796.80	611	286	281	1178	477,796.80	4,712.00	405.60	1,911,187.20
199	44103105-HP-C50	Ink Cartridge, HP L0S51AA (HP955) Cyan	cart	74	14	14	102	101,566.50	14	14	14	42	41,821.50	14	14	14	42	41,821.50	14	14	14	42	41,821.50	228.00	995.75	227,031.00
200	44103105-HP-M50	Ink Cartridge, HP L0S54AA (HP955) Magenta	cart	70	10	10	90	89,617.50	10	10	10	30	29,872.50	10	10	10	30	29,872.50	10	10	10	30	29,872.50	180.00	995.75	179,235.00
201	44103105-HP-Y50	Ink Cartridge, HP L0S57AA (HP955) Yellow	cart	70	10	10	90	89,617.50	10	10	10	30	29,872.50	10	10	10	30	29,872.50	10	10	10	30	29,872.50	180.00	995.75	179,235.00
202	44103105-HP-B50	Ink Cartridge, HP L0S60AA (HP955) Black	cart	70	10	10	90	446,094.00	10	10	10	30	148,698.00	10	10	10	30	148,698.00	10	10	10	30	148,698.00	180.00	4,956.60	892,188.00
203	44103105-HX-C48	Ink Cartridge, HP L0S63AA (HP955XL) Cyan	cart	10	10	10	30	36,379.20	10	10	10	30	36,379.20	10	10	10	30	36,379.20	10	10	10	30	36,379.20	120.00	1,212.64	145,516.80
204	44103105-HX-M48	Ink Cartridge, HP L0S66AA (HP955XL) Magenta	cart	10	10	10	30	36,379.20	10	10	10	30	36,379.20	10	10	10	30	36,379.20	10	10	10	30	36,379.20	120.00	1,212.64	145,516.80
205	44103105-HX-Y48	Ink Cartridge, HP L0S69AA (HP955XL) Yellow	cart	10	10	10	30	36,379.20	10	10	10	30	36,379.20	10	10	10	30	36,379.20	10	10	10	30	36,379.20	120.00	1,212.64	145,516.80
206	44103105-HX-B48	Ink Cartridge, HP L0S72AA (HP955XL) Black	cart	10	10	10	30	49,327.20	10	10	10	30	49,327.20	10	10	10	30	49,327.20	10	10	10	30	49,327.20	120.00	1,644.24	197,308.80
207	44103105-HP-C51	Ink Cartridge, HP T6L89AA (HP905) Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	453.62	0.00
208	44103105-HP-M51	Ink Cartridge, HP T6L93AA (HP905) Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	453.62	0.00
209	44103105-HP-Y51	Ink Cartridge, HP T6L97AA (HP905) Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	453.62	0.00
210	44103105-HP-B51	Ink Cartridge, HP T6M01AA (HP905) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	741.28	0.00
211	44103112-EP-R05	RIBBON CART, EPSON C13S015516 (#8750), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	77.43	0.00
212	44103112-EP-R07	RIBBON CART, EPSON C13S015531 (S015086), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	736.32	0.00
213	44103112-EP-R13	RIBBON CART, EPSON C13S015632, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	77.94	0.00
214	44103103-BR-B03	TONER CART, BROTHER TN-2025, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,685.28	0.00
215	44103103-BR-B04	TONER CART, BROTHER TN-2130, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,892.80	0.00
216	44103103-BR-B05	TONER CART, BROTHER TN-2150, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,685.28	0.00
217	44103103-BR-B09	TONER CART, BROTHER TN-3320, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,567.20	0.00



218	44103103-BR-B11	TONER CART, BROTHER TN-3350, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,002.40	0.00					
219	44103103-HP-B12	TONER CART, HP CB435A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,380.00	0.00					
220	44103103-HP-B14	TONER CART, HP CB540A, Black	cart	60	0	0	60	200,241.60	0	0	0	0	0.00	0	0	0	0	0.00	60.00	3,337.36	200,241.60					
221	44103103-HP-B16	TONER CART, HP CE255A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,332.00	0.00					
222	44103103-HP-B21	TONER CART, HP CE278A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,952.00	0.00					
223	44103103-HP-B22	TONER CART, HP CE285A (HP85A), Black	cart	89	56	74	219	751,608.00	89	56	74	219	751,608.00	74	56	74	204	700,128.00	74	56	74	204	700,128.00	846.00	3,432.00	2,903,472.00
224	44103103-HP-B23	TONER CART, HP CE310A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	15	0	0	15	39,218.40	15	0	0	15	39,218.40	30.00	2,614.56	78,436.80
225	44103103-HP-C23	TONER CART, HP CE311A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,542.80	0.00
226	44103103-HP-Y23	TONER CART, HP CE312A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,542.80	0.00
227	44103103-HP-M23	TONER CART, HP CE313A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,542.80	0.00
228	44103103-HP-B24	TONER CART, HP CE320A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,916.16	0.00
229	44103103-HP-C24	TONER CART, HP CE321A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,072.16	0.00
230	44103103-HP-Y24	TONER CART, HP CE322A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,072.16	0.00
231	44103103-HP-M24	TONER CART, HP CE323A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,072.16	0.00
232	44103103-HP-B25	TONER CART, HP CE390A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	8,476.00	0.00
233	44103103-HP-B26	TONER CART, HP CE400A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,900.40	0.00
234	44103103-HP-C26	TONER CART, HP CE401A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	10,193.04	0.00
235	44103103-HP-Y26	TONER CART, HP CE402A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	10,193.04	0.00
236	44103103-HP-M26	TONER CART, HP CE403A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,201.60	0.00
237	44103103-HP-B27	TONER CART, HP CE410A, (HP305), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,011.20	0.00
238	44103103-HP-C27	TONER CART, HP CE411A, (HP305), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,011.20	0.00
239	44103103-HP-Y27	TONER CART, HP CE412A, (HP305), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,011.20	0.00
240	44103103-HP-M27	TONER CART, HP CE413A, (HP305), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,466.80	0.00
241	44103103-HP-B28	TONER CART, HP CE505A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,332.00	0.00
242	44103103-HX-B28	TONER CART, HP CE505X, Black, high cap	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,332.00	0.00
243	44103103-HP-B52	Toner Cartridge, HP CF217A (HP17A) Black Laser Jet	cart	83	80	83	246	748,843.68	90	93	93	276	840,166.08	90	93	93	276	840,166.08	93	93	90	276	840,166.08	1,074.00	3,044.08	3,269,341.92
244	44103103-HP-B53	Toner Cartridge, HP CF226A (HP26A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,787.60	0.00
245	44103103-HP-B55	Toner Cartridge, HP CF280A, LaserJet Pro M401/M425	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,200.00	0.00
246	44103103-HP-B51	TONER CART, HP CF280XC, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,004.32	0.00
247	44103103-HP-B56	Toner Cartridge, HP CF281A (HP81A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	8,606.00	0.00
248	44103103-HP-B57	Toner Cartridge, HP CF283A (HP83A) LaserJet Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,241.70	0.00



249	44103103-HP-B51	Toner Cartridge, HP CF283XC (HP83X) Black LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,056.00	0.00
250	44103103-HP-B58	Toner Cartridge, HP CF287A (HP87) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	10,051.00	0.00
251	44103103-HP-B52	Toner Cartridge, HP CF325XC (HP25X) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	13,156.00	0.00
252	44103103-HP-B60	Toner Cartridge, HP CF350A Black LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,901.60	0.00
253	44103103-HP-C60	Toner Cartridge, HP CF351A Cyan LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,953.60	0.00
254	44103103-HP-Y60	Toner Cartridge, HP CF352A Yellow LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,953.60	0.00
255	44103103-HP-M60	Toner Cartridge, HP CF353A Magenta LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,953.60	0.00
256	44103103-HP-B61	Toner Cartridge, HP CF360A (HP508A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,056.40	0.00
257	44103103-HP-C61	Toner Cartridge, HP CF361A (HP508A) Cyan LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	8,846.24	0.00
258	44103103-HP-Y61	Toner Cartridge, HP CF362A (HP508A) Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	8,846.24	0.00
259	44103103-HP-M61	Toner Cartridge, HP CF363A (HP508A) Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	8,846.24	0.00
260	44103103-HP-B62	Toner Cartridge, HP CF400A (HP201A) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,429.78	0.00
261	44103103-HP-C62	Toner Cartridge, HP CF401A (HP201A) Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,043.83	0.00
262	44103103-HP-Y62	Toner Cartridge, HP CF402A (HP201A) Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,043.83	0.00
263	44103103-HP-M62	Toner Cartridge, HP CF403A (HP201A) Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,043.83	0.00
264	44103103-HP-B63	Toner Cartridge, HP CF410A (HP410A) black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,440.80	0.00
265	44103103-HP-B54	Toner Cartridge, HP CF410XC (HP410XC) black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,441.20	0.00
266	44103103-HP-C63	Toner Cartridge, HP CF411A (HP410A) cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,616.00	0.00
267	44103103-HP-C54	Toner Cartridge, HP CF411XC (HP410XC) cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,472.40	0.00
268	44103103-HP-Y63	Toner Cartridge, HP CF412A (HP410A) yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,616.00	0.00
269	44103103-HP-Y54	Toner Cartridge, HP CF412XC (HP410XC) yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,472.40	0.00
270	44103103-HP-M63	Toner Cartridge, HP CF413A (HP410A) magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,616.00	0.00
271	44103103-HP-M54	Toner Cartridge, HP CF413XC (HP410XC) magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,472.40	0.00
272	44103103-HP-B34	TONER CART, HP Q2612A, Black	cart	5	5	5	15	58,500.00	5	5	5	15	58,500.00	5	5	5	15	58,500.00	5	5	5	15	58,500.00	60.00	3,900.00	234,000.00
273	44103103-HP-B46	TONER CART, HP Q7553A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,399.20	0.00
274	44103103-SA-B06	TONER CART, SAMSUNG MLT-D101S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,406.00	0.00
275	44103103-SA-B07	TONER CART, SAMSUNG MLT-D103S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,350.40	0.00
276	44103103-SA-B08	TONER CART, SAMSUNG MLT-D104S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,454.40	0.00
277	44103103-SA-B09	TONER CART, SAMSUNG MLT-D105L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,380.00	0.00
278	44103103-SA-B14	TONER CART, Samsung MLT-D108S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,875.58	0.00
279	44103103-SA-B21	TONER CART, Samsung MLT-D203E, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,259.20	0.00



280	44103103-SA-B18	TONER CART, Samsung MLT-D203L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,458.00	0.00					
281	44103103-SA-B20	TONER CART, Samsung MLT-D203U, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,442.80	0.00					
282	44103103-SA-B12	TONER CART, SAMSUNG MLT-D205E, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,321.14	0.00					
283	44103103-SA-B05	TONER CART, SAMSUNG MLT-D205L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,952.24	0.00					
284	44103103-SA-B10	TONER CART, SAMSUNG SCX-D6555A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,056.40	0.00					
285	44103103-BR-B15	TONER CART, BROTHER TN-3476, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,370.00	0.00					
286	44103103-CA-B00	TONER CART, CANON CRG 324 II	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	13,999.36	0.00					
<b>AUDIO AND VISUAL EQUIPMENT AND SUPPLIES</b>																										
287	45121517-DO-C02	DOCUMENT CAMERA, 8 MP	unit	58	0	0	58	1,370,168.80	51	0	0	51	1,204,803.60	100	0	0	100	2,362,360.00	50	0	0	50	1,181,180.00	259.00	23,623.60	6,118,512.40
288	45111609-MM-P01	MULTIMEDIA PROJECTOR	unit	21	0	1	22	384,384.00	1	0	0	1	17,472.00	0	0	0	0	0.00	0	0	0	0	0.00	23.00	17,472.00	401,856.00
<b>FLAG OR ACCESSORIES</b>																										
289	55121905-PH-P01	PHILIPPINE NATIONAL FLAG	piece	19	0	2	21	5,981.64	0	0	0	0	0.00	2	0	0	2	569.68	0	0	0	0	0.00	23.00	284.84	6,551.32
<b>PRINTED PUBLICATIONS</b>																										
290	55101524-RA-H01	HANDBOOK (RA 9184), 8th edition	book	32	5	2	39	1,451.19	2	2	2	6	223.26	2	2	2	6	223.26	2	2	2	6	223.26	57.00	37.21	2,120.97
<b>FIRE FIGHTING EQUIPMENT</b>																										
291	46191601-FE-M01	FIRE EXTINGUISHER, dry chemical	unit	162	0	7	169	193,336.00	3	0	0	3	3,432.00	7	0	0	7	8,008.00	8	0	0	8	9,152.00	187.00	1,144.00	213,928.00
292	46191601-FE-H01	FIRE EXTINGUISHER, pure HCFC	unit	92	0	7	99	555,711.75	2	0	0	2	11,226.50	5	0	0	5	28,066.25	2	0	0	2	11,226.50	108.00	5,613.25	606,231.00
<b>CONSUMER ELECTRONICS</b>																										
293	52161535-DV-R01	DIGITAL VOICE RECORDER	unit	49	2	3	54	346,444.56	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	54.00	6,415.54	346,444.56
<b>FURNITURE AND FURNISHINGS</b>																										
294	56101504-CM-B01	MONOBLOC CHAIR, beige	piece	340	0	80	420	127,545.60	0	0	20	20	6,073.60	10	0	20	30	9,110.40	0	0	20	20	6,073.60	490.00	303.68	148,803.20
295	56101504-CM-W01	MONOBLOC CHAIR, white	piece	500	0	500	1000	301,600.00	0	25	0	25	7,540.00	0	0	0	0	0.00	0	0	0	0	0.00	1,025.00	301.60	309,140.00
296	56101519-TM-S01	MONOBLOC TABLE, white	unit	53	0	26	79	97,606.08	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	79.00	1,235.52	97,606.08
297	56101519-TM-S02	MONOBLOC TABLE, beige	unit	64	0	10	74	80,577.12	0	0	10	10	10,888.80	10	0	10	20	21,777.60	0	0	10	10	10,888.80	114.00	1,088.88	124,132.32
<b>ARTS AND CRAFTS EQUIPMENT AND ACCESSORIES AND SUPPLIES</b>																										
298	60121413-CB-P01	CLEARBOOK, 20 Transparent pockets, A4	piece	659	56	76	791	29,298.64	532	56	76	664	24,594.56	507	86	71	664	24,594.56	502	61	71	634	23,483.36	2,753.00	37.04	101,971.12
299	60121413-CB-P02	CLEARBOOK, 20 Transparent pockets, Legal	piece	669	66	81	816	31,342.56	542	66	81	689	26,464.49	517	86	81	684	26,272.44	507	56	76	639	24,543.99	2,828.00	38.41	108,623.48
300	60121534-ER-P01	ERASER, plastic/rubber	piece	403	62	80	545	2,381.65	251	62	80	393	1,717.41	243	62	80	385	1,682.45	231	62	80	373	1,630.01	1,696.00	4.37	7,411.52
301	60121524-SP-G01	SIGN PEN, black	piece	1031	420	434	1885	38,190.10	615	402	400	1417	28,708.42	889	400	390	1679	34,016.54	603	390	388	1381	27,979.06	6,362.00	20.26	128,894.12
302	60121524-SP-G02	SIGN PEN, blue	piece	861	378	392	1631	33,044.06	477	356	354	1187	24,048.62	763	366	356	1485	30,086.10	477	356	354	1187	24,048.62	5,490.00	20.26	111,227.40
303	60121524-SP-G03	SIGN PEN, red	piece	647	216	337	1200	24,312.00	327	217	216	760	15,397.60	644	228	217	1089	22,063.14	322	216	216	754	15,276.04	3,803.00	20.26	77,048.78



304	4021124-WB- PS)	WRAPPING PAPER, kraft	pack	116	1	6	123	19,045.32	6	1	6	13	2,012.92	6	1	6	13	2,012.92	16	1	6	23	3,561.32	172.00	154.84	26,632.48	
<b>SOFTWARE</b>																											
1	43231513-SPT- 001	Business function specific software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00	
2	43231802-SPT- 002	Finance accounting and enterprise resource planning ERP software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	500,000.00	0.00	
3	43232004-SPT- 003	Computer game or entertainment software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00	
4	43232207-SPT- 004	Content authoring and editing software	license	316	0	0	316	158,000,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	317.00	500,000.00	158,500,000.00	
5	43232202-SPT- 005	Content management software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00	
6	43232304-SPT- 006	Data management and query software	license	153	0	0	153	76,500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	154.00	500,000.00	77,000,000.00	
7	43232402-SPT- 007	Development software	license	2	0	0	2	1,000,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	3.00	500,000.00	1,500,000.00	
8	43232505-SPT- 008	Educational or reference software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00	
9	43232603-SPT- 009	Industry specific software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00	
10	43232701-SPT- 010	Network applications software	license	3	0	0	3	1,500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	4.00	500,000.00	2,000,000.00	
11	43232801-SPT- 011	Network management software	license	9	0	0	9	4,500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	10.00	500,000.00	5,000,000.00	
12	43232903-SPT- 012	Networking software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00	
13	43233004-SPT- 013	Operating environment software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00	
14	43233205-SPT- 014	Security and protection software	license	3	0	0	3	1,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	500,000.00	1,500,000.00	
15	43233403-SPT- 015	Utility and device driver software	license	101	0	0	101	50,500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	102.00	500,000.00	51,000,000.00	
16	43233501-SPT- 016	Information exchange software	license	1	0	0	1	500,000.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00	
<b>PART 21 OTHER ITEMS NOT AVAILABLE AT PS-DBM BUT ARE REGULARLY PURCHASED FROM OTHER SOURCES (Note: Please indicate price of items)</b>																											
1	40211701-AC- 001	Air Conditioning Unit, Window Inverter Type		38	0	0	38	2,280,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	38.00	60,000.00	2,340,000.00	
2	40211701-AC- 002	Air Conditioning Unit, Split Type		19	2	2	23	1,610,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	23.00	70,000.00	1,610,000.00	
3	44111903-WB- 001	White Board		45	7	3	55	275,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	55.00	5,000.00	275,000.00	
4	44111911-WB- 001	White Board, Digital		23	5	0	28	560,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	28.00	20,000.00	580,000.00	
5	52181508-TV- 001	SMART Television		39	0	2	41	2,050,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	41.00	50,000.00	2,050,000.00	
6	52181520-MC- 001	Microphone		25	0	0	25	75,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	3,000.00	75,000.00	
7	52181512-SP- 001	Speakers		37	0	0	37	370,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	37.00	10,000.00	370,000.00	
8	52181514-AM- 001	Amplifier		18	0	0	18	180,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	18.00	10,000.00	180,000.00	
9	52181517-EQ- 001	Equalizer		16	0	0	16	160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	16.00	10,000.00	160,000.00	
10	46171613-HD- 001	HD Camera		22	0	0	22	550,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	22.00	25,000.00	570,000.00	
11	46121504-DS- 001	DSLR Camera		20	0	3	23	1,150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	23.00	50,000.00	1,150,000.00	
12	46121519-VH- 001	HD Video Camera		16	0	1	17	850,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	17.00	50,000.00	850,000.00	



7	Ball Insulator 2"p	Pcs.	5	0	0	5	643.56	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	128.71	643.56
8	Bamboo pole (blg)	piece	5	0	0	5	2,160.00	332	0	0	332	143,424.00	0	0	0	0	0.00	0	0	0	0	0.00	337.00	432.00	145,594.00
9	Base Bracket 1/2 Diameter	Pcs.	5	0	0	5	2,967.36	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	593.47	2,967.36
10	Battery Connector	Pcs.	5	0	0	5	792.08	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	158.42	792.08
11	Blingwit (hook & line)	set	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	200.00	0.00
12	Black and decker cordless hammer head 18v 1.5 ah bdch18k	unit	1	0	0	1	4,845.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,845.00	4,845.00
13	Bolo	piece	100	0	0	100	43,060.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	430.60	43,060.00
14	Bushing Reducer 1 x 3/4 Diameter	Pcs.	100	0	0	100	8,300.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	83.00	8,300.00
15	Caballeti (sombbrero)	piece	100	0	0	100	33,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	330.00	33,000.00
16	Canvas/ Iona (10X20m)	piece	100	0	0	100	650,000.00	2	0	0	2	13,000.00	0	0	0	0	0.00	0	1	0	1	6,500.00	103.00	6,500.00	669,500.00
17	Canvas/ Iona (8X10m)	piece	100	0	0	100	900,000.00	2	0	0	2	18,000.00	0	0	0	0	0.00	0	1	0	1	9,000.00	103.00	9,000.00	927,000.00
18	Cement	bag	100	0	0	100	17,640.00	215	0	0	215	37,926.00	0	0	0	0	0.00	0	0	0	0	0.00	315.00	176.40	55,566.00
19	Chain Block 5 tons	piece	100	0	0	100	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	1,000.00	100,000.00
20	Chain lever block 2 tons	unit	100	0	0	100	216,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	2,160.00	216,000.00
21	Clamp Meter	unit	100	0	0	100	59,900.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	599.00	59,900.00
22	Claw steel hammer "16 oz	piece	100	0	0	100	58,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	580.00	58,000.00
23	Cloth working gloves	pair	100	0	0	100	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	50.00	5,000.00
24	Coco lumber (2X12X12)	piece	100	0	0	100	7,200.00	120	0	0	120	8,640.00	0	0	0	0	0.00	0	0	0	0	0.00	220.00	72.00	15,940.00
25	Coco lumber (2X3X10)	piece	100	0	0	100	28,000.00	124	0	0	124	34,720.00	0	0	0	0	0.00	0	0	0	0	0.00	224.00	280.00	62,720.00
26	Coco lumber (2X3X12)	piece	100	0	0	100	11,520.00	238	0	0	238	27,417.60	0	0	0	0	0.00	0	0	0	0	0.00	338.00	115.20	38,337.60
27	Common nails	kilo	100	0	0	100	10,560.00	18	0	0	18	1,900.80	0	0	0	0	0.00	0	0	0	0	0.00	118.00	105.60	12,460.80
28	Common nails 2"	kilo	100	0	0	100	10,560.00	27	0	0	27	2,851.20	0	0	0	0	0.00	0	0	0	0	0.00	127.00	105.60	13,411.20
29	Common nails 3"	kilo	100	0	0	100	10,560.00	49	0	0	49	5,174.40	0	0	0	0	0.00	0	0	0	0	0.00	149.00	105.60	15,734.40
30	Common nails 4"	kilo	100	0	0	100	10,560.00	19	0	0	19	2,006.40	0	0	0	0	0.00	0	0	0	0	0.00	119.00	105.60	12,566.40
31	Concrete hollow block 4"	piece	100	0	0	100	1,800.00	1000	0	0	1000	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1,100.00	18.00	19,800.00
32	Concrete nail 1"	kilo	100	0	0	100	7,800.00	6	0	0	6	468.00	0	0	0	0	0.00	0	0	0	0	0.00	106.00	78.00	8,268.00
33	Concrete nail 3"	kilo	100	0	0	100	8,400.00	13	0	0	13	1,092.00	0	0	0	0	0.00	0	0	0	0	0.00	113.00	84.00	9,492.00
34	Construction/traffic cone-	piece	100	0	0	100	250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	2,500.00	250,000.00
35	Cutting disc # 4	piece	100	0	0	100	19,800.00	2	0	0	2	396.00	0	0	0	0	0.00	0	0	0	0	0.00	102.00	198.00	20,196.00
36	Door knob	piece	100	0	0	100	46,200.00	2	0	0	2	924.00	0	0	0	0	0.00	0	0	0	0	0.00	102.00	462.00	47,124.00
37	Double Spool Insulator (Secondary Rock)	Pcs.	100	0	0	100	38,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	386.00	38,600.00



38	Entrance Cap ¾" Diameter	Pcs.	100	0	0	100	17,100.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	100.00	171.00	17,100.00	
39	Entrance Cap 1" Diameter	Pcs.	25	25	0	50	10,700.00	25	25	0	50	10,700.00	50	0	0	50	10,700.00	25	0	0	25	5,350.00	175.00	214.00	37,450.00
40	Entrance Cap 2" Diameter	Pcs.	25	25	0	50	14,450.00	25	25	0	50	14,450.00	50	0	0	50	14,450.00	0	0	0	0	0.00	150.00	289.00	43,350.00
41	Entrance Cap 3" Diameter	Pcs.	25	25	0	50	51,500.00	25	25	0	50	51,500.00	50	0	0	50	51,500.00	0	0	0	0	0.00	150.00	1,030.00	154,500.00
42	Entrance Cap 4" Diameter	Pcs.	25	25	0	50	60,000.00	25	25	0	50	60,000.00	50	0	0	50	60,000.00	0	0	0	0	0.00	150.00	1,200.00	180,000.00
43	Faucet	piece	25	25	0	50	14,750.00	25	25	0	50	14,750.00	50	0	0	50	14,750.00	0	0	0	0	0.00	150.00	295.00	44,250.00
44	Flat Screw	piece	25	25	0	50	3,250.00	25	25	0	50	3,250.00	50	0	0	50	3,250.00	0	0	0	0	0.00	150.00	65.00	9,750.00
45	Flush door	piece	25	25	0	50	244,200.00	25	25	0	50	244,200.00	50	0	0	50	244,200.00	0	0	0	0	0.00	150.00	4,884.00	732,600.00
46	G.I Coupling 1"ø	Pcs.	25	25	0	50	5,000.00	25	25	0	50	5,000.00	50	0	0	50	5,000.00	0	0	0	0	0.00	150.00	100.00	15,000.00
47	G.I Coupling 2"ø	Pcs.	25	25	0	50	13,000.00	25	25	0	50	13,000.00	50	0	0	50	13,000.00	0	0	0	0	0.00	150.00	260.00	39,000.00
48	G.I Coupling 3"ø	Pcs.	25	25	0	50	61,200.00	25	25	0	50	61,200.00	50	0	0	50	61,200.00	0	0	0	0	0.00	150.00	1,224.00	183,600.00
49	G.I Coupling 4"ø	Pcs.	25	25	0	50	72,000.00	25	25	0	50	72,000.00	50	0	0	50	72,000.00	0	0	0	0	0.00	150.00	1,440.00	216,000.00
50	G.I Elbow 1"ø	Pcs.	25	25	0	50	6,000.00	25	25	0	50	6,000.00	50	0	0	50	6,000.00	0	0	0	0	0.00	150.00	120.00	18,000.00
51	G.I Elbow 2"ø	Pcs.	25	25	0	50	13,000.00	25	25	0	50	13,000.00	50	0	0	50	13,000.00	0	0	0	0	0.00	150.00	260.00	39,000.00
52	G.I Elbow 3"ø	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	20,000.00	0	0	0	0	0.00	50.00	400.00	20,000.00
53	G.I Elbow 4"ø	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	30,000.00	0	0	0	0	0.00	50.00	600.00	30,000.00
54	GI pipe 1"X20	piece	0	0	0	0	0.00	4	0	0	4	2,640.00	50	0	0	50	33,000.00	0	0	0	0	0.00	54.00	660.00	35,640.00
55	GI pipe 2"X20	piece	0	0	0	0	0.00	16	0	0	16	10,560.00	50	0	0	50	33,000.00	0	0	0	0	0.00	66.00	660.00	43,560.00
56	GI sheets 3X24X12 (corrugated)	piece	0	0	0	0	0.00	19	0	0	19	11,571.95	50	0	0	50	30,452.50	0	0	0	0	0.00	69.00	609.05	42,024.45
57	Gooseneck ½" Diameter	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	868,421.05	0	0	0	0	0.00	50.00	17,368.42	868,421.05
58	Gravel	elf	0	0	0	0	0.00	6	0	0	6	15,552.00	50	0	0	50	129,600.00	0	0	0	0	0.00	56.00	2,592.00	145,152.00
59	Ground rod ¾ x 8 (Galvanized)	Pcs.	20	20	0	40	74,800.00	0	0	0	0	0.00	0	20	0	20	37,400.00	0	0	0	0	0.00	60.00	1,870.00	112,200.00
60	High tension Hacksew 300mm	piece	20	20	0	40	26,400.00	0	0	0	0	0.00	0	20	0	20	13,200.00	0	0	0	0	0.00	60.00	660.00	39,600.00
61	Hinges - drum window- small	piece	20	20	0	40	4,400.00	16	0	0	16	1,760.00	0	20	0	20	2,200.00	0	0	0	0	0.00	75.00	110.00	8,360.00
62	Hinges 4"	piece	20	20	0	40	5,808.00	6	0	0	6	871.20	0	20	0	20	2,904.00	0	0	0	0	0.00	66.00	145.20	9,583.20
63	Holster	piece	20	20	0	40	7,960.00	0	0	0	0	0.00	0	20	0	20	3,980.00	0	0	0	0	0.00	60.00	199.00	11,940.00
64	Impact Driver	unit	20	20	0	40	14,000.00	0	0	0	0	0.00	0	20	0	20	7,000.00	0	0	0	0	0.00	60.00	350.00	21,000.00
65	Insulator	roll	20	20	0	40	79,200.00	2	0	0	2	3,960.00	0	20	0	20	39,600.00	0	0	0	0	0.00	62.00	1,980.00	122,760.00
66	Jars (big)	piece	20	20	0	40	666.80	0	0	0	0	0.00	0	20	0	20	333.40	60	0	0	60	1,000.20	120.00	16.67	2,000.40
67	LAG SCREW WITH EXPANSION SHIELD 1/4" Ø X 1 ¼ LENGTH	Pcs.	20	20	0	40	5,200.00	0	0	0	0	0.00	0	20	0	20	2,600.00	0	0	0	0	0.00	60.00	130.00	7,800.00
68	Lagare	piece	20	20	0	40	22,000.00	6	0	0	6	3,300.00	0	20	0	20	11,000.00	0	0	0	0	0.00	66.00	550.00	36,300.00



69	Lagareng bakal w/ handle	set	20	20	0	40	10,000.00	3	0	0	3	750.00	0	20	0	20	5,000.00	0	0	0	0	0.00	63.00	250.00	15,750.00	
70	Level bar	unit	20	20	0	40	10,000.00	3	0	0	3	750.00	0	20	0	20	5,000.00	0	0	0	0	0.00	63.00	250.00	15,750.00	
71	Locknut & Bushing 1/2" Diameter	Pcs.	20	20	0	40	1,120.00	0	0	0	0	0.00	0	20	0	20	560.00	0	0	0	0	0.00	60.00	28.00	1,680.00	
72	Locknut & Bushing 3/4" Diameter	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	20	0	20	865.60	0	0	0	0	0.00	20.00	43.28	865.60	
73	Locknut & Bushing 1" Diameter	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	20	0	20	1,300.00	0	0	0	0	0.00	20.00	65.00	1,300.00	
74	Locknut & Bushing 2" Diameter	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	20	0	20	1,330.00	0	0	0	0	0.00	20.00	66.50	1,330.00	
75	Locknut & Bushing 3" Diameter	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	20	0	20	3,172.50	0	0	0	0	0.00	20.00	158.63	3,172.50	
76	Locknut & Bushing 4" Diameter	Pcs.	0	0	50	50	8,000.00	0	50	0	50	8,000.00	0	50	0	50	8,000.00	0	50	0	50	8,000.00	200.00	160.00	32,000.00	
77	Long Nose	piece	0	0	50	50	12,450.00	0	50	0	50	12,450.00	0	50	0	50	12,450.00	0	50	0	50	12,450.00	200.00	249.00	49,800.00	
78	Magnetic Contactor Ns1	Pcs.	0	0	50	50	387,500.00	0	50	0	50	387,500.00	0	50	0	50	387,500.00	0	50	0	50	387,500.00	200.00	7,750.00	1,550,000.00	
79	Magnetic Contactor Ns2	Pcs.	0	0	50	50	600,100.00	0	50	0	50	600,100.00	0	50	0	50	600,100.00	0	50	0	50	600,100.00	200.00	12,002.00	2,400,400.00	
80	Magnetic Contactor Ns5	Pcs.	0	0	50	50	1,255,200.00	0	50	0	50	1,255,200.00	0	50	0	50	1,255,200.00	0	50	0	50	1,255,200.00	200.00	25,104.00	5,020,800.00	
81	Malleable Clamp 3/4" ø	Pcs.	0	0	50	50	1,800.00	0	50	0	50	1,800.00	0	50	0	50	1,800.00	0	50	0	50	1,800.00	200.00	36.00	7,200.00	
82	Malleable Clamp 1" ø	Pcs.	0	0	50	50	2,100.00	0	50	0	50	2,100.00	0	50	0	50	2,100.00	0	50	0	50	2,100.00	200.00	42.00	8,400.00	
83	Malleable Clamp 2" ø	Pcs.	0	0	50	50	3,264.00	0	50	0	50	3,264.00	0	50	0	50	3,264.00	0	50	0	50	3,264.00	200.00	65.28	13,056.00	
84	Malleable Clamp 3" ø	Pcs.	0	0	50	50	8,840.00	0	50	0	50	8,840.00	0	50	0	50	8,840.00	0	50	0	50	8,840.00	200.00	176.80	35,360.00	
85	Malleable Clamp 4" ø	Pcs.	0	0	50	50	10,000.00	0	50	0	50	10,000.00	0	50	0	50	10,000.00	0	50	0	50	10,000.00	200.00	200.00	40,000.00	
86	Maong gloves	pair	0	0	50	50	8,250.00	36	50	0	86	14,190.00	0	0	0	0	0.00	0	0	0	0	0.00	136.00	165.00	22,440.00	
87	Martilyo	piece	0	0	50	50	17,500.00	6	0	0	6	2,100.00	0	0	0	0	0.00	0	0	0	0	0.00	56.00	350.00	19,600.00	
88	MASONRY DRILL BIT 1/4	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	200.00	0.00	
89	Metal Clamp 3/4" ø	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	36.00	0.00	
90	Metal Clamp 1" ø	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	200.00	0.00	
91	METAL DRILL BIT 1/4	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	200.00	1,000.00	
92	Metro (measuring tape)	piece	2	0	0	2	400.00	3	0	0	3	600.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	44.00	0.00	
93	Mogul Socket (500w)	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,840.00	0.00	
94	Mogul Socket (Ordinary)	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	45.50	45,500.00	
95	Nipa	piece	0	0	0	0	0.00	1000	0	0	1000	45,500.00	0	0	0	0	0.00	0	0	0	0	0.00	5,900.00	375.00	118.00	44,250.00
96	Nipple 1/2"x 4" Diameter	Pcs.	100	100	0	200	23,600.00	0	50	0	50	5,900.00	50	25	0	75	8,850.00	0	50	0	50	5,900.00	325.00	42.80	13,910.00	
97	Nipple 3/4"x 4" Diameter	Pcs.	100	100	0	200	8,560.00	0	50	0	50	2,140.00	50	25	0	75	3,210.00	0	0	0	0	0.00	325.00	119.20	38,740.00	
98	Nipple 1"x 4" Diameter	Pcs.	100	100	0	200	23,840.00	0	50	0	50	5,960.00	50	25	0	75	8,940.00	0	0	0	0	0.00	325.00	153.68	49,946.00	
99	Nipple 2"x 4" Diameter	Pcs.	100	100	0	200	30,736.00	0	50	0	50	7,684.00	50	25	0	75	11,526.00	0	0	0	0	0.00	325.00	153.68	49,946.00	



100	Nipple 3"x 4" Diameter	Pcs.	100	100	0	200	8,560.00	0	50	0	50	2,140.00	50	25	0	75	3,210.00	0	0	0	0	0.00	325.00	42.80	13,910.00
101	Pails (PVC)	piece	100	100	0	200	50,000.00	0	50	0	50	12,500.00	50	25	0	75	18,750.00	0	0	0	0	0.00	325.00	250.00	81,250.00
102	Pails w/ lid (timba)	piece	100	100	0	200	36,000.00	0	50	0	50	9,000.00	50	25	0	75	13,500.00	48	0	0	48	8,640.00	373.00	180.00	67,140.00
103	Paint (diff. color- 16 ll/can)	can	100	100	0	200	283,334.00	0	50	0	50	70,833.50	50	25	0	75	106,250.25	0	0	0	0	0.00	325.00	1,416.67	460,417.75
104	Paint (green)	gallon	100	100	0	200	110,000.00	0	50	0	50	27,500.00	50	25	0	75	41,250.00	0	0	0	0	0.00	325.00	550.00	178,750.00
105	Paint brush	piece	100	100	0	200	22,000.00	0	50	0	50	5,500.00	50	25	0	75	8,250.00	0	0	0	0	0.00	325.00	110.00	35,750.00
106	Photo Cell (fisher Pierce)	Pcs.	100	100	0	200	391,200.00	0	50	0	50	97,800.00	50	25	0	75	146,700.00	0	50	0	50	97,800.00	375.00	1,956.00	733,500.00
107	Photo Receptacle with Bracket	Pcs.	100	100	0	200	391,200.00	0	50	0	50	97,800.00	50	25	0	75	146,700.00	0	0	0	0	0.00	325.00	1,956.00	635,700.00
108	Piko	piece	100	100	0	200	100,000.00	0	50	0	50	25,000.00	50	25	0	75	37,500.00	0	0	0	0	0.00	325.00	500.00	162,500.00
109	Plastic bag (polyethylene- 2X3X.3)	piece	100	100	0	200	100.00	0	50	0	50	25.00	50	25	0	75	37.50	21400	0	0	21400	10,700.00	21,725.00	0.50	10,862.50
110	Plastic barnish (4 ll./can)	can	0	0	0	0	0.00	0	50	0	50	120,530.00	50	25	0	75	180,795.00	0	0	0	0	0.00	125.00	2,410.60	301,325.00
111	Plastic door for CR	piece	0	0	0	0	0.00	0	50	0	50	90,000.00	50	25	0	75	135,000.00	0	0	0	0	0.00	125.00	1,800.00	225,000.00
112	Plastic drum	piece	0	0	0	0	0.00	0	50	0	50	59,400.00	50	25	0	75	89,100.00	0	0	0	0	0.00	125.00	1,188.00	148,500.00
113	Plywood (form work)	piece	0	0	0	0	0.00	0	50	0	50	21,450.00	50	25	0	75	32,175.00	0	0	0	0	0.00	125.00	429.00	53,625.00
114	PVC Adaptor 1/2"ø	Pcs.	50	0	0	50	2,000.00	0	50	0	50	2,000.00	50	25	0	75	3,000.00	200	200	0	400	16,000.00	575.00	40.00	23,000.00
115	PVC Adaptor 3/4"ø	Pcs.	50	0	0	50	2,000.00	0	50	0	50	2,000.00	50	25	0	75	3,000.00	200	200	0	400	16,000.00	575.00	40.00	23,000.00
116	PVC Adaptor 1"ø	Pcs.	50	0	0	50	3,000.00	0	50	0	50	3,000.00	50	25	0	75	4,500.00	200	200	0	400	24,000.00	575.00	60.00	34,500.00
117	PVC Adaptor 2"ø	Pcs.	50	0	0	50	4,046.00	0	50	0	50	4,046.00	50	25	0	75	6,069.00	200	200	0	400	32,368.00	575.00	80.92	46,529.00
118	PVC Adaptor 3"ø	Pcs.	50	0	0	50	16,618.00	0	50	0	50	16,618.00	50	25	0	75	24,927.00	200	200	0	400	132,944.00	575.00	332.36	191,107.00
119	PVC Adaptor 4"ø	Pcs.	50	0	0	50	20,000.00	0	50	0	50	20,000.00	50	25	0	75	30,000.00	200	200	0	400	160,000.00	575.00	400.00	230,000.00
120	PVC Clamp 1/2"ø	Pcs.	50	0	0	50	500.00	0	50	0	50	500.00	50	25	0	75	750.00	200	200	0	400	4,000.00	575.00	10.00	5,750.00
121	PVC Elbow 1/2"ø	Pcs.	50	0	0	50	3,500.00	0	50	0	50	3,500.00	50	25	0	75	5,250.00	200	200	0	400	28,000.00	575.00	70.00	40,250.00
122	PVC Elbow 3/4"ø	Pcs.	50	0	0	50	9,000.00	0	50	0	50	9,000.00	50	25	0	75	13,500.00	200	200	0	400	72,000.00	575.00	180.00	103,500.00
123	PVC Elbow 1"ø	Pcs.	50	0	0	50	6,000.00	0	50	0	50	6,000.00	50	25	0	75	9,000.00	200	200	0	400	48,000.00	575.00	120.00	69,000.00
124	PVC Elbow 2"ø	Pcs.	50	0	0	50	13,000.00	0	50	0	50	13,000.00	50	25	0	75	19,500.00	200	200	0	400	104,000.00	575.00	260.00	149,500.00
125	PVC Glue (neltex)	Cans	50	0	0	50	12,500.00	0	50	0	50	12,500.00	50	25	0	75	18,750.00	200	200	0	400	100,000.00	575.00	250.00	143,750.00
126	PVC Pipe 1/2"ø	Pcs.	50	0	0	50	23,000.00	0	50	0	50	23,000.00	50	25	0	75	34,500.00	200	200	0	400	184,000.00	575.00	460.00	264,500.00
127	PVC Pipe 3/4"ø	Pcs.	50	0	0	50	15,400.00	0	50	0	50	15,400.00	50	25	0	75	23,100.00	200	200	0	400	123,200.00	575.00	308.00	177,100.00
128	PVC Pipe 1"ø	Pcs.	50	0	0	50	15,400.00	0	50	0	50	15,400.00	50	25	0	75	23,100.00	200	200	0	400	123,200.00	575.00	308.00	177,100.00
129	PVC Pipe 2"ø	Pcs.	50	0	0	50	21,000.00	0	50	0	50	21,000.00	50	25	0	75	31,500.00	200	200	0	400	168,000.00	575.00	420.00	241,500.00
130	PVC Pipe 3"ø	Pcs.	50	0	0	50	28,000.00	0	50	0	50	28,000.00	50	25	0	75	42,000.00	200	200	0	400	224,000.00	575.00	560.00	322,000.00



131	PVC Pipe 4"ø	Pcs.	50	0	0	50	45,000.00	0	50	0	50	45,000.00	50	25	0	75	67,500.00	200	200	0	400	350,000.00	575.00	900.00	517,500.00
132	PVC pipes 1"	piece	50	0	0	50	25,000.00	0	50	0	50	25,000.00	50	25	0	75	37,500.00	200	200	0	400	200,000.00	575.00	500.00	287,500.00
133	R.S.C. Pipe ¾" Diameter	Pcs.	50	0	0	50	8,500.00	35	10	0	45	7,650.00	25	25	25	75	12,750.00	200	200	0	400	68,000.00	570.00	170.00	96,900.00
134	R.S.C. Pipe 1" Diameter	Pcs.	50	0	0	50	86,750.00	35	10	0	45	78,075.00	25	25	25	75	130,125.00	200	200	0	400	694,000.00	570.00	1,735.00	988,950.00
135	R.S.C. Pipe 2" Diameter	Pcs.	50	0	0	50	150,000.00	35	10	0	45	135,000.00	25	25	25	75	225,000.00	200	200	0	400	1,200,000.00	570.00	3,000.00	1,710,000.00
136	R.S.C. Pipe 3" Diameter	Pcs.	50	0	0	50	150,000.00	35	10	0	45	135,000.00	25	25	25	75	225,000.00	200	200	0	400	1,200,000.00	570.00	3,000.00	1,710,000.00
137	R.S.C. Pipe 4" Diameter	Pcs.	50	0	0	50	140,000.00	35	10	0	45	126,000.00	25	25	25	75	210,000.00	200	200	0	400	1,120,000.00	570.00	2,800.00	1,596,000.00
138	Rake	piece	50	0	0	50	18,000.00	27	0	0	27	9,720.00	0	0	0	0	0.00	0	0	0	0	0.00	77.00	360.00	27,720.00
139	Red oxide paints	gallon	50	0	0	50	35,000.00	5	0	0	5	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	55.00	700.00	38,500.00
140	Round bar- 10mm	piece	50	0	0	50	4,620.00	100	0	0	100	9,240.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	92.40	13,860.00
141	Rubber hand glove	dozen	50	0	0	50	54,000.00	1	0	0	1	1,080.00	0	0	0	0	0.00	2	0	0	2	2,160.00	53.00	1,080.00	57,240.00
142	Rubber Tape	Pcs.	50	0	0	50	13,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	270.00	13,500.00
143	Sand	elf	50	0	0	50	108,000.00	16	0	0	16	34,560.00	0	0	0	0	0.00	0	0	0	0	0.00	66.00	2,160.00	142,560.00
144	Screw driver phillp screw	piece	50	0	0	50	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	70.00	3,500.00
145	Shovel	piece	50	0	0	50	83,040.00	33	0	0	33	54,806.40	0	0	0	0	0.00	0	0	0	0	0.00	83.00	1,660.80	137,846.40
146	Socket Ratchet Wrenc Set 1/2" drive	set	50	0	0	50	112,750.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	2,255.00	112,750.00
147	Sprinkler (lagadera) (6 li. Capacity)	piece	50	0	0	50	6,600.00	15	0	0	15	1,980.00	0	0	0	0	0.00	0	0	0	0	0.00	65.00	132.00	8,580.00
148	Squeezing net	piece	50	0	0	50	1,500.00	6	0	0	6	180.00	0	0	0	0	0.00	0	0	0	0	0.00	56.00	30.00	1,680.00
149	Submersible pump (simple -1.4 HP)	unit	50	0	0	50	259,980.00	2	0	0	2	10,399.20	1	0	0	1	5,199.60	0	0	0	0	0.00	53.00	5,199.60	275,578.80
150	Tanse (seahorse genuine nylon line)	roll	50	0	0	50	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	2,000.00	52.00	1,000.00	52,000.00
151	Terminal Block Plastic	Pcs.	50	0	0	50	6,750.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	135.00	6,750.00
152	Thinner	gallon	50	0	0	50	7,500.00	6	0	0	6	900.00	0	0	0	0	0.00	0	0	0	0	0.00	56.00	150.00	8,400.00
153	Tie wire	kilo	50	0	0	50	5,250.00	10	0	0	10	1,050.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	105.00	6,300.00
154	Tile adhesive	bag	50	0	0	50	16,800.00	1	0	0	1	336.00	0	0	0	0	0.00	0	0	0	0	0.00	51.00	336.00	17,136.00
155	Tiles (20X20)	piece	50	0	0	50	17,900.00	150	0	0	150	53,700.00	0	0	0	0	0.00	0	0	0	0	0.00	200.00	358.00	71,600.00
156	Toilet bowl	piece	50	0	0	50	12,500.00	30	0	0	30	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	80.00	250.00	20,000.00
157	torch gun with butane	unit	50	0	0	50	10,950.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	219.00	10,950.00
158	Traffic Vest	piece	50	0	0	50	300,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	6,000.00	300,000.00
159	Umbrella nails	kilo	50	0	0	50	7,250.00	2	0	0	2	290.00	0	0	0	0	0.00	0	0	0	0	0.00	52.00	145.00	7,540.00
160	UV Plastic	roll	50	0	0	50	900,000.00	1	0	0	1	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	51.00	18,000.00	918,000.00
161	Vulca seal (86g)	Pcs.	50	0	0	50	66,700.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	1,334.00	66,700.00



162	Walking Meter	piece	50	0	0	50	300,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	6,000.00	300,000.00
163	Welding rod (ordinary)	kilo	50	0	0	50	6,600.00	33	0	0	33	4,356.00	0	0	0	0	0.00	0	0	0	0	0.00	83.00	132.00	10,956.00
164	wooden handle round head hammer	piece	50	0	0	50	33,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	668.00	33,400.00
165	Ziplock plastic (4X5)	piece	50	0	0	50	400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	8.00	400.00
	ELECTRICAL SUPPLIES		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	#10 THHN Wire 5.5 mm <sup>2</sup>	boxes	50	0	0	50	301,549.09	20	0	0	20	120,619.64	20	0	0	20	120,619.64	20	0	0	20	120,619.64	110.00	6,030.98	663,408.00
2	#100 THHN Wire mm <sup>2</sup>	Meters	40	0	0	40	37,079.60	40	0	0	40	37,079.60	40	0	0	40	37,079.60	40	0	0	40	37,079.60	160.00	926.99	148,318.40
3	#12 Flat Cord (White)	Rolls	50	0	0	50	352,800.00	50	0	0	50	352,800.00	50	0	0	50	352,800.00	50	0	0	50	352,800.00	200.00	7,056.00	1,411,200.00
4	#12 THHN Wire 3.5 mm <sup>2</sup>	boxes	50	0	0	50	289,200.00	25	0	0	25	144,600.00	25	0	0	25	144,600.00	25	0	0	25	144,600.00	125.00	5,784.00	723,000.00
5	#14 THHN Wire 2.0 mm <sup>2</sup>	boxes	30	0	0	30	117,720.00	30	0	0	30	117,720.00	30	0	0	30	117,720.00	30	0	0	30	117,720.00	120.00	3,924.00	470,880.00
6	#14 TW Wire 2.0mm <sup>2</sup> (Solid Wire)	boxes	100	0	0	100	352,800.00	100	0	0	100	352,800.00	100	0	0	100	352,800.00	100	0	0	100	352,800.00	400.00	3,528.00	1,411,200.00
7	#150 THHN Wire mm <sup>2</sup>	Meters	40	0	0	40	56,600.00	40	0	0	40	56,600.00	40	0	0	40	56,600.00	40	0	0	40	56,600.00	160.00	1,415.00	226,400.00
8	#200 THHN Wire mm <sup>2</sup>	Meters	40	0	0	40	71,250.40	40	0	0	40	71,250.40	40	0	0	40	71,250.40	40	0	0	40	71,250.40	160.00	1,781.26	285,001.60
9	#22 THHN Wire mm <sup>2</sup>	Rolls	5	0	0	5	199,972.24	4	0	0	4	159,977.79	4	0	0	4	159,977.79	4	0	0	4	159,977.79	17.00	39,994.45	679,905.60
10	#250 THHN Wire mm <sup>2</sup>	Meters	40	0	0	40	91,680.00	40	0	0	40	91,680.00	40	0	0	40	91,680.00	40	0	0	40	91,680.00	160.00	2,292.00	366,720.00
11	#30 THHN Wire mm <sup>2</sup>	Rolls	5	0	0	5	165,430.91	2	0	0	2	66,172.36	2	0	0	2	66,172.36	2	0	0	2	66,172.36	11.00	33,086.18	363,948.00
12	#38 THHN Wire mm <sup>2</sup>	Rolls	5	0	0	5	327,043.64	2	0	0	2	130,817.45	2	0	0	2	130,817.45	2	0	0	2	130,817.45	11.00	65,408.73	719,496.00
13	#6 THHN Wire 14 mm <sup>2</sup>	Rolls	20	0	0	20	430,832.25	20	0	0	20	430,832.25	20	0	0	20	430,832.25	20	0	0	20	430,832.25	80.00	21,541.61	1,723,329.00
14	#60 THHN Wire mm <sup>2</sup>	Meters	40	0	0	40	24,358.00	40	0	0	40	24,358.00	40	0	0	40	24,358.00	40	0	0	40	24,358.00	160.00	608.95	97,432.00
15	#8 THHN Wire 8.0 mm <sup>2</sup>	boxes	50	0	0	50	571,905.86	30	0	0	30	343,143.51	30	0	0	30	343,143.51	30	0	0	30	343,143.51	140.00	11,438.12	1,601,336.40
16	AC voltage Detector	unit	10	0	0	10	1,310.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	131.00	1,310.00
17	Aluminum Triplex Wire #22mm <sup>2</sup>	Meters	1000	0	0	1000	90,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	90.00	90,000.00
18	Aluminum Triplex Wire #30mm <sup>2</sup>	Meters	1000	0	0	1000	110,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	110.00	110,000.00
19	Aluminum Triplex Wire #6mm <sup>2</sup>	Meters	1000	0	0	1000	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	50.00	50,000.00
20	CFL Bulb (24 W)	Pcs.	1000	0	0	1000	630,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	630.00	630,000.00
21	CIRCUIT BREAKER - 20A PLUG IN	Pcs.	60	0	0	60	22,500.00	60	0	0	60	22,500.00	60	0	0	60	22,500.00	60	0	0	60	22,500.00	240.00	375.00	90,000.00
22	CIRCUIT BREAKER - 30A PLUG IN	Pcs.	60	0	0	60	22,500.00	60	0	0	60	22,500.00	60	0	0	60	22,500.00	60	0	0	60	22,500.00	240.00	375.00	90,000.00
23	CIRCUIT BREAKER - 60A PLUG IN	Pcs.	40	0	0	40	20,000.00	40	0	0	40	20,000.00	40	0	0	40	20,000.00	40	0	0	40	20,000.00	160.00	500.00	80,000.00
24	Circuit breaker 100A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	500	0	0	500	63,157.89	150	0	0	150	18,947.37	150	0	0	150	18,947.37	150	0	0	150	18,947.37	950.00	126.32	120,000.00
25	Circuit breaker 150A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	15	0	0	15	30,000.00	15	0	0	15	30,000.00	15	0	0	15	30,000.00	15	0	0	15	30,000.00	60.00	2,000.00	120,000.00
26	Circuit breaker 200A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	10	0	0	10	22,110.00	10	0	0	10	22,110.00	10	0	0	10	22,110.00	10	0	0	10	22,110.00	40.00	2,211.00	88,440.00



27	Circuit breaker 225A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	10	0	0	10	25,000.00	10	0	0	10	25,000.00	10	0	0	10	25,000.00	10	0	0	10	25,000.00	40.00	2,500.00	100,000.00
28	Circuit breaker 300A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	10	0	0	10	35,000.00	10	0	0	10	35,000.00	10	0	0	10	35,000.00	10	0	0	10	35,000.00	40.00	3,500.00	140,000.00
29	Circuit breaker 350A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	5	0	0	5	20,000.00	5	0	0	5	20,000.00	5	0	0	5	20,000.00	5	0	0	5	20,000.00	20.00	4,000.00	80,000.00
30	Circuit breaker 60A (Bolt on) Industrial Type w/ NEMA 3R GE Brand	Pcs.	500	0	0	500	150,000.00	250	0	0	250	75,000.00	250	0	250	500	150,000.00	250	0	0	250	75,000.00	1,500.00	300.00	450,000.00
31	Cutting disc	pack	10	0	0	10	1,750.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	175.00	1,750.00
32	Electrical tape	roll	0	0	0	0	0.00	3	0	0	3	234.99	0	0	0	0	0.00	0	0	0	0	0.00	3.00	78.33	234.99
33	Electrical wire (14 split)	meter	0	0	0	0	0.00	30	0	0	30	3,057.60	0	0	0	0	0.00	0	0	0	0	0.00	30.00	101.92	3,057.60
34	Extension wire (15m)	piece	0	0	0	0	0.00	2	0	0	2	700.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	350.00	700.00
35	Flourescent bulb (20 watts)	set	0	0	0	0	0.00	6	2	0	8	4,800.00	4	2	4	10	6,000.00	4	2	0	6	3,600.00	24.00	600.00	14,400.00
36	Flourescent Lmap, 18 watts, linear tubular T8	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	40.56	0.00
37	Hans Manual Cable Cutter 500mcm	unit	2	0	0	2	11,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	5,500.00	11,000.00
38	Junction box	piece	0	0	0	0	0.00	6	0	0	6	400.02	0	0	0	0	0.00	0	0	0	0	0.00	6.00	66.67	400.02
39	LED LAMP (120 WATTS)	Pcs.	375	0	0	375	6,375,000.00	0	0	0	0	0.00	0	0	375	375	6,375,000.00	375	0	0	375	6,375,000.00	1,125.00	17,000.00	19,125,000.00
40	PANEL BOARD 6 BRANCHES PLUG IN	Pcs.	100	0	0	100	654,750.00	0	0	0	0	0.00	0	0	100	100	654,750.00	100	0	0	100	654,750.00	300.00	6,547.50	1,964,250.00
41	Plier	piece	10	0	0	10	8,670.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	867.00	8,670.00
42	Pull Box 10"x12"x8	Pcs.	5	0	0	5	5,375.00	0	0	0	0	0.00	0	0	5	5	5,375.00	5	0	0	5	5,375.00	15.00	1,075.00	16,125.00
43	Pull Box 12"x24"x8	Pcs.	5	0	0	5	8,580.00	0	0	0	0	0.00	0	0	5	5	8,580.00	5	0	0	5	8,580.00	15.00	1,716.00	25,740.00
44	Receptacle	piece	0	0	0	0	0.00	1	0	0	1	62.02	0	0	0	0	0.00	0	0	0	0	0.00	1.00	62.02	62.02
45	Reflector dome (big)	Pcs.	500	0	0	500	569,000.00	0	0	0	0	0.00	0	0	500	500	569,000.00	500	0	0	500	569,000.00	1,500.00	1,138.00	1,707,000.00
46	Side Cutter	piece	10	0	0	10	4,470.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	447.00	4,470.00
47	Solder less Connector #100 mm <sup>2</sup>	Pcs.	6	0	0	6	2,856.00	0	0	0	0	0.00	0	0	6	6	2,856.00	6	0	0	6	2,856.00	18.00	476.00	8,568.00
48	Solder less Connector #150 mm <sup>2</sup>	Pcs.	6	0	0	6	3,570.00	0	0	0	0	0.00	0	0	6	6	3,570.00	6	0	0	6	3,570.00	18.00	595.00	10,710.00
49	Solder less Connector #200mm <sup>2</sup>	Pcs.	6	0	0	6	4,896.00	0	0	0	0	0.00	0	0	6	6	4,896.00	6	0	0	6	4,896.00	18.00	816.00	14,688.00
50	Solder less Connector #22 mm <sup>2</sup>	Pcs.	6	0	0	6	840.00	0	0	0	0	0.00	0	0	6	6	840.00	6	0	0	6	840.00	18.00	140.00	2,520.00
51	Solder less Connector #250mm <sup>2</sup>	Pcs.	6	0	0	6	5,760.00	0	0	0	0	0.00	0	0	6	6	5,760.00	6	0	0	6	5,760.00	18.00	960.00	17,280.00
52	Solder less Connector #30 mm <sup>2</sup>	Pcs.	6	0	0	6	1,230.00	0	0	0	0	0.00	0	0	6	6	1,230.00	6	0	0	6	1,230.00	18.00	205.00	3,690.00
53	Solder less Connector #38 mm <sup>2</sup>	Pcs.	6	0	0	6	1,920.00	0	0	0	0	0.00	0	0	6	6	1,920.00	6	0	0	6	1,920.00	18.00	320.00	5,760.00
54	Solder less Connector #60 mm <sup>2</sup>	Pcs.	6	0	0	6	2,250.00	0	0	0	0	0.00	0	0	6	6	2,250.00	6	0	0	6	2,250.00	18.00	375.00	6,750.00
55	Switch	piece	0	0	0	0	0.00	2	0	0	2	792.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	396.00	792.00
56	Wire Stripper	piece	10	0	0	10	1,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	120.00	1,200.00
ELECTRICAL EQUIPMENT:						0	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00



1	Blender (glass- standard brand)	unit	0	0	0	0	0.00	2	0	0	0	2	1,400.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	700.00	1,400.00
2	Ceiling fan	unit	0	0	0	0	0.00	2	0	0	0	2	4,320.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,160.00	4,320.00
3	Electric kettle (2 L.)	unit	0	0	0	0	0.00	1	0	0	0	1	2,500.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,500.00	2,500.00
4	Electric quick chopper- small	unit	0	0	0	0	0.00	2	0	0	0	2	1,980.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	990.00	1,980.00
5	Electric stove (single burner)	unit	0	0	0	0	0.00	2	0	0	0	2	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,000.00	2,000.00
6	Exhaust Fan	unit	5	0	0	5	10,000.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	2,000.00	10,000.00
7	Plastic sealer (heavy duty -big)	unit	0	0	0	0	0.00	1	0	0	0	1	700.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	700.00	700.00
8	Refrigerator- 7 cubic	unit	0	0	0	0	0.00	1	0	0	0	1	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	18,000.00	18,000.00
9	Rice grinder (manual portable)	unit	0	0	0	0	0.00	1	0	0	0	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00
10	Steamer 3 layers -large	unit	0	0	0	0	0.00	2	0	0	0	2	3,400.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,700.00	3,400.00
11	Water Dispenser	unit	1	1	0	2	20,000.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
Office Supplies				0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	200.00	3,000.00
1	Ballkbeyan Box	piece	40	0	0	40	8,000.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
2	Ballpen (black)	piece	300	58	59	417	4,170.00	58	58	58	174	1,740.00	58	58	57	173	1,730.00	57	57	57	171	1,710.00	935.00	10.00	9,350.00	
3	Ballpen (blue)	piece	144	0	0	144	1,440.00	144	0	0	144	1,440.00	144	0	0	144	1,440.00	144	0	0	144	1,440.00	576.00	10.00	5,760.00	
4	Ballpen (red)	piece	108	0	0	108	1,080.00	108	0	0	108	1,080.00	108	0	0	108	1,080.00	108	0	0	108	1,080.00	432.00	10.00	4,320.00	
5	Brown envelope (long)	piece	0	0	0	0	0.00	0	0	0	0	0	0.00	112	0	0	112	896.00	0	0	0	0	0.00	112.00	8.00	896.00
6	Brown envelope (short)	piece	0	0	0	0	0.00	0	0	0	0	0	0.00	1400	0	0	1400	11,200.00	0	0	0	0	0.00	1,400.00	8.00	11,200.00
7	Calculator, Scientific	piece	15	0	0	15	37,500.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	2,500.00	37,500.00
8	Certificate of attendance	piece	0	0	140	140	1,400.00	140	140	140	420	4,200.00	140	140	140	420	4,200.00	140	140	140	420	4,200.00	1,400.00	10.00	14,000.00	
9	Clipboards	piece	0	0	8	8	1,796.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	224.50	1,796.00
10	CONTINUOUS FORM, 1 PLY, 280 x 241mm	box	24	0	0	24	16,373.76	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	682.24	16,373.76
11	CONTINUOUS FORM, 1 PLY, 280 x 378mm	box	24	0	0	24	24,710.40	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	1,029.50	24,710.40
12	CONTINUOUS FORM, 2 ply, 280 x 378mm, carbonless	box	24	0	0	24	31,200.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	1,300.00	31,200.00
13	CONTINUOUS FORM, 2 ply, 280mm x 241mm, carbonless	box	60	0	0	60	45,926.40	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	763.44	45,926.40
14	CONTINUOUS FORM, 3 PLY, 280 x 241mm, carbonless	box	60	0	0	60	35,808.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	596.80	35,808.00
15	CONTINUOUS FORM, 3 PLY, 280 x 378mm, carbonless	box	60	0	0	60	62,088.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	1,034.80	62,088.00
16	Fish ball plates (50 pcs/pack)	pack	0	0	0	0	0.00	24	0	0	24	2,400.00	0	0	0	0	0	0.00	0	0	0	0	0.00	24.00	100.00	2,400.00
17	ID cards	piece	0	0	0	0	0.00	0	0	0	0	0	0.00	15000	0	0	15000	375,000.00	0	0	0	0	0.00	15,000.00	25.00	375,000.00
18	Manila paper	piece	0	0	0	0	0.00	0	0	0	0	0	0.00	15000	0	0	15000	375,000.00	0	0	0	0	0.00	15,000.00	25.00	375,000.00
19	Matte sticker	piece	0	0	0	0	0.00	30	0	0	30	150.00	0	0	0	0	0	0.00	0	0	0	0	0.00	30.00	5.00	150.00



20	Paper Cutter	piece	2	0	0	2	3,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,700.00	3,400.00
21	PAPER, Multi-Purpose (copy) a3, 70 gsm	ream	48	0	0	48	28,800.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	48.00	600.00	28,800.00
22	Planting Guide Booklet	piece	0	0	0	0	0.00	0	1400	0	1400	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1,400.00	50.00	70,000.00
23	Plastic envelope with handle	piece	24	24	24	72	8,640.00	24	24	24	72	8,640.00	24	26	50	6,000.00	0	0	0	0	0	0.00	194.00	120.00	23,280.00
24	Plastic paper fastener	box	0	0	3	3	600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	200.00	600.00
25	Rubber band	box	0	0	6	6	900.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	150.00	900.00
26	Scissors- big, heavy duty	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20	0	0	20	1,300.00	20.00	65.00	1,300.00
27	Specialty paper	piece	0	0	0	0	0.00	100	0	0	100	600.00	150	0	0	150	900.00	0	0	0	0	0.00	250.00	6.00	1,500.00
28	Storage box 120L	piece	20	20	0	40	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	2,500.00	100,000.00
29	Tape, Double Adhesive	piece	360	0	0	360	5,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	360.00	15.00	5,400.00
30	Toner Cartridge, Ricoh MP 2501L	cart	24	0	0	24	48,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	2,000.00	48,000.00
	Visual /Photography/Machinery Equipments		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	5TB External Hard Drive	unit	6	0	0	6	48,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	8,000.00	48,000.00
2	DVX200 4K handheld camcorder	unit	3	0	0	3	708,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	236,000.00	708,000.00
3	Flash Speedlite 600 EX II-RT (Flash)	unit	6	0	0	6	192,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	32,000.00	192,000.00
4	Gen2 Intel I71165G7 W10 Pro 8GB Memory 512GB SSD Backli - Laptop	unit	3	0	0	3	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	50,000.00	150,000.00
5	RF 15-35mm F2.8L IS USM (Lens)	unit	2	0	0	2	280,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	140,000.00	280,000.00
6	- SANDISK EXTREME PRO 256GB SD 170MB/S V30 SPSDXXY-256G	unit	25	0	0	25	90,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	3,600.00	90,000.00
7	X Pro 2021 11Gen (Space Grey or Emerald Green) - 16 GB LPDDR4x 4266 MHz + 512 GB SSD - Laptop	unit	8	0	0	8	720,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	90,000.00	720,000.00
8	12.1 Supply and Delivery of 2 Units Drone - Visual Mapping - Can lift up to 500g	2 units	2	0	0	2	4,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,000,000.00	4,000,000.00
9	4TB External Hard Drive	unit	30	0	0	30	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	5,000.00	150,000.00
10	Amphibious Excavator Dredging Machinr	lot	1	0	0	1	50,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	50,000,000.00	50,000,000.00
11	BASE RADIO Cignus CG 828 UV 40 Watts (UHF) 50 Watts (VHF)	unit	10	0	0	10	120,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	12,000.00	120,000.00
12	BASE RADIO ANTENNA Cignus CG-F23W Fiber Glass Outdoor Antenna 100	unit	10	0	0	10	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	7,000.00	70,000.00
13	battery charger AG-HVX200AP DVCPRO HD P2 for camcorder	unit	3	0	0	3	3,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	1,000.00	3,000.00
14	Blodgester	Unit	2	0	0	2	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	250,000.00	500,000.00
15	Body Camera	Unit	60	0	0	60	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	10,000.00	600,000.00
16	Brick Maker Equipment	Unit	3	0	0	3	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	200,000.00	600,000.00
17	Brush cutter 4 stroke with accessories	Unit	2	0	0	2	300,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	150,000.00	300,000.00
18	Camera Compact Digital	Unit	4	0	0	4	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	25,000.00	100,000.00
19	CHAINSAW BLADE ONLY SIZE 16" (STIHL BRAND)	Units	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,500.00	0.00



20	CHAINSAW BLADE ONLY SIZE 20" (STIHL BRAND)	Units	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,000.00	0.00
21	CHAINSAW BLADE ONLY SIZE 30" (STIHL BRAND)	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,000.00	0.00
22	Chainsaw Stihl Brand Telescopic Gas-HT131 7.6-16.7kg	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	45,000.00	0.00
23	Chainsaw Unit Stihl Brand Size 30" MS661 C-M 30 INCHES	Pcs.	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
24	Chainsaw Unit Stihl Brand Size 16" 085 BAR 56CC-C000	Units	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
25	Chainsaw Unit Stihl Brand Size 20" MS291 POWERED PARTS 56CC UGHT SCORING	Units	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
26	Comnav t300 plus grnd receiver	unit	1	0	0	1	700,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	700,000.00	700,000.00
27	Cordless Chainsaw	Unit	2	0	0	2	250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	125,000.00	250,000.00
28	Drone camera	Unit	1	0	0	1	65,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	65,000.00	65,000.00
29	DSLR EOS 1DX Mark III (Camera Body)	unit	6	0	0	6	2,050,000.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	341,666.67	2,050,000.00
30	EF 70-200mm f2.8L IS II USM (Lens)	unit	2	0	0	2	270,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	135,000.00	270,000.00
31	Electric Drill-Makita	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	24,000.00	0.00
32	Electric grass cutter	unit	0	0	0	0	0.00	3	0	0	3	15,000.00	0	0	0	0	0.00	3.00	5,000.00	15,000.00
33	eneloop batteries color black with charger	unit	10	0	0	10	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	3,000.00	30,000.00
34	Geodetic Equipment	unit	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
35	Grinder-Makita	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	16,000.00	0.00
36	Hedge Trimmer	Unit	2	0	0	2	250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	125,000.00	250,000.00
37	Jack Hammer	unit	5	0	0	5	125,000.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	25,000.00	125,000.00
38	Kiosk Machine	unit	1	0	0	1	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	100,000.00	100,000.00
39	Laser Measure	unit	2	0	0	2	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	25,000.00	50,000.00
40	LD System roadjack	Unit	1	0	0	1	45,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	45,000.00	45,000.00
41	LED Screens	unit	40	0	0	40	3,200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	80,000.00	3,200,000.00
42	Lowepr Freeline 350 All Weather Camera Backpack Camera Bag	unit	13	0	0	13	156,000.00	0	0	0	0	0.00	0	0	0	0	0.00	13.00	12,000.00	156,000.00
43	LP-E6 LP-E6N E6 battery	unit	13	0	0	13	19,500.00	0	0	0	0	0.00	0	0	0	0	0.00	13.00	1,500.00	19,500.00
44	Manfrotto MVH502A 546BK-1 Aluminum Video Tripod Kit	unit	3	0	0	3	105,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	35,000.00	105,000.00
45	megaphone	unit	1	0	0	1	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,000.00	10,000.00
46	one toner Bioreactor	Unit	3	0	0	3	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	200,000.00	600,000.00
47	Opacimeter	Unit	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
48	Photo Copier / Xerox Machine	unit	1	9	0	10	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	50,000.00	500,000.00
49	Portable Generator Gasoline 220V Output-Champion 100485 11_500/9200W Injection Electronic Fuel	piece	2	0	0	2	140,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	70,000.00	140,000.00
50	Poultry Incubator (112 eggs capacity)	unit	0	0	0	0	0.00	1	0	0	1	17,000.00	0	0	0	0	0.00	1.00	17,000.00	17,000.00



51	POWER EXTENSION CORD Panther Power Extension Cord Cable Wire with	unit	10	0	0	10	10,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	10.00	1,000.00	10,000.00
52	professional video light LED 5009	unit	3	0	0	3	15,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	3.00	5,000.00	15,000.00
53	Pulverizer	Unit	4	0	0	4	800,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	4.00	200,000.00	800,000.00
54	Radio 2 way	Unit	5	6	0	11	110,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	11.00	10,000.00	110,000.00
55	RODE microphone - videomic pro	unit	3	0	0	3	45,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	3.00	15,000.00	45,000.00
56	Shredder for waste	Unit	5	0	0	5	2,500,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	5.00	500,000.00	2,500,000.00
57	Shredder Machine	unit	0	0	0	0	0.00	3	0	0	3	24,000.00	0	0	0	0.00	0	0	0	0.00	3.00	8,000.00	24,000.00
58	Submersible Pump	unit	5	0	0	5	150,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	5.00	30,000.00	150,000.00
59	Total Station Non Prism	unit	2	0	0	2	600,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	300,000.00	600,000.00
60	Clignus UV-B6 VHF UHF Dual Band Two-Way Radio	unit	50	0	0	50	85,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	50.00	1,700.00	85,000.00
61	Welding machine 400A	Unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	0.00	4,000.00	0.00
62	Wingtra vtol Drone Mapping & Surveying	unit	1	0	0	1	5,500,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	5,500,000.00	5,500,000.00
INFORMATION AND COMMUNICATION TECHNOLOGY (ICT) EQUIPMENT AND DEVICES AND ACCESSORIES			0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	0.00	0.00	0.00
1	A3 Printer	Unit	1	0	0	1	20,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	20,000.00	20,000.00
2	Aluminum Telescopic Ladder, 15.5 Foot	Piece	2	0	0	2	54,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	27,000.00	54,000.00
3	Cad Plotter	Unit	1	0	0	1	384,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	384,000.00	384,000.00
4	CCTV Package	Set	1	1	0	2	120,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	60,000.00	120,000.00
5	Delta Cabinet	Piece	20	0	0	20	118,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	20.00	5,900.00	118,000.00
6	Deco M9 Plus (2 pack)	Piece	30	0	0	30	525,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	30.00	17,500.00	525,000.00
7	Desktop Computer, Branded	unit	4	5	5	14	980,000.00	15	67	0	82	5,740,000.00	0	0	0	0.00	0	0	0	0.00	96.00	70,000.00	5,720,000.00
8	DVD Rewritable, speed:4x min, 4.7gb capacity min	piece	120	0	0	120	3,600.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	120.00	30.00	3,600.00
9	Hubs/ Switches	Piece	50	0	0	50	223,978.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	50.00	4,479.56	223,978.00
10	Laptop Computer	unit	2	0	30	32	3,200,000.00	78	0	0	78	7,800,000.00	0	0	0	0.00	0	0	0	0.00	110.00	100,000.00	11,000,000.00
11	Media Converter	Piece	25	0	0	25	57,500.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	25.00	2,300.00	57,500.00
12	Monitor	Piece	5	0	0	5	50,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	5.00	10,000.00	50,000.00
13	Network UTP Cables	meters	54044	0	0	54044	4,863,960.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	54,044.00	90.00	4,863,960.00
14	Networks Routers	Piece	60	0	0	60	90,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	60.00	1,500.00	90,000.00
15	Printer, Inkjet, color	Unit	4	10	30	44	1,100,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	44.00	25,000.00	1,100,000.00
16	Scanner Flatbed	Piece	6	0	0	6	30,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	6.00	5,000.00	30,000.00
17	Scanner, Colored, Double sided, feeder type	Piece	6	0	0	6	265,800.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	6.00	44,300.00	265,800.00
18	Servers	Piece	2	0	0	2	800,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	400,000.00	800,000.00



13	45121906-VC-CD1	Video Conference Equipment	11	0	0	11	1,100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	11.00	100,000.00	1,100,000.00
14	39112102-LB-801	LED bulb	30	0	30	60	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	500.00	30,000.00
15	43212104-PI-M01	PRINTER, Inkjet, Monochrome	10	5	0	15	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	10,000.00	150,000.00
16	43212104-PI-CD1	PRINTER, Inkjet, Color	41	3	0	44	616,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	44.00	14,000.00	616,000.00
17	43212105-PP-001	Portable Printer	21	0	0	21	168,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	21.00	8,000.00	168,000.00
18	43211509-AT-001	Android Tablet	23	0	0	23	230,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	23.00	10,000.00	230,000.00
19	43222610-HS-001	Hub/Switches	40	0	2	42	42,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	42.00	1,000.00	42,000.00
20	43222609-NR-001	Network Routers	13	0	2	15	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	1,000.00	15,000.00
21	43222640-WA-P01	Wireless Access Point	24	0	2	26	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	26.00	0.00	0.00
22	43211711-SF-001	Scanner, Flatbed	8	0	0	8	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	25,000.00	200,000.00
23	45111601-WP-P01	Wireless Pointing Device / Laser Pointer	10	0	0	10	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	2,000.00	20,000.00
24	81112306-MF-P01	Multi Function PRINTER	3	1	0	4	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	15,000.00	60,000.00
25	39121011-UP-S01	UNINTERRUPTIBLE POWER SUPPLY (UPS)	83	0	0	83	166,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	83.00	2,000.00	166,000.00
26	43191501-MP-001	Mobile Phone	74	1	4	79	790,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	79.00	10,000.00	790,000.00
27	43211711-SC-D01	Scanner, Colored, Double sided, feeder type	13	1	0	14	280,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	14.00	20,000.00	280,000.00
28	53121601-GB-001	GO BAG, for disaster relief, rescue operations	1001	0	40	1041	1,561,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,041.00	1,500.00	1,561,500.00
29	60104701-SP-001	Solar Panel	3	0	0	3	450,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	150,000.00	450,000.00
30	46161604-LV-L01	Life Vest / Life Jacket (for emergency purposes / emergency preparedness /	1000	0	0	1000	2,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	2,000.00	2,000,000.00
31	26111607-CC-S01	Charge Controller and DC Inverter for Solar Panel	3	0	0	3	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	0.00	0.00
32	46181502-BF-V01	Bullet proof vest	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
33	25172502-WW-001	Wheels, _____ (type of vehicle)	18	1	0	19	19,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	19.00	1,000,000.00	19,000,000.00
34	40161513-FF-001	Fuel Filters	870	870	873	2613	0.00	870	870	870	2610	0.00	870	873	870	2613	0.00	0	0	0	0	0.00	7,836.00	0.00	0.00
35	48101710-DW-F01	Drinking Water/ Fountain	4	0	0	4	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	0.00	0.00
36	26111729-AB-001	Auto Battery	22	0	2	24	0.00	2	0	0	2	0.00	0	2	0	2	0.00	0	0	0	0	0.00	28.00	0.00	0.00
Construction Materials:			0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	# 5/16 Machine Bolt	Pcs.	5	0	0	5	3,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	600.00	3,000.00
2	#8 Tox w/ Screw	boxes	5	0	0	5	8,240.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	1,648.00	8,240.00
3	Aerator	unit	0	0	0	0	0.00	6	0	0	6	5,100.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	850.00	5,100.00
4	Allen wrench	set	1	0	0	1	405.00	6	0	0	6	2,430.00	0	0	0	0	0.00	0	0	0	0	0.00	7.00	405.00	2,835.00
5	Aluminum Telescopic Ladder, 15.5 Foot	piece	3	0	0	3	81,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	27,000.00	81,000.00
6	Asarol	piece	5	0	0	5	2,250.00	15	0	0	15	6,750.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	450.00	9,000.00



26	TCU Learning Management System (LMS)	lot	1	0	0	1	5,405,905.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,405,905.00	5,405,905.00
27	Ten (10) OTT Water/Flood Level Sensor (Radar Type)	Piece	10	0	0	10	3,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	350,000.00	3,500,000.00
28	Ten (10) Raspberry Shake 4D All Weather Device with GPS - Detect & measure earthquakes & seismic activities like structural motion, fracking, explosions, eruptions, avalanches, landslides etc.	Units	10	0	0	10	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	300,000.00	3,000,000.00
29	Ten (10) Solar Panel Set	Piece	10	0	0	10	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	50,000.00	500,000.00
30	Ten (10) Sutron xlink 100 Data Analyzer and Logger	Piece	10	0	0	10	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	500,000.00	5,000,000.00
31	Thirty (30) Smart Mosquito Surveillance Sensor	Units	30	0	0	30	10,200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	340,000.00	10,200,000.00
32	Ticketing System	lot	1	0	0	1	900,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	900,000.00	900,000.00
33	Web Portal Access (Annual License)	lot	1	0	0	1	2,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00
34	Work Flow Solution (to connect department and Inter-department functions with front-end channels)	lot	1	0	0	1	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000,000.00	5,000,000.00
35	Adobe Package	lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
36	Annual Subscription for IP PBX System	lot	1	0	0	1	900,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	900,000.00	900,000.00
37	Anti Virus Software	license	1	0	0	1	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	0.00	0.00
38	Artificial Intelligence Processing System - Monitors crowd density produced by 56 DVIS Sensors (License)	lot	1	0	0	1	2,800,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,800,000.00	2,800,000.00
39	Auto CAD Software	license	1	0	0	1	66,953.33	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	66,953.33	66,953.33
40	Card Management Software	lot	1	0	0	1	15,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	15,000,000.00	15,000,000.00
41	Computer & Network System	lot	1	0	0	1	800,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	800,000.00	800,000.00
42	Construction of Server Room, Audio & Visual Rooms (2) and enhancement of Speech Lab	lot	1	0	0	1	1,400,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,400,000.00	1,400,000.00
43	Construction of TOWER Command Center	lot	1	0	0	1	12,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	12,000,000.00	12,000,000.00
44	Data Processing License of 100 units of DVIS Sensor (License)	lot	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
45	Database Server	lot	1	0	0	1	599,130.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	599,130.00	599,130.00
46	Drone Platform System (License)	lot	1	0	0	1	1,800,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,800,000.00	1,800,000.00
47	Dropbox (Professional) One-year Subscription	lot	1	0	0	1	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	15,000.00	15,000.00
48	Expansion of Health Center Structured Cabling - Supply and Installation of additional thirty eight (38) Health Center and other government offices	units	38	0	0	38	24,690,831.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	38.00	649,758.71	24,690,831.00
49	Expansion of Kiosk TRACE to all Government Office including Barangay Hall, HC, Satellite Offices and Priority Sites (50 Sites)	units	50	0	0	50	10,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	200,000.00	10,000,000.00
50	15.1 Expansion of WiFi ng Bayan - Internet stability of the existing network - Supply and Installation of additional two hundred (200) units of Wi-Fi Wireless Network Devices - Supply and Installation of enhance network equipment including servers, firewall and switches	lot	1	0	0	1	87,509,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	87,509,000.00	87,509,000.00
51	Fix Internet and backup Internet	lot	1	0	0	1	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	600,000.00	600,000.00



52	Four (4) Iridium Satellite Connection for the device data connection Annual (License)	lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
53	FreePik Premium - Annual Subscription	unit	1	0	0	1	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,000.00	6,000.00
54	Front end Server	lot	1	0	0	1	1,621,084.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,621,084.00	1,621,084.00
55	Garmin GPS System		1	0	0	1	61,320.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	61,320.00	61,320.00
56	Geographic Information System	license	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
57	Google Drive Account - Annual Subscription for 2TB Storage	unit	1	0	0	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00
58	Layer 3 SWITCH	lot	1	0	0	1	104,119.05	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	104,119.05	104,119.05
59	Library System	lot	1	0	0	1	250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	250,000.00	250,000.00
60	License for New Datasets (Enhanced Weather Observations, Enhanced Weather Forecast, Nowcast, When will it Rain, Short Term Rain Assessment, Mosquito Activity, Aches and Pains, Breathing Index, Lightning & Thunderstorm and Weather Videos)	lot	1	0	0	1	2,900,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,900,000.00	2,900,000.00
61	Maintenance and Operations of 156 DVIS Sensors for DVIS and Density Street Monitoring to maintain Uptime Rate	lot	1	0	0	1	2,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00
62	Mobile App Development (IOS & Android)	lot	2	0	0	2	7,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,500,000.00	7,000,000.00
63	MS Office License	lot	1	0	0	1	1,200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,200,000.00	1,200,000.00
64	ms Visual Studio	lot	1	0	0	1	750,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	750,000.00	750,000.00
65	Network Monitoring System	lot	1	0	0	1	3,980,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,980,000.00	3,980,000.00
66	Office Equipment (TCU)	lot	1	0	0	1	5,050,093.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,050,093.00	5,050,093.00
67	OneDrive (Microsoft Office 365 E3) One-year Subscription	lot	1	0	0	1	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	20,000.00	20,000.00
68	PBX and PSTN Setup Provider	lot	1	0	0	1	650,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	650,000.00	650,000.00
69	Professional Fee for Process Improvement	lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
70	Records Management System	lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
71	Renewal of Firewall Certificates	lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
72	Royalty-free Stock Photos / Vectors -Shutterstock Annual Subscription for 750 Images	lot	1	0	0	1	120,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	120,000.00	120,000.00
73	Server RACK (2 units)	lot	1	0	0	1	400,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	400,000.00	400,000.00
74	Sketchup Software	license	1	0	0	1	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	0.00	0.00
75	Socio Economic System and Analytics	lot	1	0	0	1	2,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00
76	Softwares	lot	1	0	0	1	3,700,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,700,000.00	3,700,000.00
77	STAAD Software	license	1	0	0	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
78	Storage Server	lot	1	0	0	1	1,681,572.24	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,681,572.24	1,681,572.24
79	Subscription	lot	1	0	0	1	1,267,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,267,000.00	1,267,000.00



80	Supply and Installation of enterprise IP-PBX Telephone System	lot	1	0	0	1	4,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,500,000.00	4,500,000.00
81	Supply of 400,000 card printed cards for Citizen. Supply of printed cards, printer, capturing tools and softwares.	Piece	400000	0	0	400000	91,061,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	400,000.00	227.65	91,061,200.00
82	Support 2nd Level of Software and Hardware (License)	lot	1	0	0	1	1,900,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,900,000.00	1,900,000.00
83	Ten Data Subscription Annual	lot	1	0	0	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
84	Trainings & Implementation	lot	1	0	0	1	180,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	180,000.00	180,000.00
85	Web Application License - Disease Points & Breeding Msp, Mosquito Population by Species Dashboard, Mosquito Count List, Mosquito Density Map, Mosquito Count with Weather, Interventions Report, Dally-Weekly-Monthly Automated Reports (License)	lot	1	0	0	1	1,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,500,000.00	1,500,000.00
86	Web Application License of DVIS Map, DVIS Business, DVIS Historical, DVIS Device Admin, DVIS Device API (License)	lot	1	0	0	1	4,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,000,000.00	4,000,000.00
87	Web Portal Development	lot	2	0	0	2	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	500,000.00	1,000,000.00
88	Zoom Subscription	lot	1	0	0	1	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,000.00	10,000.00
TRANSPORTATION			0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	3 In 1 Mini Payloader	Unit	4	0	0	4	4,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	1,000,000.00	4,000,000.00
2	4Dr5 Engine	unit	2	0	0	2	160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	80,000.00	160,000.00
3	5 toner Backhoe	Unit	2	0	0	2	4,600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,300,000.00	4,600,000.00
4	all Terrain Vehicle	lot	1	0	0	1	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000,000.00	5,000,000.00
5	Ambulance	lot	1	0	0	1	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000,000.00	5,000,000.00
6	Bus	lot	1	0	0	1	6,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,000,000.00	6,000,000.00
7	Dropside truck	unit	3	0	0	3	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	1,000,000.00	3,000,000.00
8	Fiat Boats	unit	3	0	0	3	300,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	100,000.00	300,000.00
9	Floating Barges	unit	2	0	0	2	20,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	10,000,000.00	20,000,000.00
10	Mini Dump Truck	unit	2	0	0	2	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,500,000.00	5,000,000.00
11	Mobile LED Billboard Truck	unit	2	0	0	2	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	14.00	95,000.00	1,330,000.00
12	Motorcycle	unit	4	10	0	14	1,330,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	400,000.00	800,000.00
13	Outboard Motor	unit	2	0	0	2	800,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	2,000,000.00	10,000,000.00
14	Pick-up Van	Unit	5	0	0	5	10,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,500,000.00	7,000,000.00
15	Semi Traller Truck /Loader	unit	2	0	0	2	7,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	2,000,000.00	40,000,000.00
16	Service vehicle	unit	5	2	2	9	18,000,000.00	1	2	5	8	16,000,000.00	2	1	0	3	6,000,000.00	0	0	0	0	0.00	2.00	1,000,000.00	2,000,000.00
17	Speedboats	unit	2	0	0	2	2,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
<b>Sports Supplies and Equipment</b>			0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00



1	Arnis (Kamesa De Chino & Kimono Red)	set	16	0	0	16	19,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	16.00	1,200.00	19,200.00
2	Arnis Groin Guard (Male and Female) (Various Sizes)	pcs	20	0	0	20	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	500.00	10,000.00
3	Arnis Hand Gloves	pairs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
4	Arnis Head Gear (Red and Blue) (Various Sizes)	pcs	20	0	0	20	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	300.00	6,000.00
5	Arnis Kamisa de Chino	pcs	25	0	0	25	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	800.00	20,000.00
6	Arnis Kimono Pants (Red)	pcs	25	0	0	25	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	800.00	20,000.00
7	Arnis Lower Arm Guard (Male and Female) (Various Sizes)	pcs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
8	Arnis Lower Leg Guard (Male and Female) (Various Sizes)	pcs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
9	Arnis Lower Shin Guard (Male and Female) (Various Sizes)	pcs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
10	Arnis Padded Stick (Red and Blue)	pcs	50	0	0	50	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	300.00	15,000.00
11	Arnis STIX Training Pants	sets	35	0	0	35	42,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	35.00	1,200.00	42,000.00
12	Arnis Upper Arm Guard (Male and Female) (Various Sizes)	pcs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
13	Arnis Upper Leg Guard (Male and Female) (Various Sizes)	pcs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
14	Arnis Upper Shin Guard (Male and Female) (Various Sizes)	pcs	10	0	0	10	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	800.00	8,000.00
15	Athletics (Singlet & Shorts)	set	70	0	0	70	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	70.00	1,000.00	70,000.00
16	Athletics (Singlet Shorts)	sets	40	0	0	40	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	1,000.00	40,000.00
17	Athletics Uniform Customized (Singlet and shorts)	pcs	30	0	0	30	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	1,200.00	36,000.00
18	Badminton Collared Shirt and Short	pairs	24	0	0	24	28,800.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	1,200.00	28,800.00
19	Badminton Racket	pcs	30	0	0	30	120,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	4,000.00	120,000.00
20	Badminton Scoreboard	pcs	10	0	0	10	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	500.00	5,000.00
21	Badminton Shuttle Cock	tubes	50	0	0	50	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	1,000.00	50,000.00
22	Badminton Shuttlecock	set	50	0	0	50	45,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	900.00	45,000.00
23	Badminton Uniform (shorts and jersey)	set	20	0	0	20	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,200.00	24,000.00
24	Badminton uniform set	set	20	0	0	20	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,000.00	20,000.00
25	Bag	pcs	520	0	0	520	416,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	520.00	800.00	416,000.00
26	Bag	pcs	1800	0	0	1800	2,340,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,800.00	1,300.00	2,340,000.00
27	Balloons	pcs	300	0	0	300	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	20.00	6,000.00
28	Band Aid Strips	boxes	3	0	0	3	450.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	150.00	450.00
29	Bandage 4"	pcs	100	0	0	100	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	60.00	6,000.00
30	Bandage Scissors	pcs	8	0	0	8	4,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	500.00	4,000.00
31	Banner	pcs	20	0	0	20	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	500.00	10,000.00



32	Base Drums	pcs	2	0	0	2	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,000.00	6,000.00
33	Baseball Uniform set	set	24	0	0	24	48,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	2,000.00	48,000.00
34	Basketball (Molten GF47X)	pcs.	10	0	0	10	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	4,000.00	40,000.00
35	Basketball (Rubber)	pcs	300	0	0	300	165,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	550.00	165,000.00
36	Basketball Ball (GG7X Molten)	pcs	4	0	0	4	16,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	4,000.00	16,000.00
37	Basketball Ball (Official)	pcs	560	0	0	560	1,680,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	560.00	3,000.00	1,680,000.00
38	Basketball Coaching Board	pcs	10	0	0	10	16,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	1,600.00	16,000.00
39	Basketball Fiber Glass Board with Ring	pair	28	0	0	28	700,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	28.00	25,000.00	700,000.00
40	Basketball Jersey and Short	set	44	0	0	44	44,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	44.00	1,000.00	44,000.00
41	Basketball Mens	pairs	38	0	0	38	45,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	38.00	1,200.00	45,600.00
42	Basketball Net	pcs	100	0	0	100	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00
43	Basketball Official	pcs	200	0	0	200	502,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	200.00	2,510.00	502,000.00
44	Basketball Official (Molten) GF7X	pcs	170	0	0	170	680,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	170.00	4,000.00	680,000.00
45	Basketball Official Ball	pcs	2	0	0	2	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,000.00	6,000.00
46	Basketball Ring with Net (Heavy Duty)	pcs	30	0	0	30	120,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	4,000.00	120,000.00
47	Basketball Scorebook/Scoresheet	pcs	300	0	0	300	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	100.00	30,000.00
48	Basketball Skills Board	pcs	10	0	0	10	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	1,000.00	10,000.00
49	Basketball Uniform Customized (shorts and jersey)	set	84	0	0	84	100,800.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	84.00	1,200.00	100,800.00
50	Basketball Womens	pairs	38	0	0	38	45,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	38.00	1,200.00	45,600.00
51	Battle Rope	pcs	2	0	0	2	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	5,000.00	10,000.00
52	Beauty	Kit	5	0	0	5	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	2,000.00	10,000.00
53	Betadine 30ml	bottles	30	0	0	30	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	50.00	1,500.00
54	Billiards Bottled Water for 2 days	pax	20	0	0	20	240.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	12.00	240.00
55	Billiards Packed Meal for 2 days	pax	20	0	0	20	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	100.00	2,000.00
56	Binding and punching machine , 50mm binding capacity	units	2	0	0	2	19,069.44	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	9,534.72	19,069.44
57	Bocce Ball	pcs	10	0	0	10	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	3,000.00	30,000.00
58	Bowling Packed Meal for 10 days	pax	20	0	0	20	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	100.00	2,000.00
59	Boxing	set	15	0	0	15	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	1,000.00	15,000.00
60	Boxing Gloves (Various Sizes)	set	20	0	0	20	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	100.00	2,000.00
61	Bronze	pcs	800	0	0	800	160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	800.00	200.00	160,000.00
62	Buri Hat	pcs	35	0	0	35	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	35.00	100.00	3,500.00



63	Cap	pcs	2500	0	0	2500	625,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2,500.00	250.00	625,000.00
64	Cheerdance	pairs	35	0	0	35	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	35.00	2,000.00	70,000.00
65	Cheerleading Uniform Customized	set	140	0	0	140	350,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	140.00	2,500.00	350,000.00
66	Chess	set	10	0	0	10	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	1,000.00	10,000.00
67	Chess (Colared Shirt And Shorts)	pairs	20	0	0	20	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,000.00	20,000.00
68	Chess Bottled Water for 2 days	pax	20	0	0	20	240.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	12.00	240.00
69	Chess Digital Timer	pcs	30	0	0	30	21,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	700.00	21,000.00
70	Chess Mat	pcs	50	0	0	50	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	500.00	25,000.00
71	Chess Matts	pcs	300	0	0	300	90,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	300.00	90,000.00
72	Coconut Shell	pcs	40	0	0	40	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	50.00	2,000.00
73	Cold Spray	pcs	30	0	0	30	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	1,000.00	30,000.00
74	Collared T-shirt (Official & coaches)	pcs	80	0	0	80	48,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	80.00	600.00	48,000.00
75	Cones (12 Inches / 15 Inches / 18 Inches)	pack	120	0	0	120	120.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	1.00	120.00
76	Confetti Blizzard	unit	2	0	0	2	7,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,500.00	7,000.00
77	Cooler	pcs	10	0	0	10	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	3,000.00	30,000.00
78	Cotton Buds	packs	30	0	0	30	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	50.00	1,500.00
79	Cropped Pants		1000	0	0	1000	850,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	850.00	850,000.00
80	Customized Medal Mythical 5	pcs	420	0	0	420	210,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	420.00	500.00	210,000.00
81	Customized Medal Mythical 6	pcs	348	0	0	348	174,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	348.00	500.00	174,000.00
82	Customized T-shirts	pcs	12000	0	0	12000	6,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12,000.00	500.00	6,000,000.00
83	Customized Varsity Jacket	pcs	420	0	0	420	252,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	420.00	600.00	252,000.00
84	Dance Troupe Costume	set	50	0	0	50	220,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	4,400.00	220,000.00
85	Dancesports Uniform Customized	pcs	20	0	0	20	160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	8,000.00	160,000.00
86	Dart Board	pcs	85	0	0	85	170,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	85.00	2,000.00	170,000.00
87	Dart Pins	pcs	2800	0	0	2800	56,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2,800.00	20.00	56,000.00
88	Dartboards	pcs	50	0	0	50	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	2,000.00	100,000.00
89	Darts Packed Meal for 10 days	pax	300	0	0	300	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	100.00	30,000.00
90	Data / LCD Projector	unit	1	0	0	1	260,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	260,000.00	260,000.00
91	Disposable Gloves	pcs	50	0	0	50	14,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	280.00	14,000.00
92	Document Camera, 8mp	unit	1	0	0	1	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	24,000.00	24,000.00
93	Efficasent Oil	bottles	30	0	0	30	2,100.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	70.00	2,100.00



94	Elastic Bandage		100	0	0	100	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	60.00	6,000.00
95	Elastic Hot and Cold Pack	packs	20	0	0	20	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	900.00	18,000.00
96	Electronic Score board with buzzer	unit	28	0	0	28	851,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	28.00	30,400.00	851,200.00
97	Extension Lead	pcs	8	0	0	8	6,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	800.00	6,400.00
98	EZ wrap	boxes	4	0	0	4	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	50,000.00	200,000.00
99	Fiber Glass Basketball Board	pcs	30	0	0	30	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	20,000.00	600,000.00
100	FIRE EXTINGUISHER, DRY CHEMICAL, 4.5kgs	unit	2	0	0	2	2,288.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,144.00	2,288.00
101	FLASH DRIVE, 16 GB capacity	pcs	4	0	0	4	669.76	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	167.44	669.76
102	Foam Roller	pcs	20	0	0	20	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	2,000.00	40,000.00
103	Football (Short & Jersey)	set	40	0	0	40	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	1,000.00	40,000.00
104	Futsal (Short and Jersey)	set	25	0	0	25	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	1,000.00	25,000.00
105	Futsal Ball (Molten - Colani)	pcs	120	0	0	120	240,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	2,000.00	240,000.00
106	Futsal Ball Official	pcs	130	0	0	130	390,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	130.00	3,000.00	390,000.00
107	Futsal Goal (PVC Pipe)	pcs	10	0	0	10	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	20,000.00	200,000.00
108	Futsal Uniform (shorts and Jersey)	pcs	30	0	0	30	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	1,200.00	36,000.00
109	g. Air Pump	pcs	6	0	0	6	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	10,000.00	60,000.00
110	g. Ball Bag (Nylon Cord 12 - 15 balls)	pcs	12	0	0	12	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12.00	2,000.00	24,000.00
111	g. Mikasa Ball Bag	pcs	3	0	0	3	9,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	3,000.00	9,000.00
112	Gauze Pad	pcs	100	0	0	100	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	35.00	3,500.00
113	GLUE, all purpose, gross weight: 200 grams min	jar	24	0	0	24	1,716.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	71.50	1,716.00
114	Gold	pcs	800	0	0	800	160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	800.00	200.00	160,000.00
115	Gymnastics	set	15	0	0	15	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	1,000.00	15,000.00
116	h. Goal (Heavy Duty)	pairs	28	0	0	28	280,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	28.00	10,000.00	280,000.00
117	h. Industrial Fan	pcs	2	0	0	2	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	10,000.00	20,000.00
118	h. Plastic Bags (Extra Large - Balls, etal)	pcs	1000	0	0	1000	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	10.00	10,000.00
119	HANDBOOK (RA 9184), 7th Edition	book	24	0	0	24	893.04	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	37.21	893.04
120	Head Gear Guard (Boxing / Taekwondo)	pcs	30	0	0	30	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	2,000.00	60,000.00
121	Heating and Ventilation and Air Circulation		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00		0.00
122	Heavy Duty bAsketball Net	pcs	4	0	0	4	4,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	1,000.00	4,000.00
123	Hygiene Kit	pcs	600	0	0	600	180,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	600.00	300.00	180,000.00
124	I. Portable Speaker (CROWN )	pc	4	0	0	4	52,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	13,000.00	52,000.00



125	Industrial Fan	pcs	2	0	0	2	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	10,000.00	20,000.00
126	Jacket	pcs	400	0	0	400	400,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	400.00	1,000.00	400,000.00
127	Jogging Pants Customized	pcs	1300	0	0	1300	1,560,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,300.00	1,200.00	1,560,000.00
128	Kinesiology Tape	pcs	500	0	0	500	450,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	500.00	900.00	450,000.00
129	Kremil S	boxes	5	0	0	5	3,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	600.00	3,000.00
130	Loperamide	boxes	5	0	0	5	3,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	600.00	3,000.00
131	Marker (8 Inch collapsible plastic with holder)	units	15	0	0	15	45,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	3,000.00	45,000.00
132	Medal (Bronze)	pcs	1000	0	0	1000	210,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	210.00	210,000.00
133	Medal (Gold)	pcs	1000	0	0	1000	210,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	210.00	210,000.00
134	Medal (Silver)	pcs	1000	0	0	1000	210,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,000.00	210.00	210,000.00
135	Medals	pcs	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
136	Medical Supplies	pcs	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
137	Medical Thermometers and Accessories	pcs	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
138	Medicated Spray	bottles	120	0	0	120	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	300.00	36,000.00
139	Microphone	pcs	5	0	0	5	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	1,500.00	7,500.00
140	Mini bands	sets	20	0	0	20	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,200.00	24,000.00
141	MR and MS ALCU creative costume	sets	2	0	0	2	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	25,000.00	50,000.00
142	MR and MS ALCU formal wear	sets	2	0	0	2	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	25,000.00	50,000.00
143	MR and MS ALCU talent costume	sets	2	0	0	2	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	25,000.00	50,000.00
144	Neozep	boxes	5	0	0	5	4,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	800.00	4,000.00
145	Nitaku Balls (3 star)	boxes	300	0	0	300	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	200.00	60,000.00
146	Nylon Rope	roll	1	0	0	1	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,000.00	2,000.00
147	Omega Pain Killer	bottles	30	0	0	30	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	200.00	6,000.00
148	Paracetamol	boxes	5	0	0	5	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	200.00	1,000.00
149	Penkak Silat	set	6	0	0	6	12,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	2,000.00	12,000.00
150	PHILIPPINE NATIONAL FLAG, 100% polyester		285	0	0	285	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	284.84	0.00	0.00
151	Plaques Customized (Various Sizes)	pcs	50	0	0	50	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	3,000.00	150,000.00
152	Player Uniforms	sets	17000	0	0	17000	20,400,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	17,000.00	1,200.00	20,400,000.00
153	Polo Shirt (Coaches,staffs, players)		2350	0	0	2350	1,880,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2,350.00	800.00	1,880,000.00
154	Portable Air Pump	pcs	5	0	0	5	18,750.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	3,750.00	18,750.00
155	Portable Scoreboard / Timer	pcs	10	0	0	10	700,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	70,000.00	700,000.00



156	Practice Jersey	pcs	40	0	0	40	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	600.00	24,000.00
157	Pro Wrap	boxes	100	0	0	100	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	6,000.00	600,000.00
158	RUBBER BAND, 70mm min lay flat length (#18)	pcs	24	0	0	24	2,401.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	100.05	2,401.20
159	Rubber Mats	pcs	500	0	0	500	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	500.00	1,200.00	600,000.00
160	Sacks	pcs	20	0	0	20	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	100.00	2,000.00
161	Score Sheet	pcs	250	0	0	250	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	250.00	200.00	50,000.00
162	Screen / Electronic White Board	unit	2	0	0	2	140,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	70,000.00	140,000.00
163	Sensing Sock	pair	10	0	0	10	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	3,500.00	35,000.00
164	Sepak Takraw (Light & Dark Jersey)	pairs	30	0	0	30	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	1,200.00	36,000.00
165	Sepak Takraw (Thights & Leotards)	set	24	0	0	24	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	1,000.00	24,000.00
166	Sepak Takraw Shorts	set	25	0	0	25	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	1,000.00	25,000.00
167	Silver medal	pcs	800	0	0	800	160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	800.00	200.00	160,000.00
168	Sleeping Bag or Mat	pcs	300	0	0	300	360,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	1,200.00	360,000.00
169	Snare Drums	pcs	2	0	0	2	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,000.00	6,000.00
170	Sodium HypoChlorite 3.785 liters	gallon	4	0	0	4	525.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	131.25	525.00
171	Soft Ball	set	24	0	0	24	48,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24.00	2,000.00	48,000.00
172	Solmux Carboscisteine	boxes	5	0	0	5	7,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	1,400.00	7,000.00
173	Spalding TF1000 Basktball (molten)	pcs	12	0	0	12	96,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12.00	8,000.00	96,000.00
174	Speed Ladder	pcs	3	0	0	3	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	2,000.00	6,000.00
175	Speed Ladder (10 feet)	units	3	0	0	3	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	2,500.00	7,500.00
176	Spike Shoes	pcs	30	0	0	30	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	5,000.00	150,000.00
177	Spoon	packed	200	0	0	200	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	200.00	50.00	10,000.00
178	Sports Medicine Bag	pcs	8	0	0	8	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	5,000.00	40,000.00
179	Stage Décor		30000	0	0	30000	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30,000.00	0.00	0.00
180	Starting Pistol (Athletics & Swimming)	boxes	10	0	0	10	4,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	400.00	4,000.00
181	stickum Grip	pcs	20	0	0	20	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	500.00	10,000.00
182	STIX Black Shirt	sets	35	0	0	35	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	35.00	1,000.00	35,000.00
183	STIX White Tshirt	sets	35	0	0	35	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	35.00	1,000.00	35,000.00
184	Swimming	pairs	65	0	0	65	195,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	65.00	3,000.00	195,000.00
185	Swimming Cap	pcs	20	0	0	20	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,200.00	24,000.00
186	Swimming Goggles	pcs	20	0	0	20	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,200.00	24,000.00



187	Swimming Suit	pcs	20	0	0	20	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	3,000.00	60,000.00
188	Swimming Trunks	pcs	20	0	0	20	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	3,000.00	60,000.00
189	Synthetic Takraw Ball	pcs	20	0	0	20	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	3,000.00	60,000.00
190	Table Tennis	set	16	0	0	16	16,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	16.00	1,000.00	16,000.00
191	Table Tennis (Light and Dark Jersey)	pairs	16	0	0	16	19,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	16.00	1,200.00	19,200.00
192	Table Tennis Ball	pcs	50	0	0	50	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	100.00	5,000.00
193	<b>Table Tennis Table</b>	pcs	20	0	0	20	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	30,000.00	600,000.00
194	Table Tennis Table (Stiga Brand)	pcs	15	0	0	15	450,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	30,000.00	450,000.00
195	Table Tennis Uniform	pcs	30	0	0	30	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	1,200.00	36,000.00
196	Taekwondo	pairs	65	0	0	65	149,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	65.00	2,300.00	149,500.00
197	Taekwondo Arm Guard	pcs	20	0	0	20	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,200.00	24,000.00
198	Taekwondo Arm Shin Guard	pcs	20	0	0	20	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,200.00	24,000.00
199	Taekwondo Body Armor (Various Sizes)	pcs	20	0	0	20	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,500.00	30,000.00
200	Taekwondo Female Guard	pcs	20	0	0	20	12,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	600.00	12,000.00
201	Taekwondo Groin Guard	pcs	20	0	0	20	12,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	600.00	12,000.00
202	Taekwondo Hand Gloves	pcs	20	0	0	20	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	1,500.00	30,000.00
203	Taekwondo Head Gear (Red and Blue) (Various Sizes)	pcs	20	0	0	20	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	3,000.00	60,000.00
204	Taekwondo Kick Pad	pcs	5	0	0	5	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	1,500.00	7,500.00
205	Taekwondo Poomsae Uniform	pcs	20	0	0	20	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	2,500.00	50,000.00
206	Taekwondo Shin Gloves	pcs	20	0	0	20	12,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	600.00	12,000.00
207	Taekwondo Uniform (DOBUK Black Collar)	pcs	40	0	0	40	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	40.00	2,500.00	100,000.00
208	Team Awards	pcs	2	0	0	2	3,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,800.00	3,600.00
209	Tennis (Short)	set	16	0	0	16	16,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	16.00	1,000.00	16,000.00
210	Tennis Balls	boxes	20	0	0	20	16,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	800.00	16,000.00
211	Terramycin skin Antibiotic	tubes	20	0	0	20	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	300.00	6,000.00
212	Thermogun	Pieces	2	0	0	2	5,064.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,532.40	5,064.80
213	Trophies	pcs	144042	0	0	144042	432,126,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	144,042.00	3,000.00	432,126,000.00
214	Tshirt	pcs	30000	0	0	30000	15,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30,000.00	500.00	15,000,000.00
215	Varsity Jacket		1300	0	0	1300	1,040,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1,300.00	800.00	1,040,000.00
216	Vitamin B Complex	tubes	100	0	0	100	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	300.00	30,000.00
217	Volleyball (Jersey and Short)	set	50	0	0	50	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	1,000.00	50,000.00



218	Volleyball Antenna	pairs	5	0	0	5	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	5.00	5,000.00	25,000.00	
219	Volleyball Ball (Official)	pcs	560	0	0	560	2,240,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	560.00	4,000.00	2,240,000.00	
220	Volleyball Ball (Rubber)	pcs	1680	0	0	1680	924,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	1,680.00	550.00	924,000.00	
221	Volleyball Men	pairs	30	0	0	30	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	30.00	1,200.00	36,000.00	
222	Volleyball Mens Playing Uniform	pcs	400	0	0	400	432,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	400.00	1,080.00	432,000.00	
223	Volleyball Net	pcs	33	0	0	33	231,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	33.00	7,000.00	231,000.00	
224	Volleyball Post System Set	units	2	0	0	2	600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	2.00	300,000.00	600,000.00	
225	Volleyball Womens	pairs	30	0	0	30	36,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	30.00	1,200.00	36,000.00	
226	Wash Basin	pcs	20	0	0	20	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	20.00	50.00	1,000.00	
227	Whistle (Dolphin)	pcs	48	0	0	48	38,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	48.00	800.00	38,400.00	
228	Wushu	set	11	0	0	11	22,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	11.00	2,000.00	22,000.00	
Agricultural Supplies:			0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	0.00	0.00	
1	Fruit bag	piece	0	0	0	0	0.00	200	0	0	200	10,560.00	0	0	0	0	0.00	0	0	0	0.00	200.00	52.80	10,560.00	
2	Vermi (african night crawler)	kilo	0	0	0	0	0.00	10	0	0	10	10,000.00	0	0	0	0	0.00	0	0	0	0.00	10.00	1,000.00	10,000.00	
2	Garden soil	elf	0	0	0	0	0.00	123	0	0	123	1,107,000.00	0	0	0	0	0.00	0	0	0	0.00	123.00	9,000.00	1,107,000.00	
3	Organic fertilizer (compost)	bag	0	0	0	0	0.00	190	0	0	190	79,040.00	0	0	0	0	0.00	0	0	0	0.00	190.00	416.00	79,040.00	
3	Seedling tray	piece	0	0	0	0	0.00	200	0	0	200	17,280.00	0	0	0	0	0.00	0	0	0	0.00	200.00	86.40	17,280.00	
4	Seedling bag	pack	0	0	0	0	0.00	10	0	0	10	1,980.00	0	0	0	0	0.00	0	0	0	0.00	10.00	198.00	1,980.00	
4	Grow pots (large-plastic- 21X21 cm)	piece	0	0	0	0	0.00	500	0	0	500	73,440.00	0	0	0	0	0.00	0	0	0	0.00	500.00	146.88	73,440.00	
5	Grow pots ( 9 cm)	piece	0	0	0	0	0.00	300	0	0	300	9,504.00	0	0	0	0	0.00	0	0	0	0.00	300.00	31.68	9,504.00	
5	Garden trowel	piece	0	0	0	0	0.00	53	0	0	53	3,732.79	0	0	0	0	0.00	0	0	0	0.00	53.00	70.43	3,732.79	
6	Carbonated rice hull	sack	0	0	0	0	0.00	250	1		251	73,794.00	0	0	0	0	0.00	0	0	0	0.00	251.00	294.00	73,794.00	
6	Carabao manure	sack	0	0	0	0	0.00	300	0	0	300	90,000.00	0	0	0	0	0.00	0	0	0	0.00	300.00	300.00	90,000.00	
7	Floater (feeds for tilapia)	bag	0	0	0	0	0.00	8	0	0	8	25,920.00	0	0	0	0	0.00	0	0	0	0.00	8.00	3,240.00	25,920.00	
<b>AGRICULTURAL SEEDS</b>			0	0	0	0	0.00				0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	0.00	0.00	
1	Ampalaya seeds (open pollinated varieties)	kis.	0	0	0	0	0.00	4	0	0	4	42,500.00	0	0	0	0	0.00	0	0	0	0.00	4.00	10,625.00	42,500.00	
2	Eggplant seeds	kis.	0	0	0	0	0.00	4	0	0	4	39,000.00	0	0	0	0	0.00	0	0	0	0.00	4.00	9,750.00	39,000.00	
3	Pole sitao seeds	kis.	0	0	0	0	0.00	1	0	0	1	5,250.00	0	0	0	0	0.00	0	0	0	0.00	1.00	5,250.00	5,250.00	
4	Bush sitao seeds	kis.	0	0	0	0	0.00	5	0	0	5	4,000.00	0	0	0	0	0.00	0	0	0	0.00	5.00	800.00	4,000.00	
5	Pechay seeds	kis.	0	0	0	0	0.00	8	0	0	8	8,500.00	0	0	0	0	0.00	3	0	0	3	3,187.50	11.00	1,062.50	11,687.50
6	Mustard seeds	kis.	0	0	0	0	0.00	5	0	0	5	4,200.00	0	0	0	0	0.00	3	0	0	3	2,520.00	8.00	840.00	6,720.00



19	UNINTERRUPTIBLE POWER SUPPLY (UPS)	Piece	20	0	0	20	60,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	20.00	3,000.00	60,000.00
20	Wireless Access Point	Piece	20	0	0	20	200,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	20.00	10,000.00	200,000.00
	OTHER SOFTWARES		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	0.00	0.00	0.00
1	Academic Requirements (ALCUJOA Accreditation)	lot	1	0	0	1	2,734,009.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	2,734,009.00	2,734,009.00
2	Additional TRACE Login Account for one hundred (100) per annual accounts @6t	piece	100	0	0	100	600,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	100.00	6,000.00	600,000.00
3	Annual Renewal of TRACE System - Self Assessment Platform Customization (Php 2M) - Tracing Platform Customization (Php 4.5M)	lot	2	0	0	2	6,500,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	3,250,000.00	6,500,000.00
4	Back-up Internet Connection	lot	1	0	0	1	360,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	360,000.00	360,000.00
5	CARD MANAGEMENT SYSTEM	lot	1	0	0	1	18,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	18,000,000.00	18,000,000.00
6	Chatbot. Ticketing System	lot	2	0	0	2	2,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	1,000,000.00	2,000,000.00
7	Civil Works and Installation of ERI	lot	10	0	0	10	2,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	10.00	200,000.00	2,000,000.00
8	Command Center Network and Infra - Main Server with Cabinet - 5 pcs Workstations - 24 Ports Switches - UPS - Network Cabling	lot	1	0	0	1	1,900,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	1,900,000.00	1,900,000.00
9	Command Center Platform with Dislptch Management System	lot	1	0	0	1	4,750,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	4,750,000.00	4,750,000.00
10	Customization and Quality Assurance	lot	1	0	0	1	960,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	960,000.00	960,000.00
11	Customized Mobile City Hall Vehicle	units	2	0	0	2	15,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	2.00	7,500,000.00	15,000,000.00
12	Data Cleasing	lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
13	Data Processing License of 10 units of SHMS (Annual License)	lot	1	0	0	1	2,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00
14	Data Warehouse Software	lot	1	0	0	1	4,500,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	4,500,000.00	4,500,000.00
15	Four (4) Smart Water Buoys that measures temperature, wind and wave height. This Includes Installation	lot	4	0	0	4	4,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	4.00	1,000,000.00	4,000,000.00
16	IT Equipment	lot	1	0	0	1	6,018,316.80	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	6,018,316.80	6,018,316.80
17	Maintenance and Operation of 300 WIFI Wireless Access Points	300 lots	300	0	0	300	5,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	300.00	16,666.67	5,000,000.00
18	Mobile Phone (SAMSUNG GALAXY S21)	lot	1	0	0	1	2,413,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	2,413,000.00	2,413,000.00
19	Network Administration/ Laboratory Installation	lot	1	0	0	1	1,955,322.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	1,955,322.00	1,955,322.00
20	Network and Infra Management	lot	1	0	0	1	2,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00
21	other Machinery and Equipment	lot	1	0	0	1	6,961,368.40	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	6,961,368.40	6,961,368.40
22	Purchase of Multimedia equipments	lot	1	0	0	1	186,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	186,000.00	186,000.00
23	Structural audit and determination of threshold from structural engineer	lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	1.00	500,000.00	500,000.00
24	Supply and Installation of one hundred fifty (150) telephone to all local government office (1 City Hall, 28 Barangay Halls, 34 Health Centers, 2 Satellite Offices, 40 Public	units	150	0	0	150	6,750,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	150.00	45,000.00	6,750,000.00
25	Supply of ten (10) units Earthquake Recording Instrument (ERI)	Units	10	0	0	10	10,000,000.00	0	0	0	0	0.00	0	0	0	0.00	0	0	0	0.00	10.00	1,000,000.00	10,000,000.00



12	5. Daily consumptions of commodities and other supplies for Bahay Pan Asa and Taoula Lhagac Center		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
13	a.Food And Drinking Water, Basic Commodities	Lot	1	0	0	1	2,493,802.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,493,802.00	2,493,802.00
14	b.Meat, Chicken & Cold Cuts Products	Lot	1	0	0	1	726,480.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	726,480.00	726,480.00
15	c.Fruits & Vegetables	Lot	1	0	0	1	471,992.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	471,992.00	471,992.00
16	d.Condiments	Lot	1	0	0	1	113,732.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	113,732.00	113,732.00
17	e.Fish Product	Lot	1	0	0	1	453,360.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	453,360.00	453,360.00
18	f.Other Kitchen Supplies	Lot	1	0	0	1	175,528.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	175,528.00	175,528.00
19	g.Sports Equipment, Supplies And Uniforms	Lot	1	0	0	1	56,395.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	56,395.00	56,395.00
20	h.Other Supplies And Materials	Lot	1	0	0	1	2,199,048.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,199,048.00	2,199,048.00
21	i. Vegetables	Lot	1	0	0	1	242,328.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	242,328.00	242,328.00
Municipal Forms				0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	Book of Register	can	2	2	2	6	836.16	2	2	2	6	836.16	2	2	2	6	836.16	24.00	139.36	3,344.64
2	Birth Certificate	book	75	0	0	75	36,750.00	0	0	0	0	0.00	0	0	0	0	0.00	75.00	490.00	36,750.00
3	Marriage Certificate	book	26	0	0	26	13,000.00	0	0	0	0	0.00	0	0	0	0	0.00	26.00	500.00	13,000.00
4	Death Certificate	book	5	0	0	5	2,500.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	500.00	2,500.00
5	Marriage License	book	3	0	0	3	600.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	200.00	600.00
6	Form 102(Birth Certificate)	Peds	500	0	0	500	152,500.00	0	0	0	0	0.00	0	0	0	0	0.00	500.00	305.00	152,500.00
7	Attachment-Birth	Peds	30	0	0	30	2,970.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	99.00	2,970.00
8	Form 101 (Founding)	Peds	1	0	0	1	245.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	245.00	245.00
9	Form 90 (Application of Marriage License)	Peds	90	0	0	90	22,050.00	0	0	0	0	0.00	0	0	0	0	0.00	90.00	245.00	22,050.00
10	Form 57 (Certificate of Marriage)	Peds	60	0	0	60	18,300.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	305.00	18,300.00
11	Attachment Marriage	Peds	5	0	0	5	495.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	99.00	495.00
12	Form 103 ( Death Certificate)	Peds	60	0	0	60	18,300.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	305.00	18,300.00
13	Attachment - Death	Peds	5	0	0	5	495.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	99.00	495.00
14	Form 54 (Marriage License	Peds	60	0	0	60	7,380.00	0	0	0	0	0.00	0	0	0	0	0.00	60.00	123.00	7,380.00
15	House Tag Stickers	Sheet	3000	0	0	3000	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3,000.00	50.00	150,000.00
Other Furnitures				0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	Cabinet, 5 layers sliding glass door	piece	2	0	0	2	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	15,000.00	30,000.00
2	Executive Chair	piece	2	0	0	2	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	10,000.00	20,000.00
3	Executive Table	piece	3	0	0	3	45,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	15,000.00	45,000.00
4	Filing Cabinet	piece	8	0	0	8	80,000.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	10,000.00	80,000.00



5	Lateral Filing Cabinet	piece	4	0	0	4	80,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	20,000.00	80,000.00
6	Office Chair	piece	45	0	0	45	112,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	45.00	2,500.00	112,500.00
7	Office Sofa	piece	3	0	0	3	166,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	55,500.00	166,500.00
8	Office Table	piece	33	0	0	33	330,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	33.00	10,000.00	330,000.00
9	Pedestal Cabinet	piece	23	0	0	23	115,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	23.00	5,000.00	115,000.00
10	Swivel Chair	piece	3	7		10	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	3,500.00	35,000.00
	OTHERS:		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	Rain coats	piece	350	0	30	380	304,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	380.00	800.00	304,000.00
2	Rubber boats	pair	350	0	30	380	430,540.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	380.00	1,133.00	430,540.00
3	T-shirt (V-neck)	piece	0	0	0	0	0.00	0	200	0	200	54,000.00	0	0	0	0	0.00	0	0	0	0	0.00	200.00	270.00	54,000.00
4	T-shirt (long sleeve) working clothes	piece	0	0	150	150	54,900.00	30	0	0	30	10,980.00	0	1200	0	1200	439,200.00	0	0	0	0	0.00	1,380.00	366.00	505,080.00
5	Safety Shoes	pair	105	0	0	105	315,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	105.00	3,000.00	315,000.00
6	Safety Gloves	pair	105	0	0	105	52,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	105.00	500.00	52,500.00
7	Hard Hat	piece	105	0	0	105	105,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	105.00	1,000.00	105,000.00
8	Safety Goggles	piece	105	0	0	105	64,050.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	105.00	610.00	64,050.00
9	Field uniforms	piece	105	0	0	105	52,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	105.00	500.00	52,500.00
10	Sanitary Napkin	packs	50	0	0	50	750.00	0	0	0	0	0.00	50	0	0	50	750.00	0	0	0	0	0.00	100.00	15.00	1,500.00
11	Shampoo w/ Conditioner Palmolive (twin Pack)	sachet	400	400	400	1200	8,400.00	400	400	400	1200	8,400.00	400	400	400	1200	8,400.00	400	400	400	1200	8,400.00	4,800.00	7.00	33,600.00
12	Short (Garterized) Large	piece	0	200	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00
13	Short (Garterized) Medium	piece	0	200	0	200	26,000.00	0	0	0	0	0.00	200	0	0	200	26,000.00	0	0	0	0	0.00	400.00	130.00	52,000.00
14	Short (Garterized) extra large	piece	0	100	0	100	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	50.00	5,000.00
15	Sleeping Blanket (kumot)	piece	0	100	0	100	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	150.00	15,000.00
16	Slipper's Size 7"	pair	0	50	0	50	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	70.00	3,500.00
17	Slipper's Size 8"	pair	0	50	0	50	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	70.00	3,500.00
18	Slipper's Size 9"	pair	0	100	0	100	7,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	70.00	7,000.00
19	Slippers Size 10	pair	0	100	0	100	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	75.00	7,500.00
20	Slippers Size 11	pair	0	50	0	50	4,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	80.00	4,000.00
21	Spin Dryer (Fujidenzo 6.8 kls)	unit	0	0	1	1	3,800.00	0	0	0	0	0.00	1	0	0	1	3,800.00	0	0	0	0	0.00	2.00	3,800.00	7,600.00
22	Storage box (black with wheels, heavy duty)	piece	0	0	2	2	1,100.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	550.00	1,100.00
23	T-Shirt Extra Large Color Powder Blue, round neck	piece	0	50	0	50	3,500.00	0	0	0	0	0.00	50	0	0	50	3,500.00	0	0	0	0	0.00	100.00	70.00	7,000.00
24	T-Shirt Extra Large Color Gray, round neck	piece	0	50	0	50	3,500.00	0	0	0	0	0.00	50	0	0	50	3,500.00	0	0	0	0	0.00	100.00	70.00	7,000.00



25	T-Shirt Large Color Powder Blue, round neck	piece	0	120	0	120	14,400.00	120	0	0	120	14,400.00	120	0	0	120	14,400.00	100	0	0	100	12,000.00	460.00	120.00	55,200.00
26	T-Shirt Large Color Gray, round neck	piece	0	120	0	120	14,400.00	120	0	0	120	14,400.00	120	0	0	120	14,400.00	100	0	0	100	12,000.00	460.00	120.00	55,200.00
27	T-Shirt Medium Color Powder Blue, round neck	piece	0	120	0	120	14,400.00	120	0	0	120	14,400.00	120	0	0	120	14,400.00	100	0	0	100	12,000.00	460.00	120.00	55,200.00
28	T-Shirt Medium Color Gray, round neck	piece	0	120	0	120	14,400.00	120	0	0	120	14,400.00	120	0	0	120	14,400.00	0	0	0	0	0.00	360.00	120.00	43,200.00
29	T-Shirt Small Color Powder Blue, round neck	piece	0	50	0	50	6,000.00	0	0	0	0	0.00	50	0	0	50	6,000.00	0	0	0	0	0.00	100.00	120.00	12,000.00
30	T-Shirt Small Color Gray, round neck	piece	0	50	0	50	6,000.00	0	0	0	0	0.00	50	0	0	50	6,000.00	100	0	0	100	12,000.00	200.00	120.00	24,000.00
31	T-shirt (Polo, white, large size)	piece	0	0	20	20	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	100.00	2,000.00
32	T-shirt (Polo, white, medium size)	piece	0	0	20	20	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	100.00	2,000.00
33	Toothbrush	piece	0	150	0	150	3,000.00	0	0	0	0	0.00	150	0	0	150	3,000.00	0	0	0	0	0.00	300.00	20.00	6,000.00
34	Toothpaste Colgate(Twin Pack)	sachet	600	600	600	1800	21,600.00	600	600	600	1800	21,600.00	600	600	600	1800	21,600.00	600	600	600	1800	21,600.00	7,200.00	12.00	86,400.00
35	Uratex foam (30" x 75" semi-single & 2" thick)	piece	0	0	65	65	110,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	65.00	1,700.00	110,500.00
36	Wall Clock	piece	0	0	4	4	1,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	300.00	1,200.00
37	Washing Machine (Union, 8 kls.)	unit	0	0	2	2	6,480.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	3,240.00	6,480.00
38	Wok non-stick frying pan	piece	0	0	2	2	1,680.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	840.00	1,680.00
39	GAS TANK 11KG (REFILL)	piece	5	5	5	15	10,500.00	5	5	5	15	10,500.00	5	5	5	15	10,500.00	5	5	5	15	10,500.00	60.00	700.00	42,000.00
40	KITCHEN KNIVES	set	0	1	0	1	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000.00	1,000.00
41	LUNCH TRAY MELAWARE	piece	0	0	100	100	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	100.00	10,000.00
42	MUG/CUP MELAWARE	piece	0	0	100	100	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00
43	PEELER, STAINLESS	piece	0	2	0	2	518.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	259.00	518.00
44	POT HOLDER x 2	piece	12	0	0	12	60.00	0	0	0	0	0.00	12	0	0	12	60.00	0	0	0	0	0.00	24.00	5.00	120.00
45	POWDERED DETERGENT, CALLA OR SURF, 50 GRAMS	box	1	1	1	3	795.00	1	1	1	3	795.00	1	1	1	3	795.00	1	1	1	3	795.00	12.00	285.00	3,180.00
46	PRESSURE COOKER (Micromatic, 6 kls)	piece	0	0	2	2	2,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,200.00	2,400.00
47	RICE COOKER 7.8 L (Asahi)	piece	0	0	2	2	9,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	4,500.00	9,000.00
48	SANDOK	piece	0	0	2	2	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	500.00	1,000.00
49	SPOON	dozen	0	0	7	7	525.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	7.00	75.00	525.00
50	TALYASI/KAWA WITH COVER (64 cm)	set	0	0	1	1	800.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	800.00	800.00
51	TWO BURNER STOVE (KYOWA HEAVY DUTY)	piece	0	0	1	1	1,760.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,760.00	1,760.00
52	BADMINTON NET (OFFICIAL SIZE, HIGH QUALITY)	piece	0	0	0	0	0.00	1	0	0	1	750.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	750.00	750.00
53	BADMINTON RACKET - YONEX	pairs	0	0	0	0	0.00	4	0	0	4	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	4,500.00	18,000.00
54	BASKETBALL NET (COTTON; OFFICIAL SIZE)	piece	0	0	0	0	0.00	2	0	0	2	800.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	400.00	800.00
55	BASKETBALL RING MOVEABLE	sets	0	0	0	0	0.00	1	0	0	1	3,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000.00	3,000.00



56	BASKETBALL RING WITH FIBER BOARD	sets	0	0	0	0	0.00	1	0	0	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00
57	CHESSBOARD SET (TOURNAMENT SIZE)	piece	0	0	0	0	0.00	3	0	0	3	4,500.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	1,500.00	4,500.00
58	DOLPHIN WHISTLE	piece	0	0	0	0	0.00	5	0	0	5	45.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	9.00	45.00
59	RATTAN BALL (SEPAK TAKRAW)	piece	0	0	0	0	0.00	2	0	0	2	900.00	0	0	0	0	0.00	2	0	0	2	900.00	4.00	450.00	1,800.00
60	RATTAN BALL (SIPA)	piece	0	0	0	0	0.00	2	0	0	2	800.00	0	0	0	0	0.00	2	0	0	2	800.00	4.00	400.00	1,600.00
61	TABLE TENNIS BALL	box of 3	0	0	0	0	0.00	2	0	0	2	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	500.00	1,000.00
62	TABLE TENNIS NET	sets	0	0	0	0	0.00	3	0	0	3	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	500.00	1,500.00
63	TABLE TENNIS RACKET	pairs	190	0	0	190	304,000.00	4	0	0	4	6,400.00	0	0	0	0	0.00	0	0	0	0	0.00	194.00	1,600.00	310,400.00
64	VOLLEYBALL (MIKASA TRI-COLOR MVA 220 LEATHER OR EQUIVALENT)	piece	0	0	2	2	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,000.00	2,000.00
65	PUNCHING BAG	piece	0	1	0	1	3,000.00	0	0	0	0	0.00	1	0	0	1	3,000.00	0	0	0	0	0.00	2.00	3,000.00	6,000.00
66	BOXING GLOVES	pairs	0	2	0	2	2,000.00	0	0	0	0	0.00	2	0	0	2	2,000.00	0	0	0	0	0.00	4.00	1,000.00	4,000.00
67	Bath Towel	piece	0	150	0	150	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	120.00	18,000.00
68	Bedsheet (Canadian Cotton)	roll	0	12	0	12	104,280.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12.00	8,690.00	104,280.00
69	BRA 34 cap A-C	piece	0	50	0	50	5,000.00	0	0	0	0	0.00	50	0	0	50	5,000.00	0	0	0	0	0.00	100.00	100.00	10,000.00
70	BRA 36 cap A-C	piece	0	50	0	50	5,000.00	0	0	0	0	0.00	50	0	0	50	5,000.00	0	0	0	0	0.00	100.00	100.00	10,000.00
71	BRA 38 cap A-C	piece	0	50	0	50	5,000.00	0	0	0	0	0.00	50	0	0	50	5,000.00	0	0	0	0	0.00	100.00	100.00	10,000.00
72	Brief Size Medium for Teenager	piece	0	150	0	150	7,500.00	150	0	0	150	7,500.00	150	0	0	150	7,500.00	150	0	0	150	7,500.00	800.00	90.00	30,000.00
73	Brief Size Large for Teenager	piece	0	150	0	150	7,500.00	150	0	0	150	7,500.00	150	0	0	150	7,500.00	150	0	0	150	7,500.00	800.00	90.00	30,000.00
74	Brief Size Extra Large for Teenager	piece	0	100	0	100	5,000.00	0	0	0	0	0.00	100	0	0	100	5,000.00	0	0	0	0	0.00	200.00	90.00	10,000.00
75	Face Towel	piece	0	100	0	100	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	100	0	0	100	1,500.00	200.00	15.00	3,000.00
76	Hanger (flat)	dozen	0	10	0	10	350.00	0	0	0	0	0.00	10	0	0	10	350.00	0	0	0	0	0.00	20.00	35.00	700.00
77	Hanger with clips	piece	0	25	0	25	500.00	0	0	0	0	0.00	25	0	0	25	500.00	0	0	0	0	0.00	50.00	20.00	1,000.00
78	Feminine Wash	sachet	15	15	15	45	900.00	15	15	15	45	900.00	15	15	15	45	900.00	15	15	15	45	900.00	180.00	20.00	3,600.00
79	Hygiene Basket Small Size	Piece	0	150	0	150	3,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	20.00	3,000.00
80	Jogging Pants for Teenagers (Free size, black/gray)	piece	0	75	0	75	5,625.00	0	0	0	0	0.00	75	0	0	75	5,625.00	0	0	0	0	0.00	150.00	75.00	11,250.00
81	Panty Size Medium for Teenager	piece	0	100	0	100	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	50.00	5,000.00
82	Panty size Large for teenager	piece	0	100	0	100	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	50.00	5,000.00
83	Percolator (20 Liters)	piece	0	0	2	2	13,200.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	6,600.00	13,200.00
84	Pillow	piece	0	100	0	100	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	100.00	10,000.00
85	Pillow Case	piece	0	100	0	100	4,000.00	0	0	0	0	0.00	100	0	0	100	4,000.00	0	0	0	0	0.00	200.00	40.00	8,000.00
86	Safeguard (85 gr)	piece	240	240	240	720	21,600.00	240	240	240	720	21,600.00	240	240	240	720	21,600.00	0	240	240	480	14,400.00	2,640.00	30.00	79,200.00



87	Umbrella	Piece	100	0	0	100	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	200.00	20,000.00
88	Shoe Cover	Pair	350	0	0	350	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	350.00	200.00	70,000.00
89	PPE Cover all	Piece	350	0	0	350	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	350.00	200.00	70,000.00
90	Crown Megaphone		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	200.00	0.00
91	Drug Test Kit	Set	10000	0	0	10000	2,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10,000.00	250.00	2,500,000.00
92	Polyethylene Bottles	piece	10000	0	0	10000	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10,000.00	50.00	500,000.00
93	Clinical Services Program		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
94	Procurement of Various Medications for In-patients and out-patient care services at TPDH		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
95	Medicine - Surgery Patients	Lot	1	0	0	1	36,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	36,000,000.00	36,000,000.00
96	Medicine - OB-Gyne Patients	Lot	1	0	0	1	36,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	36,000,000.00	36,000,000.00
97	Medicine - Pediatric Patients	Lot	1	0	0	1	108,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	108,000,000.00	108,000,000.00
98	Medicine - Internal Medicine Patients	Lot	1	0	0	1	180,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	180,000,000.00	180,000,000.00
99	Procurement of Various Supplies for In-patient and out-patient care service at TPDH		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
100	Medical Supplies - General Medical Supplies	Lot	1	0	0	1	384,100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	384,100,000.00	384,100,000.00
101	Medical Supplies - Breast Clinic	Lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
102	Medical Supplies - Respiratory Care Unit	Lot	1	0	0	1	2,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,500,000.00	2,500,000.00
103	Medical Supplies - Operating Room Complex	Lot	1	0	0	1	2,600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,600,000.00	2,600,000.00
104	Medical Supplies - Gastroenterology	Lot	1	0	0	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
105	Medical Supplies - Rehab Unit	Lot	1	0	0	1	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	100,000.00	100,000.00
106	Supplies - Infection Control Committee	Lot	1	0	0	1	4,800,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,800,000.00	4,800,000.00
107	Medical Supplies - Radiology	Lot	1	0	0	1	2,200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,200,000.00	2,200,000.00
108	Medical Supplies - Orthopedic Implants	Lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
109	Medical Supplies - Dialysis Center	Lot	1	0	0	1	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000,000.00	5,000,000.00
110	Procurement of various Equipment for Efficient Delivery of Healthcare Services at TPDH		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
111	Medical Equipment - Laboratory	Lot	1	0	0	1	20,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	20,000,000.00	20,000,000.00
112	Medical Equipment - TPDH Wards	Lot	1	0	0	1	21,100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	21,100,000.00	21,100,000.00
113	Medical Equipment - IPCC	Lot	1	0	0	1	67,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	67,000,000.00	67,000,000.00
114	Medical Equipment - Operating Room Complex	Lot	1	0	0	1	20,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	20,000,000.00	20,000,000.00
115	Medical Equipment - Respiratory Care Unit	Lot	1	0	0	1	4,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,000,000.00	4,000,000.00
116	Medical Equipment - Radiology	Lot	1	0	0	1	12,100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	12,100,000.00	12,100,000.00
117	Setup of Dialysis Center	Lot	1	0	0	1	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	0.00	0.00



118	Equipment - Dialysis Center	Lot	1	0	0	1	15,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	15,500,000.00	15,500,000.00
119	Furnitures and Fixtures - Dialysis Center	Lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
120	IT Supplies - Dialysis Center	Lot	1	0	0	1	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	100,000.00	100,000.00
121	Procurement of General Administrative Supplies for Hospital Use			0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
122	General Supplies - TPDH Use	Lot	1	0	0	1	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	0.00	0.00
123	General Supplies - Dietary	Lot	1	0	0	1	33,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	33,000,000.00	33,000,000.00
124	General Supplies - Service Vehicle	Lot	1	0	0	1	550,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	550,000.00	550,000.00
125	General Supplies - Housekeeping	Lot	1	0	0	1	4,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,000,000.00	4,000,000.00
126	General Supplies - Information Technology	Lot	1	0	0	1	3,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,500,000.00	3,500,000.00
127	General Supplies - Linen	Lot	1	0	0	1	5,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000,000.00	5,000,000.00
128	General Supplies - Maintenance	Lot	1	0	0	1	6,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,000,000.00	6,000,000.00
129	Procurement of General Administrative Equipment for Hospital Use			0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
130	General Equipment - TPDH Use	Lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
131	General Equipment - Dietary	Lot	1	0	0	1	3,250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,250,000.00	3,250,000.00
132	General Equipment - Housekeeping	Lot	1	0	0	1	250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	250,000.00	250,000.00
133	General Equipment - Information Technology	Lot	1	0	0	1	5,250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,250,000.00	5,250,000.00
134	General Equipment - Maintenance	Lot	1	0	0	1	18,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	18,000,000.00	18,000,000.00
135	Pest Control Services	Lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
136	Stack Emission Test	Lot	1	0	0	1	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	50,000.00	50,000.00
137	Procurement of Laboratory Reagents	Lot	1	0	0	1	180,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	180,000,000.00	180,000,000.00
138	Procurement of RT Reagents	Lot	1	0	0	1	7,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	7,500,000.00	7,500,000.00
139	Procurement of (3) Service Vehicles	Lot	1	0	0	1	4,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,500,000.00	4,500,000.00
140	Payment of Laundry Services for Hospital Linens	Lot	1	0	0	1	1,600,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,600,000.00	1,600,000.00
141	Payment for Oxygen and CO2 Supplies for TPDH Patients Use	Lot	1	0	0	1	1,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,500,000.00	1,500,000.00
142	Payment of Hospital Utilities			0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
143	Internet (1 Line)	Lot	1	0	0	1	215,040.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	215,040.00	215,040.00
144	Telephone (6) Lines	Lot	1	0	0	1	153,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	153,600.00	153,600.00
145	Water	Lot	1	0	0	1	6,157,481.04	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,157,481.04	6,157,481.04
146	Electricity	Lot	1	0	0	1	14,948,627.22	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	14,948,627.22	14,948,627.22
147	Payment of Hospital Licenses			0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
148	Payment - License to Operate (DOH)	Lot	1	0	0	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00



149	Payment - PHA Membership	Lot	1	0	0	1	2,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,500.00	2,500.00
150	Payment - Philhealth Accreditation	Lot	1	0	0	1	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,000.00	6,000.00
151	Payment - PNRI OSL for Radiology	Lot	1	0	0	1	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	30,000.00	30,000.00
152	Payment - Parasitology (RTM)	Lot	1	0	0	1	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	7,500.00	7,500.00
153	Payment - NEQAS Chemistry (Lung Center)	Lot	1	0	0	1	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	8,000.00	8,000.00
154	Payment - NEQAS Serology (San Lazaro)	Lot	1	0	0	1	4,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,500.00	4,500.00
155	Payment - NEQAS (NKTI)	Lot	1	0	0	1	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,500.00	3,500.00
156	Payment - Drug Test DOH Manila	Lot	1	0	0	1	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000.00	1,000.00
157	Payment - Drug Test Accreditation	Lot	1	0	0	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00
158	Payment - FDA Renewal	Lot	1	0	0	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00
159	Payment - Other Fees	Lot	1	0	0	1	31,300.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	31,300.00	31,300.00
160	Capacity Development for All Employees			0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
161	Overview of Hospital and Its Services	Lot	1	0	0	1	250,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	250,000.00	250,000.00
162	Life Support Training Program	Lot	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
163	Documentation and Records Management	Lot	1	0	0	1	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	50,000.00	50,000.00
164	Hospital Infection Prevention and Control	Lot	1	0	0	1	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	150,000.00	150,000.00
165	Mass Casualty Incident Management System	Lot	1	0	0	1	525,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	525,000.00	525,000.00
166	Patient Care Services	Lot	1	0	0	1	750,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	750,000.00	750,000.00
167	Patient Safety and Quality Health	Lot	1	0	0	1	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	50,000.00	50,000.00
168	Occupational Health (In-house)	Lot	1	0	0	1	125,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	125,000.00	125,000.00
169	Total Quality Improvement and Management	Lot	1	0	0	1	1,070,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,070,000.00	1,070,000.00
170	Environmental Management	Lot	1	0	0	1	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	35,000.00	35,000.00
171	Leadership Development Program	Lot	1	0	0	1	1,030,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,030,000.00	1,030,000.00
172	Hospital Celebrations	Lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
173	Conventions	Lot	1	0	0	1	1,587,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,587,000.00	1,587,000.00
174	Other Activities (Meetings & Conferences)	Lot	1	0	0	1	1,341,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,341,000.00	1,341,000.00
175	Information Education Campaign (IEC)	Lot	1	0	0	1	750,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	750,000.00	750,000.00
176	Installation of (2) Service Elevators	Lot	1	0	0	1	15,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	15,000,000.00	15,000,000.00
177	Installation of Hospital Information System	Lot	1	0	0	1	10,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,000,000.00	10,000,000.00
178	Installation of LIS & PAC System	Lot	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
179	Web Hospital (TPDH Website)	Lot	1	0	0	1	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	50,000.00	50,000.00



180	Digitization of Old Medical Records	Lot	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
181	Digitization of Phone (Trunkline)	Lot	1	0	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
182	Preventive Maintenance		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
183	Medical Equipment - Preventive Maintenance	Lot	1	0	0	1	12,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	12,000,000.00	12,000,000.00
184	General Equipment - Preventive Maintenance	Lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
185	Installation of Fire Alarm and Sprinkler System In the Hospital	Lot	1	0	0	1	14,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	14,000,000.00	14,000,000.00
186	Hospital Renovation		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
187	Renovation - Building A	Lot	1	0	0	1	35,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	35,000,000.00	35,000,000.00
188	Renovation - Building B	Lot	1	0	0	1	35,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	35,000,000.00	35,000,000.00
189	Installation of Hospital Perimetry Solar LED Lights	Lot	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
190	Installation of Hospital and Directional Signages	Lot	1	0	0	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
191	Emergency Disaster Fund	Lot	1	0	0	1	85,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	85,000,000.00	85,000,000.00
192	Hospital Waste Management Program		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
193	Construction - Material Recovery Facility	Lot	1	0	0	1	3,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00
194	Payment - Transport and Treatment of Hospital Waste	Lot	1	0	0	1	5,400,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,400,000.00	5,400,000.00
195	Procurement of Hospital Medical Waste Treatment Equipment	Lot	1	0	0	1	25,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	25,000,000.00	25,000,000.00
196	Construction - Oxygen Tank Storage	Lot	1	0	0	1	1,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000,000.00	1,000,000.00
197	Maternal and Child Care (Gender and Development Program)		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
198	Supplies - Taguig City Human Milk Bank	Lot	1	0	0	1	1,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,500,000.00	1,500,000.00
199	Supplies - Newborn Screening and Hearing	Lot	1	0	0	1	19,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	19,000,000.00	19,000,000.00
200	Equipment - Maternal and Child Care	Lot	1	0	0	1	35,000,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	35,000,000.00	35,000,000.00
201	Medicines - Maternal and Child Care (Libreng Tali Program)	Lot	1	0	0	1	17,350,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	17,350,000.00	17,350,000.00
202	Scanner, Flatbed	units	2	0	0	2	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	5,000.00	10,000.00
203	Multi Function PRINTER	units	2	0	0	2	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	25,000.00	50,000.00
204	UNINTERRUPTIBLE POWER SUPPLY (UPS)	units	67	0	0	67	335,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	67.00	5,000.00	335,000.00
205	DSLR Camera (1-Research 1-Admin)	units	2	0	0	2	47,246.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	23,623.00	47,246.00
206	SMART Television (1-Comp Lab; 1-CBM; 1-CED; 1-VP Research)	units	4	0	0	4	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	50,000.00	200,000.00
207	MULTIMEDIA PROJECTOR, 4000 min ANSI Lumens	units	1	0	0	1	17,472.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	17,472.00	17,472.00
208	PRINTER, laser, colored	units	7	0	0	7	55,293.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	7.00	7,899.00	55,293.00
209	EXTERNAL HARD DRIVE, 1TB, 2.5"HDD, USB 3.0	Piece	30	0	0	30	77,940.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	2,598.00	77,940.00
210	FLASH DRIVE, 16 GB capacity	Piece	30	0	0	30	5,023.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	167.44	5,023.20



211	Identification Card (I.D.) LACE Customized	Piece	2000	0	0	2000	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2,000.00	75.00	150,000.00
212	Apron (Black) with I love Taguig logo	Piece	2000	0	0	2000	440,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2,000.00	220.00	440,000.00
213	Polo Shirt w/ I Love TAGUIG logo	Piece	2000	0	0	2000	1,400,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2,000.00	700.00	1,400,000.00
214	Apron	Piece	10000	0	0	10000	1,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10,000.00	150.00	1,500,000.00
215	Hands-free Call Center noise cancelling Headset	pcs.	20	0	0	20	10,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	500.00	10,000.00
216	Scrub Suits (White)	pcs.	150	0	0	150	82,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	550.00	82,500.00
217	Blood Pressure Apparatus (aneroid) with Stethoscope	sets	150	0	0	150	120,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	800.00	120,000.00
218	Vacuum Cleaner (Wet and Dry) Heavy Duty	unit	2	0	0	2	12,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	6,000.00	12,000.00
219	Automatic Washing Machine (10 kg. - Front Load) Wash and Heat Dry	unit	1	0	0	1	49,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	49,500.00	49,500.00
220	Transfer Paper, US 3G Jet Opaque A4 (for Dark Color Shirt)	packs	2	0	0	2	660.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	330.00	660.00
221	Transfer Paper, US Jet-pro A4 (For Light Color Shirt)	packs	2	0	0	2	660.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	330.00	660.00
222	Quaff Sublimation A4 (100 sheets each)	packs	2	0	0	2	440.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	220.00	440.00
223	Quaff Proxi Type High Glossy A4 23 GSM Back Print (50 Sheets)	packs	4	0	0	4	257.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	64.25	257.00
224	Acrylic Paint Multi-Purpose (White) 125 ml.	pieces	150	0	0	150	12,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	80.00	12,000.00
225	Acrylic Paint Multi-Purpose (Red) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
226	Acrylic Paint Multi-Purpose (Black) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
227	Acrylic Paint Multi-Purpose (Orange) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
228	Acrylic Paint Multi-Purpose (Blue) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
229	Acrylic Paint Multi-Purpose (Yellow) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
230	Acrylic Paint Multi-Purpose (Brown) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
231	Acrylic Paint Multi-Purpose (Green) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
232	Acrylic Paint Multi-Purpose (Pink) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
233	Acrylic Paint Multi-Purpose (Magenta) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
234	Acrylic Paint Multi-Purpose (Purple) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
235	Acrylic Paint Multi-Purpose (Gold) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
236	Acrylic Paint Multi-Purpose (Silver) 125 ml.	pieces	100	0	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
237	Canvass with Frame (Medium Size)	pieces	100	0	0	100	38,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	380.00	38,000.00
238	Canvass with Frame (Small Size)	pieces	100	0	0	100	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	350.00	35,000.00
239	Blow Torch for Acrylic Paint	units	5	0	0	5	4,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	800.00	4,000.00
240	Hair Blow dryer	units	5	0	0	5	6,250.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	1,250.00	6,250.00
241	CUYI Button Pin 3 Inch	pcs.	50	0	0	50	500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	10.00	500.00



242	Circular Cutter Plastic (button Pin)	pcs.	2	0	0	2	992.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	496.00	992.00
243	Sublimation Ink for Epson L310	bundles	2	0	0	2	1,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	800.00	1,600.00
244	Sublimation Ink for Epson L120	bundles	2	0	0	2	1,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	800.00	1,600.00
245	Photo Emulsion Ready Mix (yellow)	kilos	5	0	0	5	3,300.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	660.00	3,300.00
246	Lacquer thinner	bottles	10	0	0	10	880.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	88.00	880.00
247	Cotton cloth/Rags	kilos	20	0	0	20	660.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	33.00	660.00
248	Gun tucker wire (T50)	boxes	10	0	0	10	660.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	66.00	660.00
249	Packaging Tape (2 Inches) Brown	rolls	20	0	0	20	1,100.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	55.00	1,100.00
250	Hook Screw	pcs.	30	0	0	30	300.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	10.00	300.00
251	Silk-Screen Mesh #300 mesh Polyester (Taiwan)	yards	10	0	0	10	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	100.00	1,000.00
252	Table Adhesive	kilos	3	0	0	3	630.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	210.00	630.00
253	Super white Textile Paint	kilos	5	0	0	5	1,235.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	247.00	1,235.00
254	Wet look Hi-brite Textile Paint	kilos	5	0	0	5	1,210.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	242.00	1,210.00
255	Pigment - Brown	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
256	Pigment - Blue	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
257	Pigment - Black	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
258	Pigment - Magenta	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
259	Pigment - Red	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
260	Pigment - Yellow KGR	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
261	Pigment - Cyan	bottles	3	0	0	3	792.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	264.00	792.00
262	Super White Paint	pieces	150	0	0	150	37,125.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	247.50	37,125.00
263	Eco-Bag w/ I Love Taguig Logo	pieces	150	0	0	150	24,750.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	165.00	24,750.00
264	Spatula Palette Knife Painting Mixing Scraper Set	sets	150	0	0	150	25,650.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	171.00	25,650.00
265	Gina Cloth (Matte Gold)	rolls	2	0	0	2	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,500.00	5,000.00
266	Gina Cloth (White)	rolls	2	0	0	2	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	2,500.00	5,000.00
267	Teteron Cloth (White)	rolls	2	0	0	2	8,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	4,200.00	8,400.00
268	Hand woven Cloth (Plain Red)	rolls	2	0	0	2	8,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	4,200.00	8,400.00
269	Satin Cloth (Red)	rolls	2	0	0	2	8,400.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	4,200.00	8,400.00
270	Sewing Thread (White) for Sewing Machine	rolls	4	0	0	4	720.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	180.00	720.00
271	Diploma Jackets	pcs	3000	0	0	3000	270,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3,000.00	90.00	270,000.00
272	Greenhouse (24 sq. m.)	unit	0	0	0	0	0.00	1	0	0	1	85,800.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	85,800.00	85,800.00



7	Lettuce (green leaf) seeds	kls.	0	0	0	0	0.00	4	0	0	4	22,500.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	5,625.00	22,500.00
8	Lettuce (red leaf) seeds	kls.	0	0	0	0	0.00	4	0	0	4	22,500.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	5,625.00	22,500.00
9	Okra seeds	kls.	0	0	0	0	0.00	4	0	0	4	5,250.00	0	0	0	0	0.00	3	0	0	3	3,937.50	7.00	1,312.50	9,187.50
10	Upland kangkong seeds	kls.	0	0	0	0	0.00	5	0	0	5	7,840.00	0	0	0	0	0.00	3	0	0	3	4,704.00	8.00	1,568.00	12,544.00
11	Squash seeds	kls.	0	0	0	0	0.00	4	0	0	4	25,400.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	6,350.00	25,400.00
12	Siling Labuyo seeds	kls.	0	0	0	0	0.00	2	0	0	2	25,500.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	12,750.00	25,500.00
13	Siling panigang seeds	kls.	0	0	0	0	0.00	2	0	0	2	24,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	12,000.00	24,000.00
14	Tomato seeds	kls.	0	0	0	0	0.00	4	0	0	4	32,500.00	0	0	0	0	0.00	2	0	0	2	16,250.00	6.00	8,125.00	48,750.00
15	Radish seeds	kls.	0	0	0	0	0.00	8	0	0	8	4,800.00	0	0	0	0	0.00	3	0	0	3	1,800.00	11.00	600.00	6,600.00
16	Upo seeds	kls.	0	0	0	0	0.00	5	0	0	5	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	5,000.00	25,000.00
17	Patola seeds	kls.	0	0	0	0	0.00	5	0	0	5	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	5,000.00	25,000.00
18	Bell pepper seeds	kls.	0	0	0	0	0.00	3	0	0	3	22,500.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	7,500.00	22,500.00
19	Cucumber seeds	kls.	0	0	0	0	0.00	4	0	0	4	29,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	7,250.00	29,000.00
20	Patani seeds	kls.	0	0	0	0	0.00	4	0	0	4	32,500.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	8,125.00	32,500.00
21	Sigarlyas seeds	kls.	0	0	0	0	0.00	4	0	0	4	32,500.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	8,125.00	32,500.00
22	Kulltis (spinach) seeds	kls.	0	0	0	0	0.00	4	0	0	4	35,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	8,750.00	35,000.00
23	Kale broccoli-green	kls.	0	0	0	0	0.00	3	0	0	3	25,500.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	8,500.00	25,500.00
24	Kale broccoli-red	kls.	0	0	0	0	0.00	3	0	0	3	19,500.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	6,500.00	19,500.00
25	Arugula seeds	kls.	0	0	0	0	0.00	4	0	0	4	32,500.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	8,125.00	32,500.00
OTHERS				0	0	0	0	0.00	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
1	Disposable rectangular lunch box w/ lid	dozen	0	0	0	0	0.00	1	0	0	1	100.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	100.00	100.00
2	Disposable round lunch box w/ lid	dozen	0	0	0	0	0.00	1	0	0	1	100.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	100.00	100.00
3	Euro 30 cm non stick fry	piece	0	0	0	0	0.00	2	0	0	2	3,600.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,800.00	3,600.00
4	Eco bag w/ zipper (medium)	piece	0	0	0	0	0.00	2	0	0	2	2,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,000.00	2,000.00
5	Sharp knives	piece	0	0	0	0	0.00	12	0	0	12	1,800.00	0	0	0	0	0.00	0	0	0	0	0.00	12.00	150.00	1,800.00
6	Tong (big)	piece	0	0	0	0	0.00	4	0	0	4	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	250.00	1,000.00
7	Sandok kahoy	piece	0	0	0	0	0.00	6	0	0	6	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	250.00	1,500.00
8	Kutsara kahoy (serving spoon)	piece	0	0	0	0	0.00	6	0	0	6	780.00	0	0	0	0	0.00	0	0	0	0	0.00	6.00	130.00	780.00
9	Good morning towels	dozen	0	0	0	0	0.00	2	0	0	2	2,400.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	1,200.00	2,400.00
10	Insta-trolley bag	piece	0	0	0	0	0.00	8	0	0	8	12,800.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	1,600.00	12,800.00
11	Cloth Buntings (assorted & other materials)	meter	0	0	0	0	0.00	0	500	0	500	20,880.00	0	0	0	0	0.00	0	0	0	0	0.00	500.00	41.76	20,880.00





